PHILIPPINE BIDDING DOCUMENTS

(As Harmonized with Development Partners)

Procurement of Medical Supplies and Device for 2nd Semester 2024 2024-25

Government of the Republic of the Philippines

Sixth Edition July 2020

Preface

These Philippine Bidding Documents (PBDs) for the procurement of Goods through Competitive Bidding have been prepared by the Government of the Philippines for use by any branch, constitutional commission or office, agency, department, bureau, office, or instrumentality of the Government of the Philippines, National Government Agencies, including Government-Owned and/or Controlled Corporations, Government Financing Institutions, State Universities and Colleges, and Local Government Unit. The procedures and practices presented in this document have been developed through broad experience, and are for mandatory use in projects that are financed in whole or in part by the Government of the Philippines or any foreign government/foreign or international financing institution in accordance with the provisions of the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184.

The Bidding Documents shall clearly and adequately define, among others: (i) the objectives, scope, and expected outputs and/or results of the proposed contract or Framework Agreement, as the case may be; (ii) the eligibility requirements of Bidders; (iii) the expected contract or Framework Agreement duration, the estimated quantity in the case of procurement of goods, delivery schedule and/or time frame; and (iv) the obligations, duties, and/or functions of the winning bidder.

Care should be taken to check the relevance of the provisions of the PBDs against the requirements of the specific Goods to be procured. If duplication of a subject is inevitable in other sections of the document prepared by the Procuring Entity, care must be exercised to avoid contradictions between clauses dealing with the same matter.

Moreover, each section is prepared with notes intended only as information for the Procuring Entity or the person drafting the Bidding Documents. They shall not be included in the final documents. The following general directions should be observed when using the documents:

- a. All the documents listed in the Table of Contents are normally required for the procurement of Goods. However, they should be adapted as necessary to the circumstances of the particular Procurement Project.
- b. Specific details, such as the "*name of the Procuring Entity*" and "*address for bid submission*," should be furnished in the Instructions to Bidders, Bid Data Sheet, and Special Conditions of Contract. The final documents should contain neither blank spaces nor options.
- c. This Preface and the footnotes or notes in italics included in the Invitation to Bid, Bid Data Sheet, General Conditions of Contract, Special Conditions of Contract, Schedule of Requirements, and Specifications are not part of the text of the final document, although they contain instructions that the Procuring Entity should strictly follow.

- d. The cover should be modified as required to identify the Bidding Documents as to the Procurement Project, Project Identification Number, and Procuring Entity, in addition to the date of issue.
- e. Modifications for specific Procurement Project details should be provided in the Special Conditions of Contract as amendments to the Conditions of Contract. For easy completion, whenever reference has to be made to specific clauses in the Bid Data Sheet or Special Conditions of Contract, these terms shall be printed in bold typeface on Sections I (Instructions to Bidders) and III (General Conditions of Contract), respectively.
- f. For guidelines on the use of Bidding Forms and the procurement of Foreign-Assisted Projects, these will be covered by a separate issuance of the Government Procurement Policy Board.

Table of Contents

Glossa	ary of Acronyms, Terms, and Abbreviations	4
Sectio	n I. Invitation to Bid	7
	n II. Instructions to Bidders	
1.	Scope of Bid	
2.	Funding Information	11
3.	Bidding Requirements	
4.	Corrupt, Fraudulent, Collusive, and Coercive Practices	11
5.	Eligible Bidders	
6.	Origin of Goods	
7.	Subcontracts	13
8.	Pre-Bid Conference	13
9.	Clarification and Amendment of Bidding Documents	
10.	Documents comprising the Bid: Eligibility and Technical Components .	13
11.	Documents comprising the Bid: Financial Component	14
12.	Bid Prices	14
13.	Bid and Payment Currencies	14
14.	Bid Security	15
15.	Sealing and Marking of Bids	15
16.	Deadline for Submission of Bids	15
17.	Opening and Preliminary Examination of Bids	15
18.	Domestic Preference	
19.	Detailed Evaluation and Comparison of Bids	16
20.	Post-Qualification	
21.	Signing of the Contract	
Sectio	n III. Bid Data Sheet	18
Sectio	n IV. General Conditions of Contract	60
1.	Scope of Contract	61
2.	Advance Payment and Terms of Payment	61
3.	Performance Security	61
4.	Inspection and Tests	61
5.	Warranty	62
6.	Liability of the Supplier	62
Sectio	n V. Special Conditions of Contract	63
Sectio	n VI. Schedule of Requirements	67
	n VII. Technical Specifications	
	n VIII. Checklist of Technical and Financial Documents	

Glossary of Acronyms, Terms, and Abbreviations

ABC – Approved Budget for the Contract.

BAC – Bids and Awards Committee.

Bid – A signed offer or proposal to undertake a contract submitted by a bidder in response to and in consonance with the requirements of the bidding documents. Also referred to as *Proposal* and *Tender*. (2016 revised IRR, Section 5[c])

Bidder – Refers to a contractor, manufacturer, supplier, distributor and/or consultant who submits a bid in response to the requirements of the Bidding Documents. (2016 revised IRR, Section 5[d])

Bidding Documents – The documents issued by the Procuring Entity as the bases for bids, furnishing all information necessary for a prospective bidder to prepare a bid for the Goods, Infrastructure Projects, and/or Consulting Services required by the Procuring Entity. (2016 revised IRR, Section 5[e])

BIR – Bureau of Internal Revenue.

BSP – Bangko Sentral ng Pilipinas.

Consulting Services – Refer to services for Infrastructure Projects and other types of projects or activities of the GOP requiring adequate external technical and professional expertise that are beyond the capability and/or capacity of the GOP to undertake such as, but not limited to: (i) advisory and review services; (ii) pre-investment or feasibility studies; (iii) design; (iv) construction supervision; (v) management and related services; and (vi) other technical services or special studies. (2016 revised IRR, Section 5[i])

CDA - Cooperative Development Authority.

Contract – Refers to the agreement entered into between the Procuring Entity and the Supplier or Manufacturer or Distributor or Service Provider for procurement of Goods and Services; Contractor for Procurement of Infrastructure Projects; or Consultant or Consulting Firm for Procurement of Consulting Services; as the case may be, as recorded in the Contract Form signed by the parties, including all attachments and appendices thereto and all documents incorporated by reference therein.

CIF – Cost Insurance and Freight.

CIP – Carriage and Insurance Paid.

CPI – Consumer Price Index.

DDP – Refers to the quoted price of the Goods, which means "delivered duty paid."

DTI – Department of Trade and Industry.

EXW – Ex works.

FCA – "Free Carrier" shipping point.

FOB – "Free on Board" shipping point.

Foreign-funded Procurement or Foreign-Assisted Project– Refers to procurement whose funding source is from a foreign government, foreign or international financing institution as specified in the Treaty or International or Executive Agreement. (2016 revised IRR, Section 5[b]).

Framework Agreement – Refers to a written agreement between a procuring entity and a supplier or service provider that identifies the terms and conditions, under which specific purchases, otherwise known as "Call-Offs," are made for the duration of the agreement. It is in the nature of an option contract between the procuring entity and the bidder(s) granting the procuring entity the option to either place an order for any of the goods or services identified in the Framework Agreement List or not buy at all, within a minimum period of one (1) year to a maximum period of three (3) years. (GPPB Resolution No. 27-2019)

GFI – Government Financial Institution.

GOCC – Government-owned and/or –controlled corporation.

Goods – Refer to all items, supplies, materials and general support services, except Consulting Services and Infrastructure Projects, which may be needed in the transaction of public businesses or in the pursuit of any government undertaking, project or activity, whether in the nature of equipment, furniture, stationery, materials for construction, or personal property of any kind, including non-personal or contractual services such as the repair and maintenance of equipment and furniture, as well as trucking, hauling, janitorial, security, and related or analogous services, as well as procurement of materials and supplies provided by the Procuring Entity for such services. The term "related" or "analogous services" shall include, but is not limited to, lease or purchase of office space, media advertisements, health maintenance services, and other services essential to the operation of the Procuring Entity. (2016 revised IRR, Section 5[r])

GOP – Government of the Philippines.

GPPB – Government Procurement Policy Board.

INCOTERMS – International Commercial Terms.

Infrastructure Projects – Include the construction, improvement, rehabilitation, demolition, repair, restoration or maintenance of roads and bridges, railways, airports, seaports, communication facilities, civil works components of information technology projects, irrigation, flood control and drainage, water supply, sanitation, sewerage and solid waste management systems, shore protection, energy/power and electrification facilities, national

buildings, school buildings, hospital buildings, and other related construction projects of the government. Also referred to as *civil works or works*. (2016 revised IRR, Section 5[u])

LGUs – Local Government Units.

NFCC – Net Financial Contracting Capacity.

NGA – National Government Agency.

PhilGEPS - Philippine Government Electronic Procurement System.

Procurement Project – refers to a specific or identified procurement covering goods, infrastructure project or consulting services. A Procurement Project shall be described, detailed, and scheduled in the Project Procurement Management Plan prepared by the agency which shall be consolidated in the procuring entity's Annual Procurement Plan. (GPPB Circular No. 06-2019 dated 17 July 2019)

PSA – Philippine Statistics Authority.

SEC – Securities and Exchange Commission.

SLCC – Single Largest Completed Contract.

Supplier – refers to a citizen, or any corporate body or commercial company duly organized and registered under the laws where it is established, habitually established in business and engaged in the manufacture or sale of the merchandise or performance of the general services covered by his bid. (Item 3.8 of GPPB Resolution No. 13-2019, dated 23 May 2019). Supplier as used in these Bidding Documents may likewise refer to a distributor, manufacturer, contractor, or consultant.

UN – United Nations.

Notes on the Invitation to Bid

The Invitation to Bid (IB) provides information that enables potential Bidders to decide whether to participate in the procurement at hand. The IB shall be posted in accordance with Section 21.2 of the 2016 revised IRR of RA No. 9184.

Apart from the essential items listed in the Bidding Documents, the IB should also indicate the following:

- a. The date of availability of the Bidding Documents, which shall be from the time the IB is first advertised/posted until the deadline for the submission and receipt of bids;
- b. The place where the Bidding Documents may be acquired or the website where it may be downloaded;
- c. The deadline for the submission and receipt of bids; and
- d. Any important bid evaluation criteria (*e.g.*, the application of a margin of preference in bid evaluation).

The IB should be incorporated in the Bidding Documents. The information contained in the IB must conform to the Bidding Documents and in particular to the relevant information in the Bid Data Sheet.



Department of Health Central Luzon Center for Health Development MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL P. Mouroe Street, Poblacion, Mariueles, Bataan, Philippines, 2105



INVITATION TO BID FOR PROCUREMENT OF MEDICAL SUPPLIES AND DEVICES FOR 2ND SEMESTER 2024

- 1. The Mariveles Mental Wellness and General Hospital, through the Government Appropriation Act of 2024 intends to apply the sum of Ten Million Eight Hundred Fifty-Four Thousand Eighty-Five Pesos and 22/100 only (P10,854,085.22) being the ABC to payments under the contract for Procurement of Medical Supplies and Devices for 2nd Semester 2024/ 2024-25. Bids received in excess of the ABC shall be automatically rejected at bid opening.
- 2. The **Mariveles Mental Wellness and General Hospital** now invites bids for the above Procurement Project. Delivery of the Goods is required by **10 Working Days upon receipt of Purchase Order**. Bidders should have completed, within **two (2) years** from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).
- 3. Bidding will be conducted through open competitive bidding procedures using a nondiscretionary "*pass/fail*" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.

Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.

- 4. Prospective Bidders may obtain further information from **MMWGH** and inspect the Bidding Documents at the address given below during M-F; 8am-5pm, except holidays.
- 5. A complete set of Bidding Documents may be acquired by interested Bidders on **September 16 October 4, 2024** from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the following amount:

Approved Budget for the Contract	Maximum Cost of Bidding Documents
	(in Philippine Peso)
500,000 and below	500.00
More than 500,000 up to 1 Million	1,000.00
More than 1 Million up to 5 Million	5,000.00
More than 5 Million up to 10 Million	10,000.00
More than 10 Million up to 50 Million	25,000.00

The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person.

- 6. The **MMWGH** will hold a Pre-Bid Conference on **September 24, 2024 at 9AM** at the given address below and/or through video conferencing or webcasting *via Zoom*, which shall be open to prospective bidders.
- 7. Bids must be duly received by the BAC Secretariat through manual submission at the office address indicated below on or before **October 7, 2024 at 2PM**. Late bids shall not be accepted.
- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in **ITB** Clause 14.
- 9. Bid opening shall be on **October 7, 2024 at 2PM** at the given address below and/or via *Zoom*. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 10. The **MMWGH** reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 11. For further information, please refer to:

MARY RODELINE M. CASUAYAN

BAC Secretariat Procurement Unit Mariveles Mental Wellness and General Hospital P. Monroe Street, Mariveles, Bataan Email Address: procurement@mmwgh.gov.ph Website: www.mmwgh.com Contact No.: +639-688545320

12. You may visit the following website(s):

For downloading of Bidding Documents: https://mmwgh.com/invitation-to-bid/

Date of Issue: September 16, 2024

SGD. RELIA I. VILLEGAS, RN, MAN, Ed. D. Chairperson, BAC

Notes on the Instructions to Bidders

This Section on the Instruction to Bidders (ITB) provides the information necessary for bidders to prepare responsive bids, in accordance with the requirements of the Procuring Entity. It also provides information on bid submission, eligibility check, opening and evaluation of bids, post-qualification, and on the award of contract.

1. Scope of Bid

The Procuring Entity, Mariveles Mental Wellness and General Hospital wishes to receive Bids for the Procurement of Medical Supplies and Devices for 2nd Semester 2024, with identification number 2024-25.

[Note: The Project Identification Number is assigned by the Procuring Entity based on its own coding scheme and is not the same as the PhilGEPS reference number, which is generated after the posting of the bid opportunity on the PhilGEPS website.]

The Procurement Project (referred to herein as "Project") is composed of **381 items**, the details of which are described in Section VII (Technical Specifications).

2. Funding Information

- 2.1. The GOP through the source of funding as indicated below for 2023 in the amount of Ten Million Eight Hundred Fifty-Four Thousand Eighty-Five Pesos and 22/100 only (P10,854,085.22).
- 2.2. The source of funding is:
 - a. NGA, the General Appropriations Act, or Special Appropriations.

3. Bidding Requirements

The Bidding for the Project shall be governed by all the provisions of RA No. 9184 and its 2016 revised IRR, including its Generic Procurement Manuals and associated policies, rules and regulations as the primary source thereof, while the herein clauses shall serve as the secondary source thereof.

Any amendments made to the IRR and other GPPB issuances shall be applicable only to the ongoing posting, advertisement, or **IB** by the BAC through the issuance of a supplemental or bid bulletin.

The Bidder, by the act of submitting its Bid, shall be deemed to have verified and accepted the general requirements of this Project, including other factors that may affect the cost, duration and execution or implementation of the contract, project, or work and examine all instructions, forms, terms, and project requirements in the Bidding Documents.

4. Corrupt, Fraudulent, Collusive, and Coercive Practices

The Procuring Entity, as well as the Bidders and Suppliers, shall observe the highest standard of ethics during the procurement and execution of the contract. They or through an agent shall not engage in corrupt, fraudulent, collusive, coercive, and obstructive practices defined under Annex "I" of the 2016 revised IRR of RA No. 9184 or other integrity violations in competing for the Project.

5. Eligible Bidders

- 5.1. Only Bids of Bidders found to be legally, technically, and financially capable will be evaluated.
- 5.2. Foreign ownership exceeding those allowed under the rules may participate pursuant to:
 - i. When a Treaty or International or Executive Agreement as provided in Section 4 of the RA No. 9184 and its 2016 revised IRR allow foreign bidders to participate;
 - ii. Citizens, corporations, or associations of a country, included in the list issued by the GPPB, the laws or regulations of which grant reciprocal rights or privileges to citizens, corporations, or associations of the Philippines;
 - iii. When the Goods sought to be procured are not available from local suppliers; or
 - iv. When there is a need to prevent situations that defeat competition or restrain trade.
- 5.3. Pursuant to Section 23.4.1.3 of the 2016 revised IRR of RA No.9184, the Bidder shall have an SLCC that is at least one (1) contract similar to the Project the value of which, adjusted to current prices using the PSA's CPI, must be at least equivalent to:
 - a. For procurement where the Procuring Entity has determined, after the conduct of market research, that imposition of either (a) or (b) will likely result to failure of bidding or monopoly that will defeat the purpose of public bidding: the Bidder should comply with the following requirements:
 - i. Completed at least two (2) similar contracts, the aggregate amount of which should be equivalent to at least *fifty percent* (50%) in the case of non-expendable supplies and services or twenty-five percent (25%) in the case of expendable supplies of the ABC for this Project; and
 - ii. The largest of these similar contracts must be equivalent to at least half of the percentage of the ABC as required above.
- 5.4. The Bidders shall comply with the eligibility criteria under Section 23.4.1 of the 2016 IRR of RA No. 9184.

6. Origin of Goods

There is no restriction on the origin of goods other than those prohibited by a decision of the UN Security Council taken under Chapter VII of the Charter of the UN, subject to Domestic Preference requirements under **ITB** Clause 18.

7. Subcontracts

7.1. The Bidder may subcontract portions of the Project to the extent allowed by the Procuring Entity as stated herein, but in no case more than twenty percent (20%) of the Project.

The Procuring Entity has prescribed that:

a. Subcontracting is not allowed.

8. Pre-Bid Conference

The Procuring Entity will hold a pre-bid conference for this Project on the specified date and time and either at its physical address and/or through Zoom as indicated in paragraph 6 of the **IB**.

9. Clarification and Amendment of Bidding Documents

Prospective bidders may request for clarification on and/or interpretation of any part of the Bidding Documents. Such requests must be in writing and received by the Procuring Entity, either at its given address or through electronic mail indicated in the **IB**, at least ten (10) calendar days before the deadline set for the submission and receipt of Bids.

10. Documents comprising the Bid: Eligibility and Technical Components

- 10.1. The first envelope shall contain the eligibility and technical documents of the Bid as specified in Section VIII (Checklist of Technical and Financial Documents).
- The Bidder's SLCC as indicated in ITB Clause 5.3 should have been completed within Two (2) years prior to the deadline for the submission and receipt of bids.
- 10.3. If the eligibility requirements or statements, the bids, and all other documents for submission to the BAC are in foreign language other than English, it must be accompanied by a translation in English, which shall be authenticated by the appropriate Philippine foreign service establishment, post, or the equivalent office having jurisdiction over the foreign bidder's affairs in the Philippines. Similar to the required authentication above, for Contracting Parties to the Apostille Convention, only the translated documents shall be authenticated through an apostille pursuant to GPPB Resolution No. 13-2019 dated 23 May 2019. The English translation shall govern, for purposes of interpretation of the bid.

11. Documents comprising the Bid: Financial Component

- 11.1. The second bid envelope shall contain the financial documents for the Bid as specified in Section VIII (Checklist of Technical and Financial Documents).
- 11.2. If the Bidder claims preference as a Domestic Bidder or Domestic Entity, a certification issued by DTI shall be provided by the Bidder in accordance with Section 43.1.3 of the 2016 revised IRR of RA No. 9184.
- 11.3. Any bid exceeding the ABC indicated in paragraph 1 of the **IB** shall not be accepted.
- 11.4. For Foreign-funded Procurement, a ceiling may be applied to bid prices provided the conditions are met under Section 31.2 of the 2016 revised IRR of RA No. 9184.

12. Bid Prices

- 12.1. Prices indicated on the Price Schedule shall be entered separately in the following manner:
 - a. For Goods offered from within the Procuring Entity's country:
 - i. The price of the Goods quoted EXW (ex-works, ex-factory, exwarehouse, ex-showroom, or off-the-shelf, as applicable);
 - ii. The cost of all customs duties and sales and other taxes already paid or payable;
 - iii. The cost of transportation, insurance, and other costs incidental to delivery of the Goods to their final destination; and
 - iv. The price of other (incidental) services, if any, listed in e.
 - b. For Goods offered from abroad:
 - i. Unless otherwise stated in the **BDS**, the price of the Goods shall be quoted delivered duty paid (DDP) with the place of destination in the Philippines as specified in the **BDS**. In quoting the price, the Bidder shall be free to use transportation through carriers registered in any eligible country. Similarly, the Bidder may obtain insurance services from any eligible source country.
 - ii. The price of other (incidental) services, if any, as listed in Section VII (Technical Specifications).

13. Bid and Payment Currencies

13.1. For Goods that the Bidder will supply from outside the Philippines, the bid prices may be quoted in the local currency or tradeable currency accepted by the

BSP at the discretion of the Bidder. However, for purposes of bid evaluation, Bids denominated in foreign currencies, shall be converted to Philippine currency based on the exchange rate as published in the BSP reference rate bulletin on the day of the bid opening.

- 13.2. Payment of the contract price shall be made in:
 - a. Philippine Pesos.

14. Bid Security

- 14.1. The Bidder shall submit a Bid Securing Declaration or any form of Bid Security in the amount indicated in the **BDS**, which shall be not less than the percentage of the ABC in accordance with the schedule in the **BDS**.
- 14.2. The Bid and bid security shall be valid until **February 4, 2025**. Any Bid not accompanied by an acceptable bid security shall be rejected by the Procuring Entity as non-responsive.

15. Sealing and Marking of Bids

Each Bidder shall submit one copy of the first and second components of its Bid.

The Procuring Entity may request additional hard copies and/or electronic copies of the Bid. However, failure of the Bidders to comply with the said request shall not be a ground for disqualification.

If the Procuring Entity allows the submission of bids through online submission or any other electronic means, the Bidder shall submit an electronic copy of its Bid, which must be digitally signed. An electronic copy that cannot be opened or is corrupted shall be considered non-responsive and, thus, automatically disqualified.

16. Deadline for Submission of Bids

16.1. The Bidders shall submit on the specified date and time and either at its physical address or through online submission as indicated in paragraph 7 of the **IB**.

17. Opening and Preliminary Examination of Bids

17.1. The BAC shall open the Bids in public at the time, on the date, and at the place specified in paragraph 9 of the **IB**. The Bidders' representatives who are present shall sign a register evidencing their attendance. In case videoconferencing, webcasting or other similar technologies will be used, attendance of participants shall likewise be recorded by the BAC Secretariat.

In case the Bids cannot be opened as scheduled due to justifiable reasons, the rescheduling requirements under Section 29 of the 2016 revised IRR of RA No. 9184 shall prevail.

17.2. The preliminary examination of bids shall be governed by Section 30 of the 2016 revised IRR of RA No. 9184.

18. Domestic Preference

18.1. The Procuring Entity will grant a margin of preference for the purpose of comparison of Bids in accordance with Section 43.1.2 of the 2016 revised IRR of RA No. 9184.

19. Detailed Evaluation and Comparison of Bids

- 19.1. The Procuring BAC shall immediately conduct a detailed evaluation of all Bids rated "*passed*," using non-discretionary pass/fail criteria. The BAC shall consider the conditions in the evaluation of Bids under Section 32.2 of the 2016 revised IRR of RA No. 9184.
- 19.2. If the Project allows partial bids, bidders may submit a proposal on any of the lots or items, and evaluation will be undertaken on a per lot or item basis, as the case maybe. In this case, the Bid Security as required by **ITB** Clause 15 shall be submitted for each lot or item separately.
- 19.3. The descriptions of the lots or items shall be indicated in Section VII (Technical Specifications), although the ABCs of these lots or items are indicated in the BDS for purposes of the NFCC computation pursuant to Section 23.4.2.6 of the 2016 revised IRR of RA No. 9184. The NFCC must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder.
- 19.4. The Project shall be awarded as follow:

One Project having several items that shall be awarded as one contract.

19.5. Except for bidders submitting a committed Line of Credit from a Universal or Commercial Bank in lieu of its NFCC computation, all Bids must include the NFCC computation pursuant to Section 23.4.1.4 of the 2016 revised IRR of RA No. 9184, which must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder. For bidders submitting the committed Line of Credit, it must be at least equal to ten percent (10%) of the ABCs for all the lots or items participated in by the prospective Bidder.

20. Post-Qualification

20.2. Within a non-extendible period of five (5) calendar days from receipt by the Bidder of the notice from the BAC that it submitted the Lowest Calculated Bid, the Bidder shall submit its latest income and business tax returns filed and paid through the BIR Electronic Filing and Payment System (eFPS) and other appropriate licenses and permits required by law and stated in the **BDS**.

21. Signing of the Contract

21.1. The documents required in Section 37.2 of the 2016 revised IRR of RA No.9184 shall form part of the Contract. Additional Contract documents are indicated in the **BDS**.

Section III. Bid Data Sheet

Notes on the Bid Data Sheet

The Bid Data Sheet (BDS) consists of provisions that supplement, amend, or specify in detail, information, or requirements included in the ITB found in Section II, which are specific to each procurement.

This Section is intended to assist the Procuring Entity in providing the specific information in relation to corresponding clauses in the ITB and has to be prepared for each specific procurement.

The Procuring Entity should specify in the BDS information and requirements specific to the circumstances of the Procuring Entity, the processing of the procurement, and the bid evaluation criteria that will apply to the Bids. In preparing the BDS, the following aspects should be checked:

- a. Information that specifies and complements provisions of the ITB must be incorporated.
- b. Amendments and/or supplements, if any, to provisions of the ITB as necessitated by the circumstances of the specific procurement, must also be incorporated.

ITB Clause								
5.3	For this purpose, contracts similar to the Project shall be:							
	a. Procurement of Various Medical Supplies and Devices							
		ompleted within two (2) years ad receipt of bids.	prior to	the dead	lline for the s	ubmission		
12		e of the Goods shall be quoted e International Commercial Ter						
14.1		ecurity shall be in the form of a g forms and amounts:	Bid Sec	curing D	eclaration, or	any of the		
	ca	he amount of not less than P ashier's/manager's check, bank redit; or						
		he amount of not less than $\underline{\mathbf{P}}$ ond.	<u>542,704</u>	. <u>26 i</u> f b	id security is	in Surety		
19.3	No.	ITEMS	UNIT	QTY.	AMOUNT			
	1	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 0 (60 mm.) with at least 1 year expiry	piece	30	6,699.00			
	2	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 00 (50mm) with at least 1 year expiry	piece	50	11,165.00			
	3	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 1 (70mm) with at least 1 year expiry	piece	72	16,077.60			

Bid Data Sheet

4	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 2 (80mm) with at least 1 year expiry	piece	78	17,417.40	
5	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 3 (90mm) with at least 1 year expiry	piece	92	20,543.60	
6	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 4 (100mm) with at least 1 year expiry	piece	50	11,165.00	
7	Air Purifier with True HEPA Filter (for 20-30sqm)	unit	1	5,500.00	
8	Antiseptic spray for ultrasound probe size: 1 liter with free 200ml spray bottle	set	2	4,400.00	
9	Applicator Sticks, wooden, 6 inches, (1000s)/box	box	5	2,750.00	
10	Bag Valve Mask (BVM) Set Type: Adult Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry	set	28	41,580.00	
11	Bag Valve Mask (BVM) Set Type: New Born Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry"	set	28	41,580.00	

12	Bag Valve Mask (BVM) Set Type: Pedia Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry"	set	28	41,580.00	
13	Bandage Size: 2 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	88	5,808.00	
14	Bandage Size: 3 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	182	7,807.80	
15	Bandage Size: 4 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	242	12,511.40	
16	Bandage Size: 6 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	240	10,560.00	
17	Bandage, Cohesive, 2" x 5 yards, with at least 1 year expiry	roll	160	8,272.00	

18	Battery Type:for AED. Compatibility: Radian Heart Guardian HR-501 with at least 1 year expiry	piece	4	61,600.00	
19	Bed Pan, plastic (36 x 26 x 10 cm)	piece	49	8,085.00	
20	Blade Type: Surgical, sterile, disposable Size: #10 Blade design: large, curved cutting edge. (Cutting edge: 1.5 inches) with broader body. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Size: Length: 2.25 inches weight: typically, under 1 gram Quantity: 100 blades per box Expiry: at least 1 year expiration.	box	11	4,235.00	
21	Blade Type: Surgical, sterile, disposable. Size: #11 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	12	4,620.00	
22	Blade Type: Surgical, sterile, disposable. Size: #11 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	9	3,465.00	

23	Blade Type: Surgical, sterile, disposable. Size: #12 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	2	770.00	
24	Blade Type: Surgical, sterile, disposable. Size: #20 Blade Design: large, curved cutting edge with a broad body. Pre-sharpened. Material: Medical-grade stainless steel. length: 2.5–3 inches (6.4–7.6 cm) Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	10	3,850.00	
25	Blanket, Newborn Receiving Pranela 29x29 (White)	piece	18	2,970.00	
26	Blood Lancet; sterile; gauge 21- 23; for universal lancing device; 200's/box; with at least 1 year expiry	box	21	5,775.00	
27	Blood Transfusion Set, sterile, 180cm, 20macroset, with at least 1 year expiry	piece	210	26,565.00	
28	BP Cuff W/ Inflation Bag, adult, Size: Cuff - 25cm-40cm	piece	12	4,620.00	
29	BP Cuff W/ Inflation Bag, infant Size: Cuff - 14cm-19.5cm	piece	12	3,300.00	
30	BP Cuff With Inflation Pedia Size : Cuff – 4"x 15" Tubing :19.5"	piece	16	17,600.00	
31	Brush, Sterile Surgical Scrub Brush, plain Features: -soft bristles -Easy-to-open packaging for wet or dry hands	piece	3	917.40	

32	Buck's Foam traction/Foam Traction, Large	piece	13	28,600.00	
	Buck's Foam traction/Foam	F.000		_0,000.00	
33	Traction, Medium	piece	13	27,170.00	
34	Buck's Foam traction/Foam Traction, Small	piece	13	25,740.00	
35	Burn Sheet, disposable 40x90 inches, with at least 1 year expiry	piece	3	1,485.00	
36	Cannula, IV, Gauge 18, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	piece	1,652	145,376.00	
37	Cannula, IV, Gauge 20, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	piece	2,097	184,536.00	
38	Cannula, IV, Gauge 22, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	piece	2,512	221,056.00	
39	Cannula, IV, Gauge 24, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	piece	1,892	166,496.00	
40	Cannula, IV, Gauge 26, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	piece	1,460	128,480.00	
41	Cannula, Nasal, Adult • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	1,160	21,692.00	

42	Cannula, Nasal, Neonate • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	200	12,100.00	
43	Cannula, Nasal, Pedia • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	510	16,830.00	
44	Catheter Umbilical, French 3.5, with at least 1 year expiry	piece	70	32,725.00	
45	Catheter Umbilical, French 5, with at least 1 year expiry	piece	70	28,105.00	
46	Catheter, Foley, fr 12, with at least 1 year expiry	piece	329	13,752.20	
47	Catheter, Foley, fr 14, with at least 1 year expiry	piece	484	20,231.20	
48	Catheter, Foley, fr 16, with at least 1 year expiry	piece	292	9,636.00	
49	Catheter, Foley, fr 18, with at least 1 year expiry	piece	110	3,630.00	
50	Catheter, Red Rubber, size: 14, with at least 1 year expiry	piece	10	2,970.00	
51	Catheter, Suction, size 12, with at least 1 year expiry	piece	441	4,365.90	
52	Catheter, Suction, size 14, with at least 1 year expiry	piece	530	5,247.00	
53	Catheter, Suction, size 16, with at least 1 year expiry	piece	636	5,247.00	
54	Catheter,Red Rubber, size: 12, with at least 1 year expiry	piece	20	5,940.00	
55	Cervical Collar, large, with at least 1 year expiry	piece	10	10,450.00	
56	Cervical Collar, medium, with at least 1 year expiry	piece	10	10,450.00	
57	Cervical Collar, small, with at least 1 year expiry	piece	9	9,405.00	

58	Cervical Collar,Adjustable, Support Neck Brace • Product Name: Neck Collar Brace • Material: plastic • Color: Blue and Yellow • Height:12.5-17.5cm/4.9"-6.8" • Length:55-59cm/21.6"-23.2" • 4 Geared Height Adjustment • 4 Geared Height Adjustment Feature: Pre-formed collar with tracheotomy opening for extraction and rehabilitation 4 geared height adjustment mechanism for maximum support of upper cervical spine X-ray, MRI, CT penetratable Polyethylene soft foam lining for easy application and comfort Large tracheal aperture provides access for airway management and other procedures One size fits all	piece	1	2,750.00	
59	Clip Type: for bib Material: Plastic elastic cord with alligator clips at both end, reusable. Size: length: 12-24 inches.	piece	60	3,300.00	
60	Cloth Diaper Birdseye Lampin for Newborn (12's) XL	pack	18	5,940.00	
61	Cord Clamp Umbilical (100's)	box	5	2,447.50	
62	Cotton Applicator Sterile (200'S) Cotton Applicator with single cotton tip (small) Sterile Size: 6 inches, with at least 1 year expiry	box	13	2,645.50	
63	COTTON CANISTER Stainless steel With Cover 10cmx10cm	piece	6	5,280.00	

64	Cotton, 400gms Absorbent cotton for wound treatment or absorption. High absorbent 100% bleach cotton, soft, compact and uniform in size and weight. Absorbent cotton clean safety and comportable and convinient to use	roll	237	41,320.95	
65	Cover Slips 22 x 22mm, (200 piece/pack), Pure White Glass, clear, Thickness: 0.13- 0.16mm); Vacuum sealed	pack	50	18,150.00	
66	Dental self-sealing autoclave sterilization pouch, 135mm x 290mm, 200pcs/box	box	8	3,520.00	
67	Dental self-sealing autoclave sterilization pouch, 190mm x 360mm, 200pcs/box	box	8	6,336.00	
68	Diaper, disposable, adult, absorbent, Large, x10's, with at least 1 year expiry	pack	468	102,702.60	
69	Diaper, disposable, adult, absorbent, Medium x10's, with at least 1 year expiry	pack	588	124,738.32	
70	Diaper, New Born 20's, absorbent, disposable, with at least 1 year expiry	pack	18	3,960.00	
71	DISINFECTANT, Instrument Non- Gluteraldehyde, Alkyl Triamine, 14 days (cold sterilant solution for instrument) 1000ml, with at least 1 year expiry	bottle	18	118,800.00	
72	Disinfection fluid for endoscope and medical instruments, High level disinfection for reprocessing Instruments, with at least 1 year expiry	gallon	12	63,360.00	
73	Disposable ECG Electrodes Adult, 50pieces/ pack, with at least 1 year expiry	pack	21	13,860.00	
74	Disposable OR cap x 100's, non- woven	pack	7	953.00	
75	Draw Sheet, sliding, reusable, 26" x 53", medical polymer material	piece	20	11,770.00	

76	Dressing Type: Parafin , Antiseptic Active Ingredient: 0.5% Chlorhexidine Acetate Size: 10 cm x 10 cm Packaging: 10 dressings per box Features: Soft, sterile with at least 1 year expiry	box	12	7,260.00	
77	ECG electrodes pads, pedia x 50's, with at least 1 year expiry	piece	2	440.00	
78	ECG Thermal Paper 80mmx20mm	roll	138	18,216.00	
79	ECG Thermal Print Paper, 210mm x 295mm, compatible with Mindray Beneheart R12 (200's)	pack	37	24,420.00	
80	Electro surgical Pencil Disposable - 1pc/pouch, Standby mode 220V 60Hz, 2,9 Nonshield, Climate Condition 22c, Relative Humidity 55%	piece	75	21,037.50	
81	Electrode pads Cardiac monitor compatible for EDAN X12 x 50's, with at least 1 year expiry	pack	10	2,750.00	
82	Electrodes Type: for ecg and 2d-echo, disposable, gel type adhesive Size: for adult Packaging: 50 per pack Expiry: with at least 1 year expiration.	pack	40	132,000.00	
83	Endotracheal Guide Wire Fr.6, with at least 1 year expiry	piece	12	4,620.00	
84	Endotracheal Guide wire, Adult fr 14, with at least 1 year expiry	piece	24	5,280.00	
85	Endotracheal Guide wire, neonate fr 10, with at least 1 year expiry	piece	17	3,740.00	
86	Endotracheal Guide wire, pedia fr 12, with at least 1 year expiry	piece	17	3,740.00	
87	Enzymatic Cleaner, (Protolytic Enzyme-based Biological Cleaner for Medical Equipment and Endoscopes), with at least 1 year expiry	liter	60	145,200.00	

<u>г</u>				I		
	88	Eye Sheet Drape (Sterile, disposable) 40x40cm with hole 10cmx10's, with at least 1 year expiry	box	166	136,950.00	
	89	Face Shield, clear, acrylic, reusable	piece	10	2,175.50	
	90	Face Shield, Disposable	piece	120	1,214.40	
	91	Fiberglass orthopedic casting tape, 2" x 4 yards, with at least 1 year expiry	roll	70	23,100.00	
	92	Fiberglass orthopedic casting tape, 4" x 4 yards, with at least 1 year expiry	roll	180	104,940.00	
	93	Film Dressing with Non-adherent pad 4x10', with at least 1 year expiry	piece	18	6,138.00	
	94	Film Dressing, transparent, 2x2", with at least 1 year expiry	piece	45	2,227.50	
	95	Film Dressing, transparent, 4x10", with at least 1 year expiry	piece	110	21,175.00	
	96	Film Dressing, transparent, 4x4", with at least 1 year expiry	piece	30	2,475.00	
	97	Forcep, Adson Dressing, W/ Teeth 4 3/4", stainless	piece	6	2,640.00	
	98	Forcep, Adson Dressing, Without Teeth 4 3/4", stainless	piece	6	2,640.00	
	99	Forcep, Mosquito Forceps (curved), stainless, 7"	piece	7	3,080.00	
	100	Forcep, Mosquito Forceps (Straight), stainless, 7"	piece	7	3,080.00	
	101	Forcep, Thumb forcep, stainless 7"	piece	7	3,080.00	
	102	Forcep, Tissue Forceps, stainless 7"	piece	7	1,925.00	
	103	Forceps, Allis Tissue, 7.0" Material: Stainless steel Profile: Serrated Jaw with Teeth Specialty: General Surgery	piece	6	2,970.00	
	104	Formalin, 10% solution (ready to use) , 4 liters, with at least 1 year expiry	gallon	8	8,000.00	

105	Gauze Pad 4x4x8 Ply, (100'S) Anti-leak core absorbs fluids in 1 second with at least 1 year expiry Sterile, individually wrapped.	box	50	11,000.00	
106	Gauze, absorbent, 28x24 mesh, 36" x 2kgs-2ply, cotton fabric, with at least 1 year expiry	roll	54	55,598.40	
107	Glass Slide x 72's, unground edges; clear; moist-free	box	100	10,648.00	
108	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (large) x 100's, with at least 1 year expiry	box	595	191,441.25	
109	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (medium) x 100's, with at least 1 year expiry	box	975	313,589.25	
110	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (small) x 100's, with at least 1 year expiry	box	504	162,162.00	
111	Gloves, Nitrile, Powder free, Large, 100's/Box	box	2	1,997.60	
112	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 6.5, 40 pairs per box,, with at least 1 year expiry	box	6	17,160.00	
113	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 7, 40 pairs per box, with at least 1 year expiry	box	6	17,160.00	
114	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 7.5, 40 pairs per box, with at least 1 year expiry	box	6	17,160.00	
115	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 8.0,40 pairs per box, with at least 1 year expiry	box	3	8,580.00	
116	Gloves, Sterile, 6.5, with at least 1 year expiry	pair	650	15,535.00	
117	Gloves, Sterile, 7.0, with at least 1 year expiry	pair	1,118	24,294.14	

118	Gloves, Sterile, 7.5, with at least 1 year expiry	pair	1,012	21,990.76	
119	Glutaraldehyde Solution, 1 gallon, with at least 1 year expiry	gallon	26	31,460.00	
120	Gooseneck Lamp / Droplight With Cover (W/ 5 Wheels) Stainless Stand	unit	2	10,120.00	
121	Gown, Patient, Large Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Large Colors: Green	pieces	110	33,275.00	
122	Gown, Patient, Medium Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Medium Colors: Green	piece	100	30,250.00	
123	Gown, Patient, polyester fabric (Size:3XL, 78" Sweep, 55" Length, 2.5" Sleeve)	piece	20	6,600.00	
124	Gown, Patient, Small Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Small Colors: Green	piece	100	30,250.00	
125	Gown, PPE, Type B, reusable, free size, any color	piece	30	7,012.50	

126	Half sheet/table cover, green washable, polyester fabric, 150x220cm	piece	20	9,900.00	
127	Hand Cleansing Wash Lotion Key Features: -pH 5.5 -Mild Surfactants -Size: 1 liter bottle -Usage: One pump per 10 liters of water Formulation: Aqua Sodium Laureth Sulfate Sodium Chloride PEG-7 Glyceryl Cocoate Cocamidopropyl Betaine Glycerin Disodium Laureth Sulfosuccinate Sodium Benzoate PEG-120 Methyl Glucose Dioleate Sodium Citrate Expiry: At least 1 year Quantity: 1 liter bottle	bottle	20	14,520.00	
128	Handle/Holder Type: Blade/Scalpel Material: medical grade Stainless Steel Compatibility: designed to fit blades #10, 11, 12, 15	piece	7	1,540.00	
129	Heparin cap, (In-stopper), for adult, with at least 1 year expiry	piece	80	2,200.00	
130	Hospital Bed Linen/ Bed Sheet Singles 270cm x 170 cm Blue Cotton or Poly- Cotton Blend	piece	40	17,600.00	
131	Hospital Bed Linen/ Pillow Case 90cm x 60cm Blue Cotton or Poly- Cotton Blend	piece	40	8,800.00	
132	Hot water bag, medium, rubber 850ml capacity	piece	16	1,254.08	
133	Hydrocolloid dressing (Control Gel Formula Dressing) 4"x4", with at least 1 year expiry	piece	30	12,375.00	

	Libration collected along the state of the state	1			
134	Hydrocolloid dressing (Extra Thin Wound Dressing) 4"x4", with at least 1 year expiry	piece	30	6,105.00	
135	Ice Bag, size 6	piece	20	1,975.00	
136	ID Bracelet Write-On Adult (100'S), white	box	124	35,054.80	
137	ID Bracelet Write-On pedia (100'S), blue	box	64	18,092.80	
138	ID Bracelet Write-On pedia (100'S), pink	box	64	18,092.80	
139	Incise Drape Antimicrobial, Sterile 20x26cm, with at least 1 year expiry	piece	30	26,400.00	
140	Infusion Set, Y-Connector for needles injection site, luer lock fitting needle adaptor, sharp spike, dripping port for constant precision, 200-210cm soft tubing, macrodrip:20 drops, pyrogen free, with at least 1 year expiry	piece	2,081	73,251.20	
141	Infusion Set, Y-Connector for needles injection site, luer lock fitting needle adaptor, sharp spike, dripping port for constant precision, 200-210cm soft tubing, microdrip:60 drops, pyrogen free, with at least 1 year expiry	piece	1,746	69,141.60	
142	Isolation Gown, individually packed, disposable, Nonsterile, Woven, With elastic cuffs, With neck and waist tie- closures, Freesize, any color	piece	27,200	1,309,680.00	
143	Isopropanol, Benzalkonium Chloride,1000ml (Skin wound & operative disinfectant),(to provide 1 spray in every 10L) FORMULATION: Each 100g of solution contains Isopropanol 63g , with at least 1 year expiry Benzalkonium Chloride025g Purified Water 36.97g	bottle	14	28,336.00	
144	Isopropanol, N-Propanol, Mecetronium Ethylsulfate, 1000ml, with at least 1 year expiry	bottle	20	26,400.00	

145	IV Stand, 4 Hooks, stainless, well balance, easy rolling, height range 52.5"-94", twist locks, 5 wheels Kick Bucket, Stainless, With Pail Stand: tubular frame: stainless steel 18/10	unit	11	24,054.80	
146	height: ± 90 cm 4 or 5 antistatic castors with rubber bumper (± 5 cm diameter) Pail: stainless steel 18/10 capacity: at least 5 litres diameter: at least 30 to 40 cm	set	2	6,600.00	
147	Kidney Basin Stainless, 20.5 cm, 8" x 9.0cm, 1/2x4.0cm, 1 1/2"	piece	4	2,200.00	
148	Knee Immobilizer/Splint, Large, with at least 1 year expiry	piece	8	18,480.00	
149	Knee Immobilizer/Splint, Medium, with at least 1 year expiry	piece	8	18,480.00	
150	Knee Immobilizer/Splint, Small, with at least 1 year expiry	piece	8	18,480.00	
151	Knee Immobilizer/Splint, XL, with at least 1 year expiry	piece	8	19,360.00	
152	Laparotomy pack, Disposable Sterile Contents: 1 Back Table, 2 mayo stand cover, 5 standard surgical gowns, 10 hand towels, 1 laparotomy drape, 4 adhesive utility drapes, with at least 1 year expiry	pack	25	77,000.00	
153	Laparotomy Sheet/Drape, polyester fabric, 240/210x320cm, with at least 1 year expiry	piece	20	13,200.00	
154	LAPAROTOMY SPONGE, STERILE 8"X12" X 12PLY, 28X24 MESH, with at least 1 year expiry	pack	50	3,850.00	
155	Laryngoscope 4 Blades Fiber Optic, #1, #2, #3, #4	unit	1	17,600.00	
156	Linen Hamper (Size: L: 20" x W: 20" x H: 36"), stationary	piece	2	14,740.00	
157	Lubricant, Gel, 150g, with at least 1 year expiry	tube	30	4,290.00	

158	Manual Resucitator Infant Neonate	piece	1	990.00	
159	Mask, KF94 Respiratory Protective Face Mask, 50pcs per pack, with at least 1 year expiry	pack	99	14,157.00	
160	Mask, KN95, protective mask, with adjustable nose clip, elastic ear loops, no exhalation valves x50s, with at least 1 year expiry	box	317	111,584.00	
161	Mask, N88, Surgical x 50's, with at least 1 year expiry	box	4,949	271,848.57	
162	Mask, N95, Disposable, Fluid Resistant, with at least 1 year expiry	piece	1,200	142,560.00	
163	Mask, Non-Rebreather, Adult, with at least 1 year expiry	piece	20	2,816.00	
164	Mask, Oxygen, Pedia Non-ToxicNon-pyrogenic Comes with tubing , with at least 1 year expiry Dimension: 24cm x 3.6cm x 15cm	pieces	480	31,680.00	
165	Mask, Oxygen, for Adult Non-Toxic Non-pyrogenic Comes with tubing , with at least 1 year expiry	piece	503	19,918.80	
166	Mask, Oxygen, for Neonate Non-Toxic Non-pyrogenic Comes with tubing , with at least 1 year expiry	pieces	380	25,080.00	
167	Mask,(Duck type) N95, with at least 1 year expiry	piece	180	10,643.40	
168	Maternity Pads 8'S Comfortable Soft Pure Cotton with at least 1 year expiry	pack	120	13,200.00	
169	Mayo stand cover, green washable, polyester fabric, 80x140 cm	piece	20	5,500.00	
170	Measuring/Medication Cup, 50ml (Plastic)	piece	30	1,650.00	
171	Medicine Cup 30mL (Glass)	piece	240	15,840.00	

172	Mucus Extractor • Clear and transparent container • at least 25ml with clear markings • Tubings are made from soft, kink-resistant material. • With Extra lid and Universal connectors , with at least 1 year expiry	piece	30	3,630.00	
173	Nasal dressing, disposable, medical hemostatic PVF Sponge Nose Bleeding Hemostatic	piece	15	2,920.50	
174	Nasoparyngeal Airway size 12, with at least 1 year expiry	piece	18	9,801.00	
175	Nasoparyngeal Airway size 14, with at least 1 year expiry	piece	18	9,801.00	
176	Nasoparyngeal Airway size 24, with at least 1 year expiry	piece	18	9,801.00	
177	Nasoparyngeal Airway size 28, with at least 1 year expiry	piece	18	9,801.00	
178	Nasoparyngeal Airway size 32, with at least 1 year expiry	piece	18	9,801.00	
179	Nebulizing Kit, adult Nebulizer Kit Set 1 Mask 1 Medication chamber cup 1 Oxygen tube , with at least 1 year expiry	set	576	22,492.80	
180	Nebulizing Kit,with mask, pedia Nebulizer Kit Set 1 Mask 1 Medication chamber cup 1 Oxygen tube ≥ 2 years expiration	set	390	25,740.00	
181	Needle Disposable Hypodermic 100'S, gauge 21 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3	1,089.00	

182	Needle Disposable Hypodermic 100'S, gauge 23 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3	1,089.00	
183	Needle Disposable Hypodermic 100'S, gauge 25 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3	1,089.00	
184	Needle Disposable Hypodermic 100'S, gauge 27 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3	1,089.00	
185	Needle Holder, 7", stainless	piece	7	3,850.00	
186	Needle, Reverse Cutting 27mm, sterile, 1/2 Circle x 12's, with at least 1 year expiry	box	6	4,620.00	
187	Needle, Reverse Cutting, 73mm, sterile, 1/2 Circle x 12's, with at least 1 year expiry	box	6	4,620.00	
188	Needle, Spinal, G23 x 3.5" (Sharp, Well-polished, Well-fitted plunger and barrel, Not easily detached, Sterile), with at least 1 year expiry	piece	180	122,364.00	
189	Nelaton Catheter Fr 12, with at least 1 year expiry	piece	152	3,974.80	

190	Neurological Hammer Set (5'S Kinds) Pinwheel /Geer Wheel Hammer T-shape Hammer / Triple-cornered Hammer Taylor Buck Hammer Babinski Hammer /Metal Rod Hammer Plastic Rod Hammer (provide samples each hammer)	set	1	880.00	
191	Opener Type: for ampoule (handy) size range 7.15 mm to 9.75 mm volume compatibility: 1-15 mL Material: made from durable, high- quality materials such as medical- grade plastic (e.g., polycarbonate or ABS)	piece	7	6,545.00	
192	Oxygen Regulator	piece	50	96,525.00	
193	Pads for AED, adult, compatible with Radian Heart Guardian HR- 501, with at least 1 year expiry	piece	8	53,680.00	
194	Pajama pants for newborn infant (6's white)	pack	18	5,940.00	
195	Patient Chart Aluminum, Portrait Matte-finished anodized aluminum with rounded corners and edges Back cover thumb-notch Full length aluminum hinge Sturdy, three coil, steel spring mechanism Complete with two rubber bumpers and name plate Dimension: 36cm x 25.5cm x 35.5cm	piece	10	4,400.00	
196	Penlight/Otoscope Penlight with Pupil Gauge, Chrome Plated finish, LED lamp Chrome Plated Diagnostic Penlight with Pupil Gauge. with batteries Size: 13×2 inches	piece	3	2,640.00	
197	Pipette Tips, Yellow, 1000's	pack	6	3,960.00	

198	Plaster Adhesive, Tape cloth 1.25cm x 5m tan-coloured zinc oxide tape for securing dressings, and is both waterproof and dirt repellent Can be worn for extended periods without irritating normal skin. Easy to tear and is permeable to both air and water vapour to prevent maceration. , with at least 1 year expiry	roll	6	1,320.00	
199	Plaster Adhesive, Tape cloth 2.5cm x 5m tan-coloured zinc oxide tape for securing dressings, and is both waterproof and dirt repellent Can be worn for extended periods without irritating normal skin. Easy to tear and is permeable to both air and water vapour to prevent maceration. , with at least 1 year expiry	roll	97	37,345.00	
200	Plaster Of Paris (POP), 4", with at least 1 year expiry	roll	30	2,970.00	
201	Plaster Of Paris (POP), 6", with at least 1 year expiry	roll	20	2,200.00	
202	Plaster, Adhesive, Paper Tape, 1" x 10yd x 12s, with at least 1 year expiry	box	83	45,193.50	
203	Plaster, Adhesive, Paper Tape, 1/2" x 10yd x 24's, with at least 1 year expiry	box	24	15,840.00	
204	Plaster, Adhesive, Paper Tape, 2" x 10yd x 6's, with at least 1 year expiry	box	102	74,613.00	
205	Plaster, Adhesive, Transparent Tape, 1" x 10yd x 12's, with at least 1 year expiry	box	18	14,850.00	
206	Portable pill tablet cutter splitter	piece	4	826.20	

207	 PPE TYPE B (Personal Protective Equipment) 1. Disposable gloves; 2. disposable shoe cover; 3. disposable surgical gloves; 4. gown (any color); 5. N95 face mask; 6. disposable head cap garterized; 7. surgical face mask 	set	20	2,200.00	
208	Pressure Infusion (400psig) Extension Set with Microclave Clear Needle-Free Connector, slide clamp,Rotating Male Luer lock, with at least 1 year expiry	piece	45	9,900.00	
209	Pulse Oximeter 5's rapid reading, OLED Display with lanyard	piece	112	65,296.00	
210	 Pulse Oximeter Pedia Accurate Measurement 1. Dual color LED displays 2. Low power consumption; battery-low indicator; 3. Level 1-10 adjustable brightness, 6 display modes; 4. Optional multi-color silicon rubber boot and carrying case; Included Accessories: 2 x AAA 1.5V Alkaline Battery Sling strap 	set	12	19,800.00	
211	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 1 (1.20mmx64mm) x 12's, with at least 1 year expiry	box	6	4,620.00	
212	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 4 (.90mmx43mm) x 12's, with at least 1 year expiry	box	6	4,620.00	
213	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 7 (.61mmx27mm) x 12's, with at least 1 year expiry	box	6	4,620.00	
214	Safety box and inceneration container for used needles and syringes, 5 liters	piece	86	14,190.00	

<u>г</u>					1	
	215	Scissors, Iris (Straight) 4 1/2", stainless	pair	7	1,925.00	
	216	Scissors, Iris, (Curved) 4 1/2", stainless	pair	7	1,540.00	
	217	Scissors, Mayo (curved), stainless, 7 1/4"	pair	8	3,960.00	
	218	Scissors, Mayo (Straight), stainless, 7 1/4"	pair	8	3,960.00	
	219	Scissors, Metzenbaum (Straight), stainless, 7"	pair	6	2,970.00	
	220	Scissors, Metzenbaum (Curved), stainless, 7"	pair	6	2,970.00	
	221	Scissors, Metzenbaum Curved, 8"	pair	3	1,650.00	
	222	Scissors, Surgical (Straight) 7 1/4", stainless	pair	4	1,980.00	
	223	Scissors, Trauma Shears 7 1/4" Emergency Scissors	pair	2	3,300.00	
	224	Shoe cover, Disposable, non- woven, blue	pair	3,180	11,034.60	
	225	Sling Type: Arm Size: Large Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	106	6,121.50	
	226	Sling Type: Arm Size: Medium Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	91	5,255.25	
	227	Sling Type: Arm Size: Small Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	58	3,349.50	

	228	SMS Wrap Blue 120cmx120cm (200s) 100% Polypropylene material • Non-woven fabric manufactured by the combination of spunbond (S) and meltblown technologies. SMS (Spunbond+Meltblown+Spunbond) • Lightweight, durable and breathable • Water and blood resistant • Provides outstanding hydrostatic head properties and superb protection against fluids and particles. • Wrap is drapeable and soft • Weight: 60gsm • Dimension: 120cmX120cm • Standard and Test Method: EN1149, EN13795, anti-bacterial test • Medical Repellence (Alcohol +Oil+Blood repellent) and Anti- static • Sterilization Method: Suitable for Steam, ETO, formaldehyde in low temperature sterilization and Plasma sterilization	pack	12	84,216.00	
--	-----	---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------	------	----	-----------	--

224	 SMS Wrap blue, 60cm x 60cm (500 pcs./pack) for sterilization 100% Polypropylene material Non-woven fabric manufactured by the combination of spunbond (S) and meltblown technologies. SMS (Spunbond+Meltblown+Spunbond) Lightweight, durable and breathable Water and blood resistant Provides outstanding hydrostatic head properties and superb protection against fluids and particles. Wrap is drapeable and soft Weight: 60gsm Dimension: 120cmX120cm Standard and Test Method: EN1149, EN13795, anti-bacterial test Medical Repellence (Alcohol +Oil+Blood repellent) and Antistatic Sterilization Method: Suitable for Steam, ETO, formaldehyde in low temperature sterilization and Plasma sterilization 	pack	1	7,590.00	
23	Soap, Sulfur, 135 grams, with at least 1 year expiry	piece	172	11,352.00	
23	Sphygmomanometer, BP Aneroid Child BP Cuff with Inflation Pedia BP Bulb Genuine brass gauge 1 x Handy zipper case 1 x Durable adult inflation system 1 x Authentic luminous dial face 1 x Long lasting thicker rubber bladder	set	4	8,800.00	

232	Sphygmomanometer, BP Aneroid With Wheels Blood Pressure Aneroid Sphygmomanometer BP Cuff Assembly Adult BP Bulb Spiral tubing Stand with wheels Manual Dimension: 58cm x 50cm x 21cm Complete with Latex inflation system feature an adjustable calibrated black nylon cuff, 8 ft coiled tubing with connector, large circular basket, mobile stand assembly, wall-mounted bracket. 100% MERCURY FREE	set	10	121,000.00	
233	Sphygmomanometer, BP Aneroid, Desktype Manual 1 BP Desktype 1 BP Cuff with inflation (Standard Adult) 1 BP Bulb 1 Spiral	set	9	89,100.00	
234	Sphygmomanometer, desk type, clock model, square shaped. 14cm diameter dial, 300 mm aneroid meter	unit	19	23,408.00	
235	Splint, adult, large	piece	40	3,520.00	
236	Splint, adult, medium	piece	354	31,152.00	
237	Splint, adult, small	piece	44	3,872.00	
238	Splint, neonate, medium	piece	400	30,800.00	
239	Splint, neonate, small	piece	50	4,950.00	
240	Splint, pedia, large	piece	24	1,848.00	
241	Splint, pedia, medium	piece	340	26,180.00	
242	Splint, pedia, small	piece	40	3,080.00	

243	Stethoscope Deluxe, for adult Finest Craft Finish Multi Patents 28 inch tube Patented Snap Tight Soft-Sealing Eartips Durable, latex-free Patented floating diaphragm with non-chill rim Non-chill rim and diaphragm Anatomically designed headset	piece	3	36,795.00	
244	Stethoscope, Double Sided, single tube	piece	28	9,548.00	
245	Stethoscope, dual diaphragm Features: 1. Dual Diaphragm Chest Piece 2. Single-Piece Diaphragm 3. Frequency Adjustment 4. Adjustable Ear Tubes 5. Comfortable Ear Tips 6. Stainless Steel Finish for chest piece and stem Tubing Length: 69 cm (27.2 inches) Chest Piece Finish: Stainless Steel Package Includes: 1 Dual Diaphragm Stethoscope 1 Non-Chill Rim for Pediatric Side Comfortable Snap-Tight Ear Tips	piece	9	81,180.00	
246	STRIP, STEAM INDICATOR (CHEMICAL INDICATOR THAT PROVIDES DISTINCT COLOR CHANGE WHEN EXPOSED TO THE STERILIZATION PROCESS) x 100's, with at least 1 year expiry	box	240	171,600.00	
247	Strips, Butterfly 1/2 inch x 4inch x 50's Nonwoven rayon backed material reinforced with filaments for strength, with at least 1 year expiry	box	2	6,600.00	

248	Strips, Plaster (100'S) 100 strips / box Non stick wound pad protects and cushions the wound For all types of small wounds Flexible and durable Strong adhesion with at least 1 year expiry	box	3	330.00	
249	Suction Type: set, poole drain Material: plastic Color: transparent , clear with at least 1 year expiry	piece	60	15,510.00	
250	Surgical Gown, green washable, polyester fabric, 130x150 cm	piece	20	13,200.00	
251	Surgical OR Towel, 17x27" Size 45cmx61cm Color: Blue	piece	70	11,165.00	
252	Suture, 2.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	55	9,075.00	
253	Suture, 3.0 Chromic Gut, C-6 Needle 18.7 mm, 3/8 Cutting x 12's, with at least 1 year expiry	box	2	990.00	
254	Suture, 3.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	55	15,972.00	
255	Suture, 4.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	40	5,280.00	
256	Suture, 0 Taper/Round Needle 1/2 Circle 36mm, Polyglactin/Polyglycolic, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60	31,680.00	
257	Suture, 0 Taper/Round Needle, Polyglactin, 1/2 Circle 36mm, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60	31,680.00	
258	Suture, 1.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	40	10,648.00	
259	Suture, 1.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	4	1,672.00	

 1			I		
260	Suture, 2,0, silk, sterile, non- absorbable, braided natural, at least 30 inches (approximately 75cm) in length, with 24mm 3/8 circle, reverse cutting needle, x 12's, with at least 1 year expiry	box	60	7,194.00	
261	Suture, 2.0 , Nylon, Cutting, Suture, x 12's, with at least 1 year expiry	box	114	43,890.00	
262	Suture, 2.0 Taper/Round Needle 1/2 Circle 36mm, Polyglactin/Polyglycolic, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60	31,680.00	
263	Suture, 2.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	10	4,180.00	
264	Suture, 2.0, Cutting, Polyglactin/Polyglycolic x 12's, with at least 1 year expiry	box	60	38,280.00	
265	Suture, 2.0, Plain Surgical Gut Suture w/ 30mm Round 3/8 Curve Needle 75cm length, Sterile, with at least 1 year expiry	piece	60	16,500.00	
266	Suture, 2.0, silk, non absorbable suture sterile Tudor Curve Cutting x 12's, with at least 1 year expiry	box	10	3,520.00	
267	Suture, 2.0, silksterile, non- absorbable, braided natural, at least 24 inches (approximately 60cm) in length,x 12's, with at least 1 year expiry	box	60	7,062.00	
268	Suture, 3.0 With Taper/Round Needle 26mm, Sterile, Polyglactin/Polyglycolic x 12's, with at least 1 year expiry	box	60	39,600.00	
269	Suture, 3.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	7	2,926.00	
270	Suture, 3.0, Nylon, with Needle 3/8 curve reverse cutting edge 26mm, Stainless Steel Needle, Sharp, Well-polished, Sterile, x 12's, with at least 1 year expiry	box	110	25,410.00	
271	Suture, 3.0, silk, non absorbable suture sterile Tudor Curve Cutting x 12's, with at least 1 year expiry	box	10	3,520.00	

	Suture, 3.0, silk, sterile, non-				
272	absorbable, braided natural, at least 24 inches (approximately 60cm) in length,x 12's, with at least 1 year expiry	box	60	5,610.00	
273	Suture, 4.0, Polyglactin,Reverse Cutting 19mm 3/8 Circle, 27" (70cm), Sterile, x 12's, with at least 1 year expiry	box	60	31,680.00	
274	Suture, 4.0 Taper/Round Needle 22mm,Polyglactin/Polyglycolic, Sterile, x 12's, with at least 1 year expiry	box	60	35,551.20	
275	Suture, 4.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	7	2,926.00	
276	Suture, 4.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	46,585.00	
277	Suture, 4.0, silk, non absorbable suture sterile, Curve Cutting x 12's, with at least 1 year expiry	box	10	3,520.00	
278	Suture, 5.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	7	2,926.00	
279	Suture, 5.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	50,820.00	
280	Suture, 5.0, silk, non absorbable suture sterile, Curve Cutting x 12's, with at least 1 year expiry	box	10	3,520.00	
281	Suture, 6.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	36,300.00	
282	Suture, 9.0, silk, sterile, surgical, black, monofilament polyamide, at least 5 inches (approximately 13cm) in length, with 5mm 3/8 circle taper point needle, x 12's, with at least 1 year expiry	box	60	41,524.80	
283	Suturing thread, 2.0, (Silk), 1/2 circle curved, cutting 26mm, sterile, with at least 1 year expiry	piece	24	871.20	
284	Suturing thread, 3.0, (Silk), 1/2 circle curved, cutting 26mm, sterile, with at least 1 year expiry	piece	24	871.20	

285	Suturing thread, (Chromic) 2.0 1/2 round bodied 40mm, sterile, with at least 1 year expiry	piece	40	1,694.00	
286	Suturing thread, 2.0, (Nylon) 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	847.00	
287	Suturing thread, 3.0, (Nylon), 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	847.00	
288	Suturing thread, 5.0 , (Nylon), 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	847.00	
289	Syringe, 10cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	335	165,825.00	
290	Syringe, 1cc, Disposable, g25 x 100's (slip tip syringes with lock, double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	343	120,506.19	
291	Syringe, 20cc, W/O Needle (Luer Lock) x 50's Without needles All syringes sealed and sterile , with at least 1 year expiry	box	2	2,079.00	
292	Syringe, 3cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	450	230,832.00	
293	Syringe, 50cc, W/O Needle (Luer Lock) x 20's Without needles All syringes sealed and sterile , with at least 1 year expiry	box	8	8,316.00	
294	Syringe, 5cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	433	188,229.43	
295	Syringe, asepto, adult, with at least 1 year expiry	piece	194	10,670.00	

296	Syringe, insulin, disposable, 1/2cc, u-100, g29,x100's (slip tip edge), with at least 1 year expiry	box	324	219,186.00	
297	TAPE, STEAM AUTOCLAVE STERILIZATION INDICATOR, 1" with at least 1 year expiry	roll	7	2,695.00	
298	Test Tube, Blue Top, glass, 2ml x 100's; with at least 1 year expiry	tray	2	1,403.10	
299	Test Tube, Lavender Top, 0.5 ml x 100's; with at least 1 year expiry	tray	90	65,340.00	
300	Test Tube, Lavender Top, glass, 2ml x 100's; with at least 1 year expiry	tray	2	1,331.00	
301	Test Tube, Lavender Top, glass, 5ml x 100's; with at least 1 year expiry	tray	1	665.50	
302	Test Tube, Red Top, glass, 5ml x 100's; with at least 1 year expiry	tray	100	59,774.00	
303	Thermal Paper for Defirillator (Reanibex 700) 50mmx30mm	roll	35	5,775.00	
304	Thermometer, Digital Armpit 60 sec Response Time LCD Display Auto Shut Off Function Memory For Last Reading Display in both Celsius and Fahrenhiet Water Resistant MEASUREMENT Measurement Accuracy Measurement Range 89.6 – 107.6° F Measurement Variance ±0.2°F POWER REQUIREMENTS Power Source Battery	piece	28	9,240.00	

305	Thermometer, Digital, (Rectal) Color: white LATEX FREE: Yes MEASUREMENT TYPE: Dual Scale REUSABLE OR DISPOSABLE: Reusable SHEATH INCLUDED:Yes TEMPERATURE LOCATION:Rectal TEMPERATURE RANGE: 90.0- 109.9 F 32.0-42.9 C THERMOMETER TYPE: Digital UNSPSC:42182201 USE: Reusable WATERPROOF: Yes	piece	28	6,160.00	
306	Thermometer, Ear Infrared Gentle temperature measurement for infants and young children. The Ear thermometer provides quick 1 second readings, with professional accuracy. Gentle temperature measurement for both adults &, infants/young children Product Features – 9 Sets memory – 1 Second Quick Measurement – Fever Alarm with Beeper (for body temperature 37.5°,C (99.5°,F) – Selectable °,C / °,F mode – Ergonomic Design for easy handling	piece	45	136,125.00	
307	Thermometer, Non-contact Infrared 1 Second Measurement °C/°F Switchable 50 Memory Red Backlight Fever Alert Infrared Technology With clear, backlit LCD display, HTD8813 can accurately record body surface and forehead temperatures of infants and adults, without contacting the body. with at least 1 year expiry	piece	23	15,180.00	

308	Thermometer, Refrigerator/Freezer (Round Type) 2.5" dial design Accurate from 20-degree f-80- degree f Deluxe 2-way bracket hangs or stands Durable Stainless Steel Safe temperature zone indicators	piece	1	275.00	
309	Tongue Depressor Wooden (Sterile) 100'S, with at least 1 year expiry	box	16	2,640.00	
310	Tourniquet Rubber Flat 1x12"	piece	78	3,432.00	
311	Trauma Pelvic Orthotic Devices Features: Immediate Pelvic Fracture Treatment: Effective for stabilizing fractures right at the scene. Ease of Application: Can be applied by a single EMS professional in the field with minimal effort. Symmetrical Compression: Delivers uniform, circumferential compression for optimal stabilization and control. Pulley System: Includes a pulley system style for precise tightening without needing removal for imaging procedures such as MRI, X-Ray, or CT scans. Universal Fit: Designed to fit both adults and children, accommodating a wide range of body sizes. Compact and Visible Packaging: Packaged in a compact, highly visible, and quick-opening package with clear instructions for use. Specifications: Dimensions (Packaged): 8.2 inches (Height) x 9.1 inches (Width) x 0.8 inches (Depth) Weight: 12 oz Closure: Pull tab fastening closure Material: Non-metal fabric belt Size: One size fits most Type: Disposable	piece	1	16,500.00	

Г		Tray, instrument				
	312	Type: With Cover (Ordinary) Material: medical grade stainless steel Size: 12x10x2.5"	piece	4	6,600.00	
	313	Tray, instrument Type: With Cover (Ordinary) Material: medical grade stainless steel Size: 8x3x1.5"	piece	4	2,200.00	
	314	Tray, Stainless steel, rectangular tray with cover, 31cmx21cmx5cm	piece	1	2,131.55	
	315	Triangular bandage clothe white, with at least 1 year expiry	piece	5	275.00	
	316	Tube, Endotracheal 2.0 fr.8, with at least 1 year expiry	piece	60	5,280.00	
	317	Tube, Endotracheal 2.5 fr.10, with at least 1 year expiry	piece	59	2,855.60	
	318	Tube, Endotracheal 3.0 fr.12, with at least 1 year expiry	piece	59	5,192.00	
	319	Tube, Endotracheal 3.5 fr.14, with at least 1 year expiry	piece	14	1,232.00	
	320	Tube, Endotracheal 4.0 fr.16, with at least 1 year expiry	piece	33	1,597.20	
	321	Tube, Endotracheal 4.5 fr.18, with at least 1 year expiry	piece	29	1,403.60	
	322	Tube, Endotracheal 5.0 fr.20, with at least 1 year expiry	piece	5	242.00	
	323	Tube, Endotracheal 5.5 fr.22, with at least 1 year expiry	piece	3	145.20	
	324	Tube, Endotracheal 6.0 fr.24, with at least 1 year expiry	piece	45	2,178.00	
	325	Tube, Endotracheal 6.5 fr.26, with at least 1 year expiry	piece	95	8,360.00	
	326	Tube, Endotracheal 7.0 fr.28, with at least 1 year expiry	piece	135	11,880.00	
	327	Tube, Endotracheal 7.5 fr.30, with at least 1 year expiry	piece	135	11,880.00	
	328	Tube, Endotracheal 8 fr.33, with at least 1 year expiry	piece	74	8,140.00	
	329	Tube, Nasogastric, Pediatirc fr.5, silicon with tip cover, with at least 1 year expiry	piece	338	61,347.00	

330	Tube, Nasogastric, ADULT fr.16, silicon with tip cover, with at least 1 year expiry	piece	1,542	403,310.10	
331	Tubing Type: Penrose, Size: 1 Material: Latex with at least 1 year expiry (Provide samples)	piece	10	825.00	
332	Tubing Type: Penrose, Size: 1/2 Material: Latex with at least 1 year expiry (Provide samples)	piece	14	1,155.00	
333	Tubing Type: Penrose, Size: 1/4 Material: Latex with at least 1 year expiry (Provide samples)	piece	10	825.00	
334	Tubing Type: Penrose, Size: 3/4 Material: Latex with at least 1 year expiry (Provide samples)	piece	14	1,232.00	
335	Ultrasound thermal paper UPP- 100s 110mm x 20m	roll	30	16,650.00	
336	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Large Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	24	6,600.00	

337	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Medium Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	74	14,652.00	
338	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Small Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	28	5,544.00	
339	URINAL, PLASTIC MALE, 1000ml/32oz	piece	25	2,420.00	
340	Urine Bag, 2000ml capacity, with at least 1 year expiry	piece	196	7,546.00	
341	Urine Collector, pedia Features: comfort Foam Padding Hypoallergenic Adhesive Graduated Plastic Bag Latex-Free Capacity: Each urine collector includes a plastic bag with a 100ml capacity Quantity: 100 units per pack	piece	120	26,796.00	
342	Urine/Stool Collection Cup; Sterile, Individually Wrapped, Transparent, Screw cap; 60ml; with at least 1 year expiry	piece	1,000	16,500.00	
343	Uterine curette 10 1/2" Size: 0 6.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
344	Uterine curette 10 1/2" Size: 0 6.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	

345	Uterine curette 10 1/2" Size: 00 5.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
346	Uterine curette 10 1/2" Size: 00, 5.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
347	Uterine curette 10 1/2" Size: 000 4.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
348	Uterine curette 10 1/2" Size: 000 4.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
349	Uterine curette 10 1/2" Size: 1 7.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
350	Uterine curette 10 1/2" Size: 1 7.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
351	Uterine curette 10 1/2" Size: 10 20.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel uterine currete blunt 10 1/2" #	piece	1	1,144.00	
352	Uterine curette 10 1/2" Size: 10 20.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	
353	Uterine curette 10 1/2" Size: 11 21.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	
354	Uterine curette 10 1/2" Size: 11 21.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	

355	Uterine curette 10 1/2" Size: 2 8.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
356	Uterine curette 10 1/2" Size: 3 9.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
357	Uterine curette 10 1/2" Size: 3 9.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
358	Uterine curette 10 1/2" Size: 4 11.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
359	Uterine curette 10 1/2" Size: 4 11.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
360	Uterine curette 10 1/2" Size: 5 12.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
361	Uterine curette 10 1/2" Size: 5 12.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
362	Uterine curette 10 1/2" Size: 6 14.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
363	Uterine curette 10 1/2" Size: 6 14.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
364	Uterine curette 10 1/2" Size: 7 15.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	

365	Uterine curette 10 1/2" Size: 7 15.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	
366	Uterine curette 10 1/2" Size: 8 16.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	
367	Uterine curette 10 1/2" Size: 8 16.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	
368	Uterine curette 10 1/2" Size: 9 19.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	
369	Uterine curette 10 1/2" Size: 9 19.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	
370	Uterine curette 10 1/2" Size:2 8.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	
371	Vinegar, Red Cane, 985ml	bottle	8	4,400.00	
372	Volumetric, 150cc calibrated burette chamber, float valve, micro drip, 60 drops, needle free injection port, 200-210cm tubing, Y-connector, with at least 1 year expiry	piece	860	166,496.00	
373	Wadding Sheet, 4" x 5 yards, with at least 1 year expiry	roll	183	14,091.00	
374	Wadding Sheet, 6" x 5 yards, with at least 1 year expiry	roll	179	15,752.00	
375	Water, Distilled, 6 Liters, with at least 1 year expiry	bottle	96	10,534.08	

376	Weighing Scale with height measurement, dial type Max. Weighing:160kg Min. Value Per Division:0.5kg Height Range To Be Measured:81-210cm Min. Value Of Height Per Division:0.5cm Load Platform Area (L×W):375×275mm Measurement (L×W×H):695×286×930mm Net Weight:15kg Gross Weight:17kg Please include callibration certificate if available	unit	3	13,685.10	
377	Weighing scale, infant -Capacity: 20kg -Grad: 100g -Product Dimension: 54.5×34.5×13.5cm -Product Weight: 3.2kg -Country of Origin: China -Packing Size:55.2x33x15cm -Packing Weight: 4kgs -Includes: instant tray spring mechanism Please include callibration certificate if available	set	1	3,118.50	
378	Wheelchair heavy duty (Double Cross bar), stainless, maximum weight limit: 700lbs	unit	8	52,800.00	
379	Wheelchair, foldable, heavy duty, lighweight travel, manual with break and IV stand, maximum weight limit: 700lbs	unit	2	18,150.00	
380	Wound Irrigation Solution, 350mL, with at least 1 year expiry	piece	36	37,620.00	
381	Wound Irrigation Solution, 40mL, with at least 1 year expiry	piece	30	8,250.00	

Section IV. General Conditions of Contract

Notes on the General Conditions of Contract

The General Conditions of Contract (GCC) in this Section, read in conjunction with the Special Conditions of Contract in Section V and other documents listed therein, should be a complete document expressing all the rights and obligations of the parties.

Matters governing performance of the Supplier, payments under the contract, or matters affecting the risks, rights, and obligations of the parties under the contract are included in the GCC and Special Conditions of Contract.

Any complementary information, which may be needed, shall be introduced only through the Special Conditions of Contract.

1. Scope of Contract

This Contract shall include all such items, although not specifically mentioned, that can be reasonably inferred as being required for its completion as if such items were expressly mentioned herein. All the provisions of RA No. 9184 and its 2016 revised IRR, including the Generic Procurement Manual, and associated issuances, constitute the primary source for the terms and conditions of the Contract, and thus, applicable in contract implementation. Herein clauses shall serve as the secondary source for the terms and conditions of the Contract.

This is without prejudice to Sections 74.1 and 74.2 of the 2016 revised IRR of RA No. 9184 allowing the GPPB to amend the IRR, which shall be applied to all procurement activities, the advertisement, posting, or invitation of which were issued after the effectivity of the said amendment.

Additional requirements for the completion of this Contract shall be provided in the **Special Conditions of Contract (SCC).**

2. Advance Payment and Terms of Payment

- 2.1. Advance payment of the contract amount is provided under Annex "D" of the revised 2016 IRR of RA No. 9184.
- 2.2. The Procuring Entity is allowed to determine the terms of payment on the partial or staggered delivery of the Goods procured, provided such partial payment shall correspond to the value of the goods delivered and accepted in accordance with prevailing accounting and auditing rules and regulations. The terms of payment are indicated in the **SCC**.

3. Performance Security

Within ten (10) calendar days from receipt of the Notice of Award by the Bidder from the Procuring Entity but in no case later than prior to the signing of the Contract by both parties, the successful Bidder shall furnish the performance security in any of the forms prescribed in Section 39 of the 2016 revised IRR of RA No. 9184.

4. Inspection and Tests

The Procuring Entity or its representative shall have the right to inspect and/or to test the Goods to confirm their conformity to the Project specifications at no extra cost to the Procuring Entity in accordance with the Generic Procurement Manual. In addition to tests in the **SCC**, **Section IV** (**Technical Specifications**) shall specify what inspections and/or tests the Procuring Entity requires, and where they are to be conducted. The Procuring Entity shall notify the Supplier in writing, in a timely manner, of the identity of any representatives retained for these purposes.

All reasonable facilities and assistance for the inspection and testing of Goods, including access to drawings and production data, shall be provided by the Supplier to the authorized inspectors at no charge to the Procuring Entity.

5. Warranty

- 6.1. In order to assure that manufacturing defects shall be corrected by the Supplier, a warranty shall be required from the Supplier as provided under Section 62.1 of the 2016 revised IRR of RA No. 9184.
- 6.2. The Procuring Entity shall promptly notify the Supplier in writing of any claims arising under this warranty. Upon receipt of such notice, the Supplier shall, repair or replace the defective Goods or parts thereof without cost to the Procuring Entity, pursuant to the Generic Procurement Manual.

6. Liability of the Supplier

The Supplier's liability under this Contract shall be as provided by the laws of the Republic of the Philippines.

If the Supplier is a joint venture, all partners to the joint venture shall be jointly and severally liable to the Procuring Entity.

Section V. Special Conditions of Contract

Notes on the Special Conditions of Contract

Similar to the BDS, the clauses in this Section are intended to assist the Procuring Entity in providing contract-specific information in relation to corresponding clauses in the GCC found in Section IV.

The Special Conditions of Contract (SCC) complement the GCC, specifying contractual requirements linked to the special circumstances of the Procuring Entity, the Procuring Entity's country, the sector, and the Goods purchased. In preparing this Section, the following aspects should be checked:

- a. Information that complements provisions of the GCC must be incorporated.
- b. Amendments and/or supplements to provisions of the GCC as necessitated by the circumstances of the specific purchase, must also be incorporated.

However, no special condition which defeats or negates the general intent and purpose of the provisions of the GCC should be incorporated herein.

GCC	Special Conditions of Contract					
Clause						
1						
1						
	Delivery and Documents –					
	For purposes of the Contract, "EXW," "FOB," "FCA," "CIF," "CIP," "DDF and other trade terms used to describe the obligations of the parties shall hav the meanings assigned to them by the current edition of INCOTERM published by the International Chamber of Commerce, Paris. The Deliver terms of this Contract shall be as follows:					
	[For Goods supplied from abroad, state:] "The delivery terms applicable to the Contract are DDP delivered [indicate place of destination]. In accordance with INCOTERMS."					
	[For Goods supplied from within the Philippines, state:] "The delivery terms applicable to this Contract are delivered [indicate place of destination]. Risk and title will pass from the Supplier to the Procuring Entity upon receipt and final acceptance of the Goods at their final destination."					
	Delivery of the Goods shall be made by the Supplier in accordance with the terms specified in Section VI (Schedule of Requirements).					
	For purposes of this Clause the Procuring Entity's Representative at the Project Site is Mr. Vincent A. Isip, MPA – Chief Administrative Officer.					
	Incidental Services –					
	The Supplier is required to provide all of the following services, including additional services, if any, specified in Section VI. Schedule of Requirements:					
	a. performance or supervision of on-site assembly and/or start-up of the supplied Goods;					
	b. furnishing of tools required for assembly and/or maintenance of the					
	supplied Goods;c. furnishing of a detailed operations and maintenance manual for each					
	appropriate unit of the supplied Goods;					
	d. performance or supervision or maintenance and/or repair of the supplied Goods, for a period of time agreed by the parties, provided that this service shall not relieve the Supplier of any warranty obligations under this Contract; and					
	e. training of the Procuring Entity's personnel, at the Supplier's plant and/or on-site, in assembly, start-up, operation, maintenance, and/or repair of the supplied Goods.					

Special Conditions of Contract

The Contract price for the Goods shall include the prices charged by the Supplier for incidental services and shall not exceed the prevailing rates charged to other parties by the Supplier for similar services.
Packaging –
The Supplier shall provide such packaging of the Goods as is required to prevent their damage or deterioration during transit to their final destination, as indicated in this Contract. The packaging shall be sufficient to withstand, without limitation, rough handling during transit and exposure to extreme temperatures, salt and precipitation during transit, and open storage. Packaging case size and weights shall take into consideration, where appropriate, the remoteness of the Goods' final destination and the absence of heavy handling facilities at all points in transit.
The packaging, marking, and documentation within and outside the packages shall comply strictly with such special requirements as shall be expressly provided for in the Contract, including additional requirements, if any, specified below, and in any subsequent instructions ordered by the Procuring Entity.
The outer packaging must be clearly marked on at least four (4) sides as follows:
Name of the Procuring Entity Name of the Supplier Contract Description Final Destination Gross weight Any special lifting instructions Any special handling instructions Any relevant HAZCHEM classifications
A packaging list identifying the contents and quantities of the package is to be placed on an accessible point of the outer packaging if practical. If not practical the packaging list is to be placed inside the outer packaging but outside the secondary packaging.
Transportation –
Where the Supplier is required under Contract to deliver the Goods CIF, CIP, or DDP, transport of the Goods to the port of destination or such other named place of destination in the Philippines, as shall be specified in this Contract, shall be arranged and paid for by the Supplier, and the cost thereof shall be included in the Contract Price.

	Where the Supplier is required under this Contract to transport the Goods to a specified place of destination within the Philippines, defined as the Project Site, transport to such place of destination in the Philippines, including insurance and storage, as shall be specified in this Contract, shall be arranged by the Supplier, and related costs shall be included in the contract price.
	Where the Supplier is required under Contract to deliver the Goods CIF, CIP or DDP, Goods are to be transported on carriers of Philippine registry. In the event that no carrier of Philippine registry is available, Goods may be shipped by a carrier which is not of Philippine registry provided that the Supplier obtains and presents to the Procuring Entity certification to this effect from the nearest Philippine registry are available but their schedule delays the Supplier in its performance of this Contract the period from when the Goods were first ready for shipment and the actual date of shipment the period of delay will be considered force majeure.
	The Procuring Entity accepts no liability for the damage of Goods during transit other than those prescribed by INCOTERMS for DDP deliveries. In the case of Goods supplied from within the Philippines or supplied by domestic Suppliers risk and title will not be deemed to have passed to the Procuring Entity until their receipt and final acceptance at the final destination.
	Intellectual Property Rights –
	The Supplier shall indemnify the Procuring Entity against all third-party claims of infringement of patent, trademark, or industrial design rights arising from use of the Goods or any part thereof.
2.2	"The terms of payment shall be as follows: request for partial payment shall be made in writing to HoPE."
4	The inspections and tests that will be conducted are: Inspection, Demonstration

Section VI. Schedule of Requirements

The delivery schedule expressed as weeks/months stipulates hereafter a delivery date which is the date of delivery to the project site.

Item Number	Description	Quantity	Total	Delivered, Weeks/Months
	Refer to the Purchase Order and/or Notice to Proceed.			10 working days upon receipt of Purchase Order

Section VII. Technical Specifications

Notes for Preparing the Technical Specifications

A set of precise and clear specifications is a prerequisite for Bidders to respond realistically and competitively to the requirements of the Procuring Entity without qualifying their Bids. In the context of Competitive Bidding, the specifications (*e.g.* production/delivery schedule, manpower requirements, and after-sales service/parts, descriptions of the lots or items) must be prepared to permit the widest possible competition and, at the same time, present a clear statement of the required standards of workmanship, materials, and performance of the goods and services to be procured. Only if this is done will the objectives of transparency, equity, efficiency, fairness, and economy in procurement be realized, responsiveness of bids be ensured, and the subsequent task of bid evaluation and post-qualification facilitated. The specifications should require that all items, materials and accessories to be included or incorporated in the goods be new, unused, and of the most recent or current models, and that they include or incorporate all recent improvements in design and materials unless otherwise provided in the Contract.

Samples of specifications from previous similar procurements are useful in this respect. The use of metric units is encouraged. Depending on the complexity of the goods and the repetitiveness of the type of procurement, it may be advantageous to standardize the General Technical Specifications and incorporate them in a separate subsection. The General Technical Specifications should cover all classes of workmanship, materials, and equipment commonly involved in manufacturing similar goods. Deletions or addenda should then adapt the General Technical Specifications to the particular procurement.

Care must be taken in drafting specifications to ensure that they are not restrictive. In the specification of standards for equipment, materials, and workmanship, recognized Philippine and international standards should be used as much as possible. Where other particular standards are used, whether national standards or other standards, the specifications should state that equipment, materials, and workmanship that meet other authoritative standards, and which ensure at least a substantially equal quality than the standards mentioned, will also be acceptable. The following clause may be inserted in the Special Conditions of Contract or the Technical Specifications.

Sample Clause: Equivalency of Standards and Codes

Wherever reference is made in the Technical Specifications to specific standards and codes to be met by the goods and materials to be furnished or tested, the provisions of the latest edition or revision of the relevant standards and codes shall apply, unless otherwise expressly stated in the Contract. Where such standards and codes are national or relate to a particular country or region, other authoritative standards that ensure substantial equivalence to the standards and codes specified will be acceptable.

Reference to brand name and catalogue number should be avoided as far as possible; where unavoidable they should always be followed by the words "*or at least equivalent*." References to brand names cannot be used when the funding source is the GOP.

Where appropriate, drawings, including site plans as required, may be furnished by the Procuring Entity with the Bidding Documents. Similarly, the Supplier may be requested to provide drawings or samples either with its Bid or for prior review by the Procuring Entity during contract execution.

Bidders are also required, as part of the technical specifications, to complete their statement of compliance demonstrating how the items comply with the specification.

Item	Specification	Statement of Compliance
		[Bidders must state here either "Comply" or "Not Comply" against each of the individual parameters of each Specification stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in a Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature, unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data etc., as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidder's statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the applicable laws and issuances.]
	MEDICAL SUPPLIES	
1	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 0 (60 mm.) with at least 1 year expiry	
2	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable.	

Technical Specifications

	Size: 00 (50mm) with at least 1 year expiry	
3	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 1 (70mm) with at least 1 year expiry	
4	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 2 (80mm) with at least 1 year expiry	
5	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 3 (90mm) with at least 1 year expiry	
6	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 4 (100mm) with at least 1 year expiry	
7	Air Purifier with True HEPA Filter (for 20- 30sqm)	
8	Antiseptic spray for ultrasound probe size: 1 liter with free 200ml spray bottle	
9	Applicator Sticks, wooden, 6 inches, (1000s)/box	
10	BagValveMask(BVM)SetType:AdultComponents:mask,bag,oxygenreservoir,andtubingMaterial:medical-gradesiliconewith at least 1 year expiry	
11	BagValveMask(BVM)SetType:NewBornComponents:mask,bag,oxygenreservoir,andtubing	

	Material: medical-grade silicone with at least 1 year expiry"	
12	BagValveMask(BVM)SetType:PediaComponents:mask,bag,oxygenreservoir,andtubingMaterial:medical-gradesiliconewith at least 1 year expiry"	
13	BandageSize: 2 inches wide x 5 yards longMaterial:ElasticClosure: Velcro end-to-end for securefasteningFeatures:Stretchable, providescompressionandsupportwith at least 1 year expiry	
14	Bandage Size: 3 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	
15	Bandage Size: 4 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	
16	Bandage Size: 6 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	
17	Bandage, Cohesive, 2" x 5 yards, with at least 1 year expiry	
18	Battery Type:for AED. Compatibility: Radian Heart Guardian HR-501 with at least 1 year expiry	

19	Bed Pan, plastic (36 x 26 x 10 cm)	
20	Blade Type: Surgical, sterile, disposable Size: #10 Blade design: large, curved cutting edge. (Cutting edge: 1.5 inches) with broader body. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Size: Length: 2.25 inches weight: typically, under 1 gram Quantity: 100 blades per box Expiry: at least 1 year expiration.	
21	Blade Type: Surgical, sterile, disposable. Size: #11 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	
22	Blade Type: Surgical, sterile, disposable. Size: #11 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	
23	Blade Type: Surgical, sterile, disposable. Size: #12 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	

24	Blade Type: Surgical, sterile, disposable. Size: #20 Blade Design: large, curved cutting edge with a broad body. Pre-sharpened. Material: Medical-grade stainless steel. length: 2.5–3 inches (6.4–7.6 cm) Quantity: 100 blades per box Expiry: with at least 1 year expiration.	
25	Blanket, Newborn Receiving Pranela 29x29 (White)	
26	Blood Lancet; sterile; gauge 21-23; for universal lancing device; 200's/box; with at least 1 year expiry	
27	Blood Transfusion Set, sterile, 180cm, 20macroset, with at least 1 year expiry	
28	BP Cuff W/ Inflation Bag, adult, Size: Cuff - 25cm-40cm	
29	BP Cuff W/ Inflation Bag, infant Size: Cuff - 14cm-19.5cm	
30	BP Cuff With Inflation Pedia Size : Cuff – 4"x 15" Tubing :19.5"	
31	Brush, Sterile Surgical Scrub Brush, plain Features: -soft bristles -Easy-to-open packaging for wet or dry hands	
32	Buck's Foam traction/Foam Traction, Large	
33	Buck's Foam traction/Foam Traction, Medium	
34	Buck's Foam traction/Foam Traction, Small	
35	Burn Sheet, disposable 40x90 inches, with at least 1 year expiry	
36	Cannula, IV, Gauge 18, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	

37	Cannula, IV, Gauge 20, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	
38	Cannula, IV, Gauge 22, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	
39	Cannula, IV, Gauge 24, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon, with at least 1 year expiry	
40	Cannula, IV, Gauge 26, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	
41	Cannula, Nasal, Adult • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	
42	Cannula, Nasal, Neonate • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	
43	Cannula, Nasal, Pedia • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	
44	Catheter Umbilical, French 3.5, with at least 1 year expiry	
45	Catheter Umbilical, French 5, with at least 1 year expiry	
46	Catheter, Foley, fr 12, with at least 1 year expiry	

47	Catheter, Foley, fr 14, with at least 1 year expiry	
48	Catheter, Foley, fr 16, with at least 1 year expiry	
49	Catheter, Foley, fr 18, with at least 1 year expiry	
50	Catheter, Red Rubber, size: 14, with at least 1 year expiry	
51	Catheter, Suction, size 12, with at least 1 year expiry	
52	Catheter, Suction, size 14, with at least 1 year expiry	
53	Catheter, Suction, size 16, with at least 1 year expiry	
54	Catheter,Red Rubber, size: 12, with at least 1 year expiry	
55	Cervical Collar, large, with at least 1 year expiry	
56	Cervical Collar, medium, with at least 1 year expiry	
57	Cervical Collar, small, with at least 1 year expiry	
58	Cervical Collar,Adjustable, Support Neck Brace Product Name: Neck Collar Brace Material: plastic Color: Blue and Yellow Height:12.5-17.5cm/4.9"-6.8" Length:55-59cm/21.6"-23.2" 4 Geared Height Adjustment 4 Geared Height Adjustment Feature: Pre-formed collar with tracheotomy opening for extraction and rehabilitation 4 geared height adjustment mechanism for maximum support of upper cervical spine X-ray, MRI, CT penetratable Polyethylene soft foam lining for easy application and comfort Large tracheal aperture provides access for airway management and other procedures One size fits all	

59	Clip Type: for bib Material: Plastic elastic cord with alligator clips at both end, reusable. Size: length: 12-24 inches.	
60	Cloth Diaper Birdseye Lampin for Newborn (12's) XL	
61	Cord Clamp Umbilical (100's)	
62	Cotton Applicator Sterile (200'S) Cotton Applicator with single cotton tip (small) Sterile Size: 6 inches, with at least 1 year expiry	
63	COTTON CANISTER Stainless steel With Cover 10cmx10cm	
64	Cotton, 400gms Absorbent cotton for wound treatment or absorption. High absorbent 100% bleach cotton, soft, compact and uniform in size and weight. Absorbent cotton clean safety and comportable and convinient to use	
65	Cover Slips 22 x 22mm, (200 piece/pack), Pure White Glass, clear, Thickness: 0.13- 0.16mm); Vacuum sealed	
66	Dental self-sealing autoclave sterilization pouch, 135mm x 290mm, 200pcs/box	
67	Dental self-sealing autoclave sterilization pouch, 190mm x 360mm, 200pcs/box	
68	Diaper, disposable, adult, absorbent, Large, x10's, with at least 1 year expiry	
69	Diaper, disposable, adult, absorbent, Medium x10's, with at least 1 year expiry	
70	Diaper, New Born 20's, absorbent, disposable, with at least 1 year expiry	
71	DISINFECTANT, Instrument Non- Gluteraldehyde, Alkyl Triamine, 14 days (cold sterilant solution for instrument) 1000ml, with at least 1 year expiry	
72	Disinfection fluid for endoscope and medical instruments, High level	

	disinfection for reprocessing Instruments, with at least 1 year expiry	
73	Disposable ECG Electrodes Adult, 50pieces/ pack, with at least 1 year expiry	
74	Disposable OR cap x 100's, non-woven	
75	Draw Sheet, sliding, reusable, 26" x 53", medical polymer material	
76	Dressing Type: Parafin , Antiseptic Active Ingredient: 0.5% Chlorhexidine Acetate Size: 10 cm x 10 cm Packaging: 10 dressings per box Features: Soft, sterile with at least 1 year expiry	
77	ECG electrodes pads, pedia x 50's, with at least 1 year expiry	
78	ECG Thermal Paper 80mmx20mm	
79	ECG Thermal Print Paper, 210mm x 295mm, compatible with Mindray Beneheart R12 (200's)	
80	Electro surgical Pencil Disposable - 1pc/pouch, Standby mode 220V 60Hz, 2,9 Nonshield, Climate Condition 22c, Relative Humidity 55%	
81	Electrode pads Cardiac monitor compatible for EDAN X12 x 50's, with at least 1 year expiry	
82	Electrodes Type: for ecg and 2d-echo, disposable, gel type adhesive Size: for adult Packaging: 50 per pack Expiry: with at least 1 year expiration.	
83	Endotracheal Guide Wire Fr.6, with at least 1 year expiry	
84	Endotracheal Guide wire, Adult fr 14, with at least 1 year expiry	
85	Endotracheal Guide wire, neonate fr 10, with at least 1 year expiry	

86	Endotracheal Guide wire, pedia fr 12, with at least 1 year expiry	
87	Enzymatic Cleaner, (Protolytic Enzyme- based Biological Cleaner for Medical Equipment and Endoscopes), with at least 1 year expiry	
88	Eye Sheet Drape (Sterile, disposable) 40x40cm with hole 10cmx10's, with at least 1 year expiry	
89	Face Shield, clear, acrylic, reusable	
90	Face Shield, Disposable	
91	Fiberglass orthopedic casting tape, 2" x 4 yards, with at least 1 year expiry	
92	Fiberglass orthopedic casting tape, 4" x 4 yards, with at least 1 year expiry	
93	Film Dressing with Non-adherent pad 4x10', with at least 1 year expiry	
94	Film Dressing, transparent, 2x2", with at least 1 year expiry	
95	Film Dressing, transparent, 4x10", with at least 1 year expiry	
96	Film Dressing, transparent, 4x4", with at least 1 year expiry	
97	Forcep, Adson Dressing, W/ Teeth 4 3/4", stainless	
98	Forcep, Adson Dressing, Without Teeth 4 3/4", stainless	
99	Forcep, Mosquito Forceps (curved), stainless, 7"	
100	Forcep, Mosquito Forceps (Straight), stainless, 7"	
101	Forcep, Thumb forcep, stainless 7"	
102	Forcep, Tissue Forceps, stainless 7"	
103	Forceps,AllisTissue,7.0"Material:StainlesssteelProfile:SerratedJawwithSpecialty:GeneralSurgery	

104	Formalin, 10% solution (ready to use) , 4 liters, with at least 1 year expiry	
105	Gauze Pad 4x4x8 Ply, (100'S) Anti-leak core absorbs fluids in 1 second with at least 1 year expiry Sterile, individually wrapped.	
106	Gauze, absorbent, 28x24 mesh, 36" x 2kgs-2ply, cotton fabric, with at least 1 year expiry	
107	Glass Slide x 72's, unground edges; clear; moist-free	
108	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (large) x 100's, with at least 1 year expiry	
109	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (medium) x 100's, with at least 1 year expiry	
110	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (small) x 100's, with at least 1 year expiry	
111	Gloves, Nitrile, Powder free, Large, 100's/Box	
112	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 6.5, 40 pairs per box,, with at least 1 year expiry	
113	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 7, 40 pairs per box, with at least 1 year expiry	
114	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 7.5, 40 pairs per box, with at least 1 year expiry	
115	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 8.0,40 pairs per box, with at least 1 year expiry	
116	Gloves, Sterile, 6.5, with at least 1 year expiry	

117	Gloves, Sterile, 7.0, with at least 1 year expiry	
118	Gloves, Sterile, 7.5, with at least 1 year expiry	
119	Glutaraldehyde Solution, 1 gallon, with at least 1 year expiry	
120	Gooseneck Lamp / Droplight With Cover (W/ 5 Wheels) Stainless Stand	
121	Gown,Patient,LargeMulti-PurposePatientGownCenturyClothFabricScoopNeckDouble Color-Coded Tape Ties at NeckAvailableOptions:I.V.Sleeves,I.V.SleeveswithTelemetry55%Cotton/45%PolyesterSize:LargeColors:Green	
122	Gown,Patient,MediumMulti-PurposePatientGownCenturyClothFabricScoopNeckDouble Color-Coded Tape Ties at NeckAvailableOptions:I.V.Sleeves,I.V.SleeveswithTelemetry55%Cotton/45%PolyesterSize:MediumColors:Green	
123	Gown, Patient, polyester fabric (Size:3XL, 78" Sweep, 55" Length, 2.5" Sleeve)	
124	Gown,Patient,SmallMulti-PurposePatientGownCenturyClothFabricScoopNeckDouble Color-Coded Tape Ties at NeckAvailableOptions:I.V.Sleeves,I.V.SleeveswithTelemetry55%Cotton/45%PolyesterSize:SmallColors: GreenSmall	
125	Gown, PPE, Type B, reusable, free size, any color	

Hand Cleansing Wash Lotion Key Features: -pH 5.5 -Mild Surfactants -Size: 1 liter bottle -Usage: One pump per 10 liters of water Formulation: Aqua Sodium Chloride Sodium Laureth Sulfate Sodium Chloride Sodium Laureth Sulfosuconate Sodium Cocate Sodium Laureth Sulfosuconate Sodium Experime Sodium Laureth Sulfosuconate Sodium Experime Sodium Laureth Sulfosuconate Sodium Cocate Sodium Laureth Sulfosuconate Sodium Citrate Sodium Laureth Iyear Lite Lite Lite Type: Blade/Scalpel Material: medical grade Stainless Steel Compatibility: designed to fit blades #10, 11, 12, 15 Latest 1 year expiry 129 Heparin cap, (In-stopper), for adult, with at least 1 year expiry Latest 1 year expiry Latest 1 131 Hospital Bed Linen/ Pellow Case 90cm x Storm Blue Cotton or Poly- Cotton Blen	126	Half sheet/table cover, green washable, polyester fabric, 150x220cm	
Type:Blade/Scalpel Material: medical grade Stainless Steel Compatibility: designed to fit blades #10, 11, 12, 15129Heparin cap, (In-stopper), for adult, with at least 1 year expiry130Hospital Bed Linen/ Bed Sheet Singles 270cm x 170 cm Blue Cotton or Poly- Cotton Blend131Hospital Bed Linen/ Pillow Case 90cm x 	127	KeyFeatures: -pH-pH5.5-MildSurfactants-Size:1liter-Usage: One pump per 10 liters of waterFormulation: AquaSodiumLaurethSodiumChloridePEG-7GlycerylCocaate CocamidopropylBetaineGlycerinBetaineDisodiumLaurethSulfosuccinate SodiumBenzoatePEG-120MethylGlucoseDioleate SodiumExpiry:AtLeast1year	
129at least 1 year expiry130Hospital Bed Linen/ Bed Sheet Singles 270cm x 170 cm Blue Cotton or Poly- Cotton Blend131Hospital Bed Linen/ Pillow Case 90cm x 60cm Blue Cotton or Poly- Cotton Blend132Hot water bag, medium, rubber 850ml capacity133Hydrocolloid dressing (Control Gel Formula Dressing) 4"x4", with at least 1 year expiry134Hydrocolloid dressing (Extra Thin Wound Dressing) 4"x4", with at least 1 year expiry	128	Type:Blade/ScalpelMaterial:medical gradeStainlessSteelCompatibility:designed to fit blades #10,	
 130 270 cm x 170 cm Blue Cotton or Poly- Cotton Blend 131 Hospital Bed Linen/ Pillow Case 90 cm x 60 cm Blue Cotton or Poly- Cotton Blend 132 Hot water bag, medium, rubber 850ml capacity 133 Hydrocolloid dressing (Control Gel Formula Dressing) 4"x4", with at least 1 year expiry 134 Hydrocolloid dressing (Extra Thin Wound Dressing) 4"x4", with at least 1 year expiry 	129	,	
13160cm Blue Cotton or Poly- Cotton Blend132Hot water bag, medium, rubber 850ml capacity133Hydrocolloid dressing (Control Gel Formula Dressing) 4"x4", with at least 1 year expiry134Hydrocolloid dressing (Extra Thin Wound Dressing) 4"x4", with at least 1 year expiry	130	270cm x 170 cm Blue Cotton or Poly-	
132 capacity 133 Hydrocolloid dressing (Control Gel Formula Dressing) 4"x4", with at least 1 year expiry 134 Hydrocolloid dressing (Extra Thin Wound Dressing) 4"x4", with at least 1 year expiry	131		
133 Formula Dressing) 4"x4", with at least 1 year expiry 134 Hydrocolloid dressing (Extra Thin Wound Dressing) 4"x4", with at least 1 year expiry	132	•	
134 Dressing) 4"x4", with at least 1 year expiry	133	Formula Dressing) 4"x4", with at least 1	
135 Ice Bag, size 6	134	Dressing) 4"x4", with at least 1 year	
	135	Ice Bag, size 6	

136	ID Bracelet Write-On Adult (100'S), white	
137	ID Bracelet Write-On pedia (100'S), blue	
138	ID Bracelet Write-On pedia (100'S), pink	
139	Incise Drape Antimicrobial, Sterile 20x26cm, with at least 1 year expiry	
140	Infusion Set, Y-Connector for needles injection site, luer lock fitting needle adaptor, sharp spike, dripping port for constant precision, 200-210cm soft tubing, macrodrip:20 drops, pyrogen free, with at least 1 year expiry	
141	Infusion Set, Y-Connector for needles injection site, luer lock fitting needle adaptor, sharp spike, dripping port for constant precision, 200-210cm soft tubing, microdrip:60 drops, pyrogen free, with at least 1 year expiry	
142	Isolation Gown, individually packed, disposable, Nonsterile, Woven, With elastic cuffs, With neck and waist tie- closures, Freesize, any color	
143	Isopropanol, Benzalkonium Chloride,1000ml (Skin wound & operative disinfectant),(to provide 1 spray in every 10L) FORMULATION: Each 100g of solution contains Isopropanol 63g , with at least 1 year expiry Benzalkonium Chloride025g Purified Water 36.97g	
144	Isopropanol, N-Propanol, Mecetronium Ethylsulfate, 1000ml, with at least 1 year expiry	
145	IV Stand, 4 Hooks, stainless , well balance, easy rolling, height range 52.5"- 94", twist locks, 5 wheels	
146	KickBucket,Stainless,WithPailStand:tubularframe:stainlesssteel18/10height:±90cm4or5antistaticcastorswithrubberbumper(±5cmdiameter)Pail:stainlesssteel18/10	

	capacity: at least 5 litres diameter: at least 30 to 40 cm	
147	Kidney Basin Stainless, 20.5 cm, 8" x 9.0cm, 1/2x4.0cm, 1 1/2"	
148	Knee Immobilizer/Splint, Large, with at least 1 year expiry	
149	Knee Immobilizer/Splint, Medium, with at least 1 year expiry	
150	Knee Immobilizer/Splint, Small, with at least 1 year expiry	
151	Knee Immobilizer/Splint, XL, with at least 1 year expiry	
152	Laparotomy pack, Disposable Sterile Contents: 1 Back Table, 2 mayo stand cover, 5 standard surgical gowns, 10 hand towels, 1 laparotomy drape, 4 adhesive utility drapes, with at least 1 year expiry	
153	Laparotomy Sheet/Drape, polyester fabric, 240/210x320cm, with at least 1 year expiry	
154	LAPAROTOMY SPONGE, STERILE 8"X12" X 12PLY, 28X24 MESH, with at least 1 year expiry	
155	Laryngoscope 4 Blades Fiber Optic, #1, #2, #3, #4	
156	Linen Hamper (Size: L: 20" x W: 20" x H: 36"), stationary	
157	Lubricant, Gel, 150g, with at least 1 year expiry	
158	Manual Resucitator Infant Neonate	
159	Mask, KF94 Respiratory Protective Face Mask, 50pcs per pack, with at least 1 year expiry	
160	Mask, KN95, protective mask, with adjustable nose clip, elastic ear loops, no exhalation valves x50s, with at least 1 year expiry	

161	Mask, N88, Surgical x 50's, with at least 1 year expiry	
162	Mask, N95, Disposable, Fluid Resistant, with at least 1 year expiry	
163	Mask, Non-Rebreather, Adult, with at least 1 year expiry	
164	Mask,Oxygen,PediaNon-ToxicNon-pyrogenicComeswithtubing, with at least1yearexpiryDimension:24cm x3.6cm x15cm	
165	Mask, Oxygen, for Adult Non-Toxic Non-pyrogenic Comes with tubing , with at least 1 year expiry	
166	Mask, Oxygen, for Neonate Non-Toxic Non-pyrogenic Comes with tubing , with at least 1 year expiry	
167	Mask,(Duck type) N95, with at least 1 year expiry	
168	MaternityPads8'SComfortableSoftSoftCottonPureCottonwith at least 1 year expiry	
169	Mayo stand cover, green washable, polyester fabric, 80x140 cm	
170	Measuring/Medication Cup, 50ml (Plastic)	
171	Medicine Cup 30mL (Glass)	
172	MucusExtractor• Clear and transparent container• at least 25ml with clear markings• Tubings are made from soft, kink- resistant• With Extra lid and Universal connectors , with at least 1 year expiry	
173	Nasal dressing, disposable, medical hemostatic PVF Sponge Nose Bleeding Hemostatic	

174	Nasoparyngeal Airway size 12, with at least 1 year expiry	
175	Nasoparyngeal Airway size 14, with at least 1 year expiry	
176	Nasoparyngeal Airway size 24, with at least 1 year expiry	
177	Nasoparyngeal Airway size 28, with at least 1 year expiry	
178	Nasoparyngeal Airway size 32, with at least 1 year expiry	
179	NebulizingKit,adultNebulizerKitSet1Mask1Medicationchamber1Oxygentube, with at least 1 year expiry	
180	NebulizingKit,withmask,pediaNebulizerKitSet1Mask1Medicationchamber1Oxygentube≥ 2 years expiration	
181	Needle Disposable Hypodermic 100'S, gauge21SharplancetpointSiliconecoatingThinwalledneedlesShortbeveloptions≥2yearsexpiration(provide samples)	
182	Needle Disposable Hypodermic 100'S, gauge23SharplancetpointSiliconecoatingThinwalledneedlesShortbeveloptions≥2yearsexpiration(provide samples)	
183	NeedleDisposableHypodermic100'S,gauge25SharplancetpointSiliconecoatingThinwalledneedlesShortbeveloptions	

	≥ 2 years expiration (provide samples)	
184	Needle Disposable Hypodermic 100'S, gauge27SharplancetpointSiliconecoatingThinwalledneedlesShortbeveloptions≥2yearsexpiration(provide samples)	
185	Needle Holder, 7", stainless	
186	Needle, Reverse Cutting 27mm, sterile, 1/2 Circle x 12's, with at least 1 year expiry	
187	Needle, Reverse Cutting, 73mm, sterile, 1/2 Circle x 12's, with at least 1 year expiry	
188	Needle, Spinal, G23 x 3.5" (Sharp, Well- polished, Well-fitted plunger and barrel, Not easily detached, Sterile), with at least 1 year expiry	
189	Nelaton Catheter Fr 12, with at least 1 year expiry	
190	Neurological Hammer Set (5'S Kinds) Pinwheel /Geer Wheel Hammer T-shape Hammer / Triple-cornered Hammer Taylor Buck Hammer Babinski Hammer /Metal Rod Hammer Plastic Rod Hammer (provide samples each hammer)	
191	Opener Type: for ampoule (handy) size range 7.15 mm to 9.75 mm volume compatibility: 1-15 mL Material: made from durable, high-quality materials such as medical-grade plastic (e.g., polycarbonate or ABS)	
192	Oxygen Regulator	
193	Pads for AED, adult, compatible with Radian Heart Guardian HR-501, with at least 1 year expiry	

194	Pajama pants for newborn infant (6's white)	
195	Patient Chart Aluminum, Portrait Matte-finished anodized aluminum with rounded corners and edges Back cover thumb-notch Full length aluminum hinge Sturdy, three coil, steel spring mechanism Complete with two rubber bumpers and name plate Dimension: 36cm x 25.5cm x 35.5cm	
196	Penlight/Otoscope Penlight with Pupil Gauge, Chrome Plated finish, LED lamp Chrome Plated Diagnostic Penlight with Pupil Gauge. with batteries Size: 13×2 inches	
197	Pipette Tips, Yellow, 1000's	
198	Plaster Adhesive, Tape cloth 1.25cm x 5m tan-coloured zinc oxide tape for securing dressings, and is both waterproof and dirt repellent Can be worn for extended periods without irritating normal skin. Easy to tear and is permeable to both air and water vapour to prevent maceration. , with at least 1 year expiry	
199	Plaster Adhesive, Tape cloth 2.5cm x 5m tan-coloured zinc oxide tape for securing dressings, and is both waterproof and dirt repellent Can be worn for extended periods without irritating normal skin. Easy to tear and is permeable to both air and water vapour to prevent maceration. , with at least 1 year expiry	
200	Plaster Of Paris (POP), 4", with at least 1 year expiry	
201	Plaster Of Paris (POP), 6", with at least 1 year expiry	
202	Plaster, Adhesive, Paper Tape, 1" x 10yd x 12s, with at least 1 year expiry	

203	Plaster, Adhesive, Paper Tape, 1/2" x 10yd x 24's, with at least 1 year expiry	
204	Plaster, Adhesive, Paper Tape, 2" x 10yd x 6's, with at least 1 year expiry	
205	Plaster, Adhesive, Transparent Tape, 1" x 10yd x 12's, with at least 1 year expiry	
206	Portable pill tablet cutter splitter	
207	PPE TYPE B (Personal Protective Equipment)1.Disposable gloves;1.Disposable slopesablegloves;2.disposable slopesableshoe slopes;3.disposable surgicalgloves;4.gown 	
208	Pressure Infusion (400psig) Extension Set with Microclave Clear Needle-Free Connector, slide clamp,Rotating Male Luer lock, with at least 1 year expiry	
209	Pulse Oximeter 5's rapid reading, OLED Display with lanyard	
210	PulseOximeterPediaAccurateMeasurement1.DualcolorLEDdisplays2.Low power consumption; battery-lowindicator;3.Level 1-10adjustablebrightness, 6displaymodes;4.Optional multi-color silicon rubber bootandcarryingcase;IncludedAccessories:2xAAA1.5VSling strapSling strap	
211	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 1 (1.20mmx64mm) x 12's, with at least 1 year expiry	
212	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 4 (.90mmx43mm) x 12's, with at least 1 year expiry	
213	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 7	

	(.61mmx27mm) x 12's, with at least 1 year expiry	
214	Safety box and inceneration container for used needles and syringes, 5 liters	
215	Scissors, Iris (Straight) 4 1/2", stainless	
216	Scissors, Iris, (Curved) 4 1/2", stainless	
217	Scissors, Mayo (curved), stainless, 7 1/4"	
218	Scissors, Mayo (Straight), stainless, 7 1/4"	
219	Scissors, Metzenbaum (Straight), stainless, 7"	
220	Scissors, Metzenbaum (Curved), stainless, 7"	
221	Scissors, Metzenbaum Curved, 8"	
222	Scissors, Surgical (Straight) 7 1/4", stainless	
223	Scissors, Trauma Shears 7 1/4" Emergency Scissors	
224	Shoe cover, Disposable, non-woven, blue	
225	SlingType:ArmSize:LargeMaterial:cottonAdjustableColor:Color:anyColor:colorDesign:ergonomic fit	
226	Sling Type: Arm Size: Medium Material: cotton Adjustable Color: any color Design: ergonomic fit	
227	Sling Type: Arm Size: Small Material: cotton Adjustable	

	Color: any color	
	Design: ergonomic fit	
228	SMS Wrap Blue 120cmx120cm (200s) 100% Polypropylene material • Non-woven fabric manufactured by the combination of spunbond (S) and meltblown technologies. SMS (Spunbond+Meltblown+Spunbond) • Lightweight, durable and breathable • Water and blood resistant • Provides outstanding hydrostatic head properties and superb protection against fluids and particles. • Wrap is drapeable and soft • Weight: 60gsm • Dimension: 120cmX120cm • Standard and Test Method: EN1149, EN13795, anti-bacterial test • Medical Repellence (Alcohol +Oil+Blood repellent) and Anti-static • Sterilization Method: Suitable for Steam, ETO, formaldehyde in low temperature sterilization and Plasma sterilization	
229	SMS Wrap blue, 60cm x 60cm (500 pcs./pack) for sterilization 100% Polypropylene material • Non-woven fabric manufactured by the combination of spunbond (S) and meltblown technologies. SMS (Spunbond+Meltblown+Spunbond) • Lightweight, durable and breathable • Water and blood resistant • Provides outstanding hydrostatic head properties and superb protection against fluids and particles. • Wrap is drapeable and soft • Weight: 60gsm • Dimension: 120cmX120cm • Standard and Test Method: EN1149, EN13795, anti-bacterial test • Medical Repellence (Alcohol +Oil+Blood repellent) and Anti-static • Sterilization Method: Suitable for Steam, ETO, formaldehyde in low temperature sterilization and Plasma sterilization	
230	Soap, Sulfur, 135 grams, with at least 1 year expiry	
231	Sphygmomanometer, BP Aneroid Child BP Cuff with Inflation Pedia	

	BPBulbGenuinebrassgauge1xHandyzipper1xDurableadult1xDurableadult1xAuthenticluminous1xAuthenticluminous1xLong lasting thicker rubber bladder	
232	Sphygmomanometer, BP Aneroid With WheelsBloodPressureAneroidSphygmomanometerBPCuffAssemblyAdultBPBulbSpiraltubingStandwithWheelsManualDimension:58cm x 50cm x 21cmComplete with Latex inflation systemfeature an adjustable calibrated blacknyloncuff, 8 ft coiled tubing withconnector, large circular basket, mobilestandassembly, wall-mounted bracket.100%MERCURY FREE	
233	Sphygmomanometer,BPAneroid,DesktypeManual1BPDesktype1 BP Cuff with inflation (Standard Adult)1BPBulb1 Spiral	
234	Sphygmomanometer, desk type, clock model, square shaped. 14cm diameter dial, 300 mm aneroid meter	
235	Splint, adult, large	
236	Splint, adult, medium	
237	Splint, adult, small	
238	Splint, neonate, medium	
239	Splint, neonate, small	
240	Splint, pedia, large	
241	Splint, pedia, medium	
242	Splint, pedia, small	
243	StethoscopeDeluxe,foradultFinestCraftFinish	

	Multi Patents 28 inch tube Patented Snap Tight Soft-Sealing Eartips Durable, latex-free Patented floating diaphragm with non- chill rim and diaphragm Anatomically designed headset	
244	Stethoscope, Double Sided, single tube	
245	Stethoscope,dualdiaphragmFeatures:1.DualDiaphragmChestPiece2.Single-PieceDiaphragm3.FrequencyAdjustment4.AdjustableEarTubes5.ComfortableEarTips6.StainlessSteelFinish for chest pieceandstemTubingLength:69 cm(27.2 inches)ChestPieceFinish:StainlessSteelPackageIncludes:1DualDiaphragmStethoscope1Non-ChillRimforPediatricSideComfortableSnap-TightEarTips	
246	STRIP, STEAM INDICATOR (CHEMICAL INDICATOR THAT PROVIDES DISTINCT COLOR CHANGE WHEN EXPOSED TO THE STERILIZATION PROCESS) x 100's, with at least 1 year expiry	
247	Strips, Butterfly 1/2 inch x 4inch x 50's Nonwoven rayon backed material reinforced with filaments for strength, with at least 1 year expiry	
248	Strips,Plaster(100'S)100strips/boxNon stick wound pad protects and cushionsthewoundFor all types of small woundsFlexibleanddurableStrongadhesionwith at least 1 year expiry	
249	Suction Type: set, poole drain Material: plastic Color: transparent , clear with at least 1 year expiry	

250	Surgical Gown, green washable, polyester fabric, 130x150 cm	
251	Surgical OR Towel, 17x27" Size 45cmx61cm Color: Blue	
252	Suture, 2.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	
253	Suture, 3.0 Chromic Gut, C-6 Needle 18.7 mm, 3/8 Cutting x 12's, with at least 1 year expiry	
254	Suture, 3.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	
255	Suture, 4.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	
256	Suture, 0 Taper/Round Needle 1/2 Circle 36mm, Polyglactin/Polyglycolic, Sharp Sterile Needle, x 12's, with at least 1 year expiry	
257	Suture, 0 Taper/Round Needle, Polyglactin, 1/2 Circle 36mm, Sharp Sterile Needle, x 12's, with at least 1 year expiry	
258	Suture, 1.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	
259	Suture, 1.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	
260	Suture, 2,0, silk, sterile, non-absorbable, braided natural, at least 30 inches (approximately 75cm) in length, with 24mm 3/8 circle, reverse cutting needle, x 12's, with at least 1 year expiry	
261	Suture, 2.0 , Nylon, Cutting, Suture, x 12's, with at least 1 year expiry	
262	Suture, 2.0 Taper/Round Needle 1/2 Circle 36mm, Polyglactin/Polyglycolic, Sharp Sterile Needle, x 12's, with at least 1 year expiry	
263	Suture, 2.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	

264	Suture, 2.0, Cutting, Polyglactin/Polyglycolic x 12's, with at least 1 year expiry	
265	Suture, 2.0, Plain Surgical Gut Suture w/ 30mm Round 3/8 Curve Needle 75cm length, Sterile, with at least 1 year expiry	
266	Suture, 2.0, silk, non absorbable suture sterile Tudor Curve Cutting x 12's, with at least 1 year expiry	
267	Suture, 2.0, silksterile, non-absorbable, braided natural, at least 24 inches (approximately 60cm) in length,x 12's, with at least 1 year expiry	
268	Suture, 3.0 With Taper/Round Needle 26mm, Sterile, Polyglactin/Polyglycolic x 12's, with at least 1 year expiry	
269	Suture, 3.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	
270	Suture, 3.0, Nylon, with Needle 3/8 curve reverse cutting edge 26mm, Stainless Steel Needle, Sharp, Well-polished, Sterile, x 12's, with at least 1 year expiry	
271	Suture, 3.0, silk, non absorbable suture sterile Tudor Curve Cutting x 12's, with at least 1 year expiry	
272	Suture, 3.0, silk, sterile, non-absorbable, braided natural, at least 24 inches (approximately 60cm) in length,x 12's, with at least 1 year expiry	
273	Suture, 4.0 , Polyglactin,Reverse Cutting 19mm 3/8 Circle, 27" (70cm), Sterile, x 12's, with at least 1 year expiry	
274	Suture, 4.0 Taper/Round Needle 22mm,Polyglactin/Polyglycolic, Sterile, x 12's, with at least 1 year expiry	
275	Suture, 4.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	
276	Suture, 4.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	

277	Suture, 4.0, silk, non absorbable suture sterile, Curve Cutting x 12's, with at least 1 year expiry	
278	Suture, 5.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	
279	Suture, 5.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	
280	Suture, 5.0, silk, non absorbable suture sterile, Curve Cutting x 12's, with at least 1 year expiry	
281	Suture, 6.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	
282	Suture, 9.0, silk, sterile, surgical, black, monofilament polyamide, at least 5 inches (approximately 13cm) in length, with 5mm 3/8 circle taper point needle, x 12's, with at least 1 year expiry	
283	Suturing thread, 2.0, (Silk), 1/2 circle curved, cutting 26mm, sterile, with at least 1 year expiry	
284	Suturing thread, 3.0, (Silk), 1/2 circle curved, cutting 26mm, sterile, with at least 1 year expiry	
285	Suturing thread, (Chromic) 2.0 1/2 round bodied 40mm, sterile, with at least 1 year expiry	
286	Suturing thread, 2.0, (Nylon) 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	
287	Suturing thread, 3.0, (Nylon), 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	
288	Suturing thread, 5.0 , (Nylon), 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	
289	Syringe, 10cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	
290	Syringe, 1cc, Disposable, g25 x 100's (slip tip syringes with lock, double bevel	

	ultra-thin wall and ultra sharp needles), with at least 1 year expiry	
291	Syringe, 20cc, W/O Needle (Luer Lock) x 50's Without needles All syringes sealed and sterile , with at least 1 year expiry	
292	Syringe, 3cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	
293	Syringe, 50cc, W/O Needle (Luer Lock) x 20's Without needles All syringes sealed and sterile , with at least 1 year expiry	
294	Syringe, 5cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	
295	Syringe, asepto, adult, with at least 1 year expiry	
296	Syringe, insulin, disposable, 1/2cc, u- 100, g29,x100's (slip tip edge), with at least 1 year expiry	
297	TAPE,STEAMAUTOCLAVESTERILIZATIONINDICATOR,1"with at least 1 year expiry	
298	Test Tube, Blue Top, glass, 2ml x 100's; with at least 1 year expiry	
299	Test Tube, Lavender Top, 0.5 ml x 100's; with at least 1 year expiry	
300	Test Tube, Lavender Top, glass, 2ml x 100's; with at least 1 year expiry	
301	Test Tube, Lavender Top, glass, 5ml x 100's; with at least 1 year expiry	
302	Test Tube, Red Top, glass, 5ml x 100's; with at least 1 year expiry	
303	Thermal Paper for Defirillator (Reanibex 700) 50mmx30mm	

304	Thermometer,DigitalArmpit60secResponseTimeLCDDisplayAutoShutOffFunctionMemoryForLastReadingDisplay in both Celsius and FahrenhietWaterResistantMEASUREMENTMeasurementAccuracyMeasurementRange89.6 - 107.6° FMeasurementLo2°FPOWERREQUIREMENTSPower SourceBattery	
305	Thermometer,Digital,(Rectal)Color:whiteLATEXFREE:YesMEASUREMENTTYPE:DualScaleREUSABLEORDISPOSABLE:ReusableSHEATHINCLUDED:YesSHEATHINCLUDED:YesTEMPERATURELOCATION:RectalTEMPERATURERANGE:90.0-109.932.0-42.9CTHERMOMETERTYPE:DigitalUNSPSC:42182201USE:ReusableWATERPROOF:Yes	
306	Thermometer, Ear Infrared Gentle temperature measurement for infants and young children. The Ear thermometer provides quick 1 second readings, with professional accuracy. Gentle temperature measurement for both adults &, infants/young children Product Features – 9 Sets memory – 1 Second Quick Measurement – Fever Alarm with Beeper (for body temperature 37.5°,C (99.5°,F) – Selectable °,C / °,F mode – Ergonomic Design for easy handling	
307	Thermometer,Non-contactInfrared1SecondMeasurement°C/°FSwitchable50MemoryRedBacklightFeverAlertInfraredTechnologyWith clear, backlit LCD display, HTD8813can accurately record body surface andforehead temperatures of infants and	

	adults, without contacting the body. with at least 1 year expiry	
308	Thermometer, (RoundRefrigerator/Freezer Type)2.5"dialdesignAccurate from 20-degree f-80-degree fDeluxe 2-way bracket hangs or standsDurableStainlessSafe temperature zone indicators	
309	Tongue Depressor Wooden (Sterile) 100'S, with at least 1 year expiry	
310	Tourniquet Rubber Flat 1x12"	
311	TraumaPelvicOrthoticDevicesFeatures:ImmediatePelvicFractureTreatment:Effective for stabilizing fractures right atthescene.Ease of Application:Can be applied by asingle EMS professional in the field withminimaleffort.SymmetricalCompression:Deliversuniform, circumferential compression foroptimalstabilizationandcontrol.Pulley System:Includes a pulley systemstyleforprecisetighteningwithoutneeding removal for imaging proceduressuch asMRI, X-Ray, or CT scans.Universal Fit:Designed to fit both adultsandchildren, accommodating a widerangeofbodysizes.CompactandVisiblePackaging:Packaged in a compact, highly visible,and quick-opening package with clearinstructionsforuse.Specifications:Dimensions(Packaged):8.2inches(Depth)Weight:Weight:120zClosure:PulltabfasteningclosureMaterial:Non-metalfabricbeltSize:OnesizefitsmostType:Disposable	
312	Tray,instrumentType:WithCoverMaterial:medicalgradeSize:12x10x2.5"	
313	Tray, instrument Type: With Cover (Ordinary)	

	Material: medical grade stainless steel Size: 8x3x1.5"	
314	Tray, Stainless steel, rectangular tray with cover, 31cmx21cmx5cm	
315	Triangular bandage clothe white, with at least 1 year expiry	
316	Tube, Endotracheal 2.0 fr.8, with at least 1 year expiry	
317	Tube, Endotracheal 2.5 fr.10, with at least 1 year expiry	
318	Tube, Endotracheal 3.0 fr.12, with at least 1 year expiry	
319	Tube, Endotracheal 3.5 fr.14, with at least 1 year expiry	
320	Tube, Endotracheal 4.0 fr.16, with at least 1 year expiry	
321	Tube, Endotracheal 4.5 fr.18, with at least 1 year expiry	
322	Tube, Endotracheal 5.0 fr.20, with at least 1 year expiry	
323	Tube, Endotracheal 5.5 fr.22, with at least 1 year expiry	
324	Tube, Endotracheal 6.0 fr.24, with at least 1 year expiry	
325	Tube, Endotracheal 6.5 fr.26, with at least 1 year expiry	
326	Tube, Endotracheal 7.0 fr.28, with at least 1 year expiry	
327	Tube, Endotracheal 7.5 fr.30, with at least 1 year expiry	
328	Tube, Endotracheal 8 fr.33, with at least 1 year expiry	
329	Tube, Nasogastric, Pediatirc fr.5, silicon with tip cover, with at least 1 year expiry	
330	Tube, Nasogastric, ADULT fr.16, silicon with tip cover, with at least 1 year expiry	

331	Tubing Type: Penrose, Size: 1 Material: Latex with at least 1 year expiry (Provide samples)	
332	TubingType:Penrose,Size:1/2Material:Latexwith at least1 year expiry(Provide samples)	
333	TubingType:Penrose,Size:1/4Material:Latexwith at least1 year expiry(Provide samples)	
334	TubingType:Penrose,Size:3/4Material:Latexwith at least1 year expiry(Provide samples)	
335	Ultrasound thermal paper UPP-100s 110mm x 20m	
336	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Large Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	
337	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Medium Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	
338	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Small Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage	

	Non-skid blue backing , with at least 1 year expiry
339	URINAL, PLASTIC MALE, 1000ml/32oz
340	Urine Bag, 2000ml capacity, with at least 1 year expiry
341	UrineCollector,pediaFeatures:comfortFoamPaddingHypoallergenicAdhesiveGraduatedPlasticBagLatex-FreeCapacity: Each urine collector includes aplasticbagwitha 100mlQuantity:100 units per pack
342	Urine/Stool Collection Cup; Sterile, Individually Wrapped, Transparent, Screw cap; 60ml; with at least 1 year expiry
343	Uterinecurette101/2"Size:06.0mmLoopType:Blunt,malleableshaftMaterial:medical grade stainless steel
344	Uterinecurette101/2"Size:06.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
345	Uterinecurette101/2"Size:005.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
346	Uterinecurette101/2"Size:00,5.0mmLoopType:Blunt,malleableshaftMaterial:medical grade stainless steel
347	Uterinecurette101/2"Size:0004.0mmLoopType:Blunt,malleableshaftMaterial:medical grade stainless steel
348	Uterinecurette101/2"Size:0004.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
349	Uterine curette 10 1/2" Size: 1 7.0mm Loop

	Type: Blunt, malleable shaft Material: medical grade stainless steel
350	Uterinecurette101/2"Size:17.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
351	Uterinecurette101/2"Size:1020.0mmLoopType:Blunt,malleableshaftMaterial:medicalgradestainlessuterinecurreteblunt101/2" #
352	Uterinecurette101/2"Size:1020.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
353	Uterinecurette101/2"Size:1121.0mmLoopType:Blunt,malleableshaftMaterial:medical grade stainless steel
354	Uterinecurette101/2"Size:1121.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
355	Uterinecurette101/2"Size:28.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
356	Uterinecurette101/2"Size:39.0mmLoopType:Blunt,malleableshaftMaterial:medical grade stainless steel
357	Uterinecurette101/2"Size:39.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
358	Uterinecurette101/2"Size:411.0mmLoopType:Blunt,malleableshaftMaterial:medical grade stainless steel
359	Uterinecurette101/2"Size:411.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel

360	Uterine curette 10 1/2" Size: 5 12.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel
361	Uterine curette 10 1/2" Size: 5 12.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel
362	Uterine curette 10 1/2" Size: 6 14.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel
363	Uterine curette 10 1/2" Size: 6 14.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel
364	Uterinecurette101/2"Size:715.0mmLoopType:Blunt,malleableshaftMaterial:medical grade stainless steel
365	Uterine curette 10 1/2" Size: 7 15.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel Image: stainless steel Image: stainless steel
366	Uterinecurette101/2"Size:816.0mmLoopType:Blunt,malleableshaftMaterial:medical grade stainless steel
367	Uterinecurette101/2"Size:816.0mmLoopType:Sharp,malleableshaftMaterial:medical grade stainless steel
368	Uterine curette 10 1/2" Size: 9 19.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel
369	Uterine curette 10 1/2" Size: 9 19.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel
370	Uterine curette 10 1/2" Size:2 8.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel

371	Vinegar, Red Cane, 985ml	
372	Volumetric, 150cc calibrated burette chamber, float valve, micro drip, 60 drops, needle free injection port, 200- 210cm tubing, Y-connector, with at least 1 year expiry	
373	Wadding Sheet, 4" x 5 yards, with at least 1 year expiry	
374	Wadding Sheet, 6" x 5 yards, with at least 1 year expiry	
375	Water, Distilled, 6 Liters, with at least 1 year expiry	
376	WeighingScalewithheightmeasurement,dialtypeMax.Weighing:160kgMin.ValuePerDivision:0.5kgHeightRangeToBeMeasured:81-210cmMin.ValueOfHeightPerDivision:0.5cmLoadPlatformArea(L×W):375×275mmMeasurement(L×W×H):695×286×930mmNetWeight:15kgGrossWeight:17kgPleaseincludecallibrationcertificateifavailableValueValueValueValue	
377	Weighingscale,infant-Capacity:20kg-Grad:100g-Product Dimension:54.5×34.5×13.5cm-ProductWeight:3.2kg-CountryofOrigin:CountryofOrigin:CountryofOrigin:CountryofOrigin:CountryofOrigin:CountryofOrigin:PackingSize:55.2x33x15cm-PackingWeight:4kgs-Includes:instant tray spring mechanismPleaseincludecallibrationcertificateavailable	
378	Wheelchair heavy duty (Double Cross bar), stainless, maximum weight limit: 700lbs	
379	Wheelchair, foldable, heavy duty, lighweight travel, manual with break and IV stand, maximum weight limit: 700lbs	

380	Wound Irrigation Solution, 350mL, with at least 1 year expiry	
381	Wound Irrigation Solution, 40mL, with at least 1 year expiry	

Section VIII. Checklist of Technical and Financial Documents

Notes on the Checklist of Technical and Financial Documents

The prescribed documents in the checklist are mandatory to be submitted in the Bid, but shall be subject to the following:

- a. GPPB Resolution No. 09-2020 on the efficient procurement measures during a State of Calamity or other similar issuances that shall allow the use of alternate documents in lieu of the mandated requirements; or
- b. Any subsequent GPPB issuances adjusting the documentary requirements after the effectivity of the adoption of the PBDs.

The BAC shall be checking the submitted documents of each Bidder against this checklist to ascertain if they are all present, using a non-discretionary "pass/fail" criterion pursuant to Section 30 of the 2016 revised IRR of RA No. 9184.

Checklist of Technical and Financial Documents

I. TECHNICAL COMPONENT ENVELOPE

Class "A" Documents

Legal Documents

□ (a) Valid PhilGEPS Registration Certificate (Platinum Membership) (all pages) in accordance with Section 8.5.2 of the IRR;

Technical Documents

- □ (f) Statement of the prospective bidder of all its ongoing government and private contracts, including contracts awarded but not yet started, if any, whether similar or not similar in nature and complexity to the contract to be bid; <u>and</u>
- □ (g) Statement of the bidder's Single Largest Completed Contract (SLCC) similar to the contract to be bid, except under conditions provided for in Sections 23.4.1.3 and 23.4.2.4 of the 2016 revised IRR of RA No. 9184, within the relevant period as provided in the Bidding Documents; and
- □ (h) Original copy of Bid Security. If in the form of a Surety Bond, submit also a certification issued by the Insurance Commission;

<u>or</u>

Original copy of Notarized Bid Securing Declaration; and

- □ (i) Conformity with the Technical Specifications, which may include production/delivery schedule, manpower requirements, and/or aftersales/parts, if applicable; <u>and</u>
- (j) Original duly signed Omnibus Sworn Statement (OSS);
 and if applicable, Original Notarized Secretary's Certificate in case of a corporation, partnership, or cooperative; or Original Special Power of Attorney of all members of the joint venture giving full power and authority to its officer to sign the OSS and do acts to represent the Bidder.

Financial Documents

- □ (k) The Supplier's audited financial statements, showing, among others, the Supplier's total and current assets and liabilities, stamped "received" by the BIR or its duly accredited and authorized institutions, for the preceding calendar year which should not be earlier than two (2) years from the date of bid submission; and
- □ (l) The prospective bidder's computation of Net Financial Contracting Capacity (NFCC);

<u>or</u>

A committed Line of Credit from a Universal or Commercial Bank in lieu of its NFCC computation.

Class "B" Documents

☐ (m) If applicable, a duly signed joint venture agreement (JVA) in case the joint venture is already in existence;

<u>or</u>

duly notarized statements from all the potential joint venture partners stating that they will enter into and abide by the provisions of the JVA in the instance that the bid is successful.

Other documentary requirements under RA No. 9184 (as applicable)

- (n) [For foreign bidders claiming by reason of their country's extension of reciprocal rights to Filipinos] Certification from the relevant government office of their country stating that Filipinos are allowed to participate in government procurement activities for the same item or product.
- □ (o) Certification from the DTI if the Bidder claims preference as a Domestic Bidder or Domestic Entity.

25 FINANCIAL COMPONENT ENVELOPE

- \Box (a) Original of duly signed and accomplished Financial Bid Form; **and**
- \Box (b) Original of duly signed and accomplished Price Schedule(s).

Note: Any missing document in the above-mentioned checklist is a ground for outright rejection of the bid.

Post Qualification Documents

1. BIR Form 2303 (BIR Registration Certificate)

□ 2. Business and Income Tax Return

Note: It is encouraged to submit the above-mentioned Post Qualification documents during Bid Opening to expedite the bidding process.

Requirements upon delivery

1. Retention money in an amount equivalent to 2.5% of every progress payment, or a special bank guarantee equivalent to 2.5% of the total contract price.



MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL Mariveles, Bataan

Name of Bidder/Distributor

Address:

MEDICAL SUPPLIES AND DEVICES for bid for the Procurement 2024

No.	ITEMS	UNIT	QTY.	BRAND	UNIT COST	AMOUNT
1	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 0 (60 mm.) with at least 1 year expiry	piece	30		223.30	6,699.00
2	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 00 (50mm) with at least 1 year expiry	piece	50		223.30	11,165.00
3	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 1 (70mm) with at least 1 year expiry	piece	72		223.30	16,077.60
4	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 2 (80mm) with at least 1 year expiry	piece	78		223.30	17,417.40
5	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 3 (90mm) with at least 1 year expiry	piece	92		223.30	20,543.60
6	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 4 (100mm) with at least 1 year expiry	piece	50		223.30	11,165.00

7	Air Purifier with True HEPA Filter (for 20- 30sqm)	unit	1	5,500.00	5,500.00
8	Antiseptic spray for ultrasound probe size: 1 liter with free 200ml spray bottle	set	2	2,200.00	4,400.00
9	Applicator Sticks, wooden, 6 inches, (1000s)/box	box	5	550.00	2,750.00
10	Bag Valve Mask (BVM) Set Type: Adult Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry	set	28	1,485.00	41,580.00
11	Bag Valve Mask (BVM) Set Type: New Born Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry"	set	28	1,485.00	41,580.00
12	Bag Valve Mask (BVM) Set Type: Pedia Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry"	set	28	1,485.00	41,580.00
13	Bandage Size: 2 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	88	66.00	5,808.00
14	Bandage Size: 3 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	182	42.90	7,807.80
15	Bandage Size: 4 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	242	51.70	12,511.40

16	Bandage Size: 6 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry Bandage, Cohesive, 2" x 5 yards, with at	roll	240	44.00	10,560.00
17	least 1 year expiry	roll	160	51.70	8,272.00
18	Battery Type:for AED. Compatibility: Radian Heart Guardian HR- 501 with at least 1 year expiry	piece	4	15,400.00	61,600.00
19	Bed Pan, plastic (36 x 26 x 10 cm)	piece	49	165.00	8,085.00
20	Blade Type: Surgical, sterile, disposable Size: #10 Blade design: large, curved cutting edge. (Cutting edge: 1.5 inches) with broader body. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Size: Length: 2.25 inches weight: typically, under 1 gram Quantity: 100 blades per box Expiry: at least 1 year expiration.	box	11	385.00	4,235.00
21	Blade Type: Surgical, sterile, disposable. Size: #11 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre- sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	12	385.00	4,620.00

22	Blade Type: Surgical, sterile, disposable. Size: #11 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre- sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	9	385.00	3,465.00
23	Blade Type: Surgical, sterile, disposable. Size: #12 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre- sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	2	385.00	770.00
24	Blade Type: Surgical, sterile, disposable. Size: #20 Blade Design: large, curved cutting edge with a broad body. Pre-sharpened. Material: Medical-grade stainless steel. length: 2.5–3 inches (6.4–7.6 cm) Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	10	385.00	3,850.00
25	Blanket, Newborn Receiving Pranela 29x29 (White)	piece	18	165.00	2,970.00
26	Blood Lancet; sterile; gauge 21-23; for universal lancing device; 200's/box; with at least 1 year expiry	box	21	275.00	5,775.00
27	Blood Transfusion Set, sterile, 180cm, 20macroset, with at least 1 year expiry	piece	210	126.50	26,565.00
28	BP Cuff W/ Inflation Bag, adult, Size: Cuff - 25cm-40cm	piece	12	385.00	4,620.00
29	BP Cuff W/ Inflation Bag, infant Size: Cuff - 14cm-19.5cm	piece	12	275.00	3,300.00
30	BP Cuff With Inflation Pedia Size : Cuff – 4"x 15" Tubing :19.5"	piece	16	1,100.00	17,600.00

31	Brush, Sterile Surgical Scrub Brush, plain Features: -soft bristles -Easy-to-open packaging for wet or dry hands	piece	3	305.80	917.40
32	Buck's Foam traction/Foam Traction, Large	piece	13	2,200.00	28,600.00
33	Buck's Foam traction/Foam Traction, Medium	piece	13	2,090.00	27,170.00
34	Buck's Foam traction/Foam Traction, Small	piece	13	1,980.00	25,740.00
35	Burn Sheet, disposable 40x90 inches, with at least 1 year expiry	piece	3	495.00	1,485.00
36	Cannula, IV, Gauge 18, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	1,652	88.00	145,376.00
37	Cannula, IV, Gauge 20, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	2,097	88.00	184,536.00
38	Cannula, IV, Gauge 22, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	2,512	88.00	221,056.00
39	Cannula, IV, Gauge 24, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	1,892	88.00	166,496.00
40	Cannula, IV, Gauge 26, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	1,460	88.00	128,480.00
41	Cannula, Nasal, Adult • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	1,160	18.70	21,692.00
42	Cannula, Nasal, Neonate • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	200	60.50	12,100.00

43	Cannula, Nasal, Pedia • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	510	33.00	16,830.00
44	Catheter Umbilical, French 3.5, with at least 1 year expiry	piece	70	467.50	32,725.00
45	Catheter Umbilical, French 5, with at least 1 year expiry	piece	70	401.50	28,105.00
46	Catheter, Foley, fr 12, with at least 1 year expiry	piece	329	41.80	13,752.20
47	Catheter, Foley, fr 14, with at least 1 year expiry	piece	484	41.80	20,231.20
48	Catheter, Foley, fr 16, with at least 1 year expiry	piece	292	33.00	9,636.00
49	Catheter, Foley, fr 18, with at least 1 year expiry	piece	110	33.00	3,630.00
50	Catheter, Red Rubber, size: 14, with at least 1 year expiry	piece	10	297.00	2,970.00
51	Catheter, Suction, size 12, with at least 1 year expiry	piece	441	9.90	4,365.90
52	Catheter, Suction, size 14, with at least 1 year expiry	piece	530	9.90	5,247.00
53	Catheter, Suction, size 16, with at least 1 year expiry	piece	636	8.25	5,247.00
54	Catheter,Red Rubber, size: 12, with at least 1 year expiry	piece	20	297.00	5,940.00
55	Cervical Collar, large, with at least 1 year expiry	piece	10	1,045.00	10,450.00
56	Cervical Collar, medium, with at least 1 year expiry	piece	10	1,045.00	10,450.00
57	Cervical Collar, small, with at least 1 year expiry	piece	9	1,045.00	9,405.00

58	Cervical Collar,Adjustable, Support Neck Brace • Product Name: Neck Collar Brace • Material: plastic • Color: Blue and Yellow • Height:12.5-17.5cm/4.9"-6.8" • Length:55-59cm/21.6"-23.2" • 4 Geared Height Adjustment • 4 Geared Height Adjustment Feature: Pre-formed collar with tracheotomy opening for extraction and rehabilitation 4 geared height adjustment mechanism for maximum support of upper cervical spine X-ray, MRI, CT penetratable Polyethylene soft foam lining for easy application and comfort Large tracheal aperture provides access for airway management and other procedures One size fits all	piece	1	2,750.00	2,750.00
59	Clip Type: for bib Material: Plastic elastic cord with alligator clips at both end, reusable. Size: length: 12-24 inches.	piece	60	55.00	3,300.00
60	Cloth Diaper Birdseye Lampin for Newborn (12's) XL	pack	18	330.00	5,940.00
61	Cord Clamp Umbilical (100's)	box	5	489.50	2,447.50
62	Cotton Applicator Sterile (200'S) Cotton Applicator with single cotton tip (small) Sterile Size: 6 inches, with at least 1 year expiry	box	13	203.50	2,645.50
63	COTTON CANISTER Stainless steel With Cover 10cmx10cm	piece	6	880.00	5,280.00
64	Cotton, 400gms Absorbent cotton for wound treatment or absorption. High absorbent 100% bleach cotton, soft, compact and uniform in size and weight. Absorbent cotton clean safety and comportable and convinient to use	roll	237	174.35	41,320.95
65	Cover Slips 22 x 22mm, (200 piece/pack), Pure White Glass, clear, Thickness: 0.13- 0.16mm); Vacuum sealed	pack	50	363.00	18,150.00
66	Dental self-sealing autoclave sterilization pouch, 135mm x 290mm, 200pcs/box	box	8	440.00	3,520.00
67	Dental self-sealing autoclave sterilization pouch, 190mm x 360mm, 200pcs/box	box	8	792.00	6,336.00

68	Diaper, disposable, adult, absorbent, Large, x10's, with at least 1 year expiry	pack	468	2'	19.45	102,702.60
69	Diaper, disposable, adult, absorbent, Medium x10's, with at least 1 year expiry	pack	588	2'	12.14	124,738.32
70	Diaper, New Born 20's, absorbent, disposable, with at least 1 year expiry	pack	18	22	20.00	3,960.00
71	DISINFECTANT, Instrument Non- Gluteraldehyde, Alkyl Triamine, 14 days (cold sterilant solution for instrument) 1000ml, with at least 1 year expiry	bottle	18	6,60	00.00	118,800.00
72	Disinfection fluid for endoscope and medical instruments, High level disinfection for reprocessing Instruments, with at least 1 year expiry	gallon	12	5,28	80.00	63,360.00
73	Disposable ECG Electrodes Adult, 50pieces/ pack, with at least 1 year expiry	pack	21	66	60.00	13,860.00
74	Disposable OR cap x 100's, non-woven	pack	7	1;	36.14	953.00
75	Draw Sheet, sliding, reusable, 26" x 53", medical polymer material	piece	20		88.50	11,770.00
76	Dressing Type: Parafin , Antiseptic Active Ingredient: 0.5% Chlorhexidine Acetate Size: 10 cm x 10 cm Packaging: 10 dressings per box Features: Soft, sterile with at least 1 year expiry	box	12	6(05.00	7,260.00
77	ECG electrodes pads, pedia x 50's, with at least 1 year expiry	piece	2	22	20.00	440.00
78	ECG Thermal Paper 80mmx20mm	roll	138	1:	32.00	18,216.00
79	ECG Thermal Print Paper, 210mm x 295mm, compatible with Mindray Beneheart R12 (200's)	pack	37	66	60.00	24,420.00
80	Electro surgical Pencil Disposable - 1pc/pouch, Standby mode 220V 60Hz, 2,9 Nonshield, Climate Condition 22c, Relative Humidity 55%	piece	75	28	80.50	21,037.50
81	Electrode pads Cardiac monitor compatible for EDAN X12 x 50's, with at least 1 year expiry	pack	10	2	75.00	2,750.00
	Electrodes Type: for ecg and 2d-echo, disposable, gel type adhesive Size: for adult Packaging: 50 per pack Expiry: with at least 1 year expiration.	pack	40	3,3(00.00	132,000.00
83	Endotracheal Guide Wire Fr.6, with at least 1 year expiry	piece	12	38	85.00	4,620.00
84	Endotracheal Guide wire, Adult fr 14, with at least 1 year expiry	piece	24	22	20.00	5,280.00

85	Endotracheal Guide wire, neonate fr 10, with at least 1 year expiry	piece	17	220.00	3,740.00
86	Endotracheal Guide wire, pedia fr 12, with at least 1 year expiry	piece	17	220.00	3,740.00
87	Enzymatic Cleaner, (Protolytic Enzyme- based Biological Cleaner for Medical Equipment and Endoscopes), with at least 1 year expiry	liter	60	2,420.00	145,200.00
88	Eye Sheet Drape (Sterile, disposable) 40x40cm with hole 10cmx10's, with at least 1 year expiry	box	166	825.00	136,950.00
89	Face Shield, clear, acrylic, reusable	piece	10	217.55	2,175.50
90	Face Shield, Disposable	piece	120	10.12	1,214.40
91	Fiberglass orthopedic casting tape, 2" x 4 yards, with at least 1 year expiry	roll	70	330.00	23,100.00
92	Fiberglass orthopedic casting tape, 4" x 4 yards, with at least 1 year expiry	roll	180	583.00	104,940.00
93	Film Dressing with Non-adherent pad 4x10', with at least 1 year expiry	piece	18	341.00	6,138.00
94	Film Dressing, transparent, 2x2", with at least 1 year expiry	piece	45	49.50	2,227.50
95	Film Dressing, transparent, 4x10", with at least 1 year expiry	piece	110	192.50	21,175.00
96	Film Dressing, transparent, 4x4", with at least 1 year expiry	piece	30	82.50	2,475.00
97	Forcep, Adson Dressing, W/ Teeth 4 3/4", stainless	piece	6	440.00	2,640.00
98	Forcep, Adson Dressing, Without Teeth 4 3/4", stainless	piece	6	440.00	2,640.00
99	Forcep, Mosquito Forceps (curved), stainless, 7"	piece	7	440.00	3,080.00
100	Forcep, Mosquito Forceps (Straight), stainless, 7"	piece	7	440.00	3,080.00
101	Forcep, Thumb forcep, stainless 7"	piece	7	440.00	3,080.00
102	Forcep, Tissue Forceps, stainless 7"	piece	7	275.00	1,925.00
	Forceps, Allis Tissue, 7.0" Material: Stainless steel Profile: Serrated Jaw with Teeth Specialty: General Surgery	piece	6	495.00	2,970.00
104	Formalin, 10% solution (ready to use) , 4 liters, with at least 1 year expiry	gallon	8	1,000.00	8,000.00
105	Gauze Pad 4x4x8 Ply, (100'S) Anti-leak core absorbs fluids in 1 second with at least 1 year expiry Sterile, individually wrapped.	box	50	220.00	11,000.00
106	Gauze, absorbent, 28x24 mesh, 36" x 2kgs- 2ply, cotton fabric, with at least 1 year expiry	roll	54	1,029.60	55,598.40

107	Glass Slide x 72's, unground edges; clear; moist-free	box	100	106.48	10,648.00
108	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (large) x 100's, with at least 1 year expiry	box	595	321.75	191,441.25
109	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (medium) x 100's, with at least 1 year expiry	box	975	321.63	313,589.25
110	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (small) x 100's, with at least 1 year expiry	box	504	321.75	162,162.00
111	Gloves, Nitrile, Powder free, Large, 100's/Box	box	2	998.80	1,997.60
112	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 6.5, 40 pairs per box,, with at least 1 year expiry	box	6	2,860.00	17,160.00
113	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 7, 40 pairs per box, with at least 1 year expiry	box	6	2,860.00	17,160.00
114	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 7.5, 40 pairs per box, with at least 1 year expiry	box	6	2,860.00	17,160.00
115	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 8.0,40 pairs per box, with at least 1 year expiry	box	3	2,860.00	8,580.00
116	Gloves, Sterile, 6.5, with at least 1 year expiry	pair	650	23.90	15,535.00
117	Gloves, Sterile, 7.0, with at least 1 year expiry	pair	1,118	21.73	24,294.14
118	Gloves, Sterile, 7.5, with at least 1 year expiry	pair	1,012	21.73	21,990.76
119	Glutaraldehyde Solution, 1 gallon, with at least 1 year expiry	gallon	26	1,210.00	31,460.00
120	Gooseneck Lamp / Droplight With Cover (W/ 5 Wheels) Stainless Stand	unit	2	5,060.00	10,120.00
121	Gown, Patient, Large Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Large Colors: Green	pieces	110	302.50	33,275.00

122	Gown, Patient, Medium Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Medium Colors: Green	piece	100	302.50	30,250.00
123	Gown, Patient, polyester fabric (Size:3XL, 78" Sweep, 55" Length, 2.5" Sleeve)	piece	20	330.00	6,600.00
124	Gown, Patient, Small Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Small Colors: Green	piece	100	302.50	30,250.00
125	Gown, PPE, Type B, reusable, free size, any color	piece	30	233.75	7,012.50
126	Half sheet/table cover, green washable, polyester fabric, 150x220cm	piece	20	495.00	9,900.00
127	Hand Cleansing Wash Lotion Key Features: -pH 5.5 -Mild Surfactants -Size: 1 liter bottle -Usage: One pump per 10 liters of water Formulation: Aqua Sodium Laureth Sulfate Sodium Chloride PEG-7 Glyceryl Cocoate Cocamidopropyl Betaine Glycerin Disodium Laureth Sulfosuccinate Sodium Benzoate PEG-120 Methyl Glucose Dioleate Sodium Citrate Expiry: At least 1 year Quantity: 1 liter bottle	bottle	20	726.00	14,520.00

128	Handle/Holder Type: Blade/Scalpel Material: medical grade Stainless Steel Compatibility: designed to fit blades #10, 11, 12, 15	piece	7	220.00	1,540.00
129	Heparin cap, (In-stopper), for adult, with at least 1 year expiry	piece	80	27.50	2,200.00
130	Hospital Bed Linen/ Bed Sheet Singles 270cm x 170 cm Blue Cotton or Poly- Cotton Blend	piece	40	440.00	17,600.00
131	Hospital Bed Linen/ Pillow Case 90cm x 60cm Blue Cotton or Poly- Cotton Blend	piece	40	220.00	8,800.00
132	Hot water bag, medium, rubber 850ml capacity	piece	16	78.38	1,254.08
133	Hydrocolloid dressing (Control Gel Formula Dressing) 4"x4", with at least 1 year expiry	piece	30	412.50	12,375.00
134	Hydrocolloid dressing (Extra Thin Wound Dressing) 4"x4", with at least 1 year expiry	piece	30	203.50	6,105.00
135	Ice Bag, size 6	piece	20	98.75	1,975.00
136	ID Bracelet Write-On Adult (100'S), white	box	124	282.70	35,054.80
137	ID Bracelet Write-On pedia (100'S), blue	box	64	282.70	18,092.80
138	ID Bracelet Write-On pedia (100'S), pink	box	64	282.70	18,092.80
139	Incise Drape Antimicrobial, Sterile 20x26cm, with at least 1 year expiry	piece	30	880.00	26,400.00
140	Infusion Set, Y-Connector for needles injection site, luer lock fitting needle adaptor, sharp spike, dripping port for constant precision, 200-210cm soft tubing, macrodrip:20 drops, pyrogen free, with at least 1 year expiry	piece	2,081	35.20	73,251.20
141	Infusion Set, Y-Connector for needles injection site, luer lock fitting needle adaptor, sharp spike, dripping port for constant precision, 200-210cm soft tubing, microdrip:60 drops, pyrogen free, with at least 1 year expiry	piece	1,746	39.60	69,141.60
142	Isolation Gown, individually packed, disposable, Nonsterile, Woven, With elastic cuffs, With neck and waist tie- closures, Freesize, any color	piece	27,200	48.15	1,309,680.00
143	Isopropanol, Benzalkonium Chloride,1000ml (Skin wound & operative disinfectant),(to provide 1 spray in every 10L) FORMULATION: Each 100g of solution contains Isopropanol 63g , with at least 1 year expiry Benzalkonium Chloride025g Purified Water 36.97g	bottle	14	2,024.00	28,336.00

	Isopropanol, N-Propanol, Mecetronium Ethylsulfate, 1000ml, with at least 1 year expiry	bottle	20	1,320.00	26,400.00
145	IV Stand, 4 Hooks, stainless , well balance, easy rolling, height range 52.5"-94", twist locks, 5 wheels	unit	11	2,186.80) 24,054.80
	Kick Bucket, Stainless, With Pail Stand: tubular frame: stainless steel 18/10 height: ± 90 cm 4 or 5 antistatic castors with rubber bumper (± 5 cm diameter) Pail: stainless steel 18/10 capacity: at least 5 litres diameter: at least 30 to 40 cm	set	2	3,300.00	6,600.00
1 1 7 1	Kidney Basin Stainless, 20.5 cm, 8" x 9.0cm, 1/2x4.0cm, 1 1/2"	piece	4	550.00	2,200.00
148	Knee Immobilizer/Splint, Large, with at least 1 year expiry	piece	8	2,310.00	18,480.00
1 4 0 1	Knee Immobilizer/Splint, Medium, with at least 1 year expiry	piece	8	2,310.00	18,480.00
150	Knee Immobilizer/Splint, Small, with at least 1 year expiry	piece	8	2,310.00	18,480.00
151	Knee Immobilizer/Splint, XL, with at least 1 year expiry	piece	8	2,420.00	19,360.00
152	Laparotomy pack, Disposable Sterile Contents: 1 Back Table, 2 mayo stand cover, 5 standard surgical gowns, 10 hand towels, 1 laparotomy drape, 4 adhesive utility drapes, with at least 1 year expiry	pack	25	3,080.00	77,000.00
153	Laparotomy Sheet/Drape, polyester fabric, 240/210x320cm, with at least 1 year expiry	piece	20	660.00	13,200.00
	LAPAROTOMY SPONGE, STERILE 8"X12" X 12PLY, 28X24 MESH, with at least 1 year expiry	pack	50	77.00	3,850.00
155	Laryngoscope 4 Blades Fiber Optic, #1, #2, #3, #4	unit	1	17,600.00) 17,600.00
156	Linen Hamper (Size: L: 20" x W: 20" x H: 36"), stationary	piece	2	7,370.00	14,740.00
157	Lubricant, Gel, 150g, with at least 1 year expiry	tube	30	143.00	4,290.00
158	Manual Resucitator Infant Neonate	piece	1	990.00) 990.00
	Mask, KF94 Respiratory Protective Face Mask, 50pcs per pack, with at least 1 year expiry	pack	99	143.00) 14,157.00

			1		Т
160	Mask, KN95, protective mask, with adjustable nose clip, elastic ear loops, no exhalation valves x50s, with at least 1 year expiry	box	317	352.0	0 111,584.00
161	Mask, N88, Surgical x 50's, with at least 1 year expiry	box	4,949	54.9	3 271,848.57
160	Mask, N95, Disposable, Fluid Resistant, with at least 1 year expiry	piece	1,200	118.8) 142,560.00
162	Mask, Non-Rebreather, Adult, with at least 1 year expiry	piece	20	140.8	2,816.00
	Mask, Oxygen, Pedia Non-ToxicNon-pyrogenic Comes with tubing , with at least 1 year expiry Dimension: 24cm x 3.6cm x 15cm	pieces	480	66.0) 31,680.00
	Mask, Oxygen, for Adult Non-Toxic Non-pyrogenic Comes with tubing , with at least 1 year expiry	piece	503	39.6) 19,918.80
	Mask, Oxygen, for Neonate Non-Toxic Non-pyrogenic Comes with tubing , with at least 1 year expiry	pieces	380	66.0	0 25,080.00
167	Mask,(Duck type) N95, with at least 1 year expiry	piece	180	59.1	3 10,643.40
168	Maternity Pads 8'S Comfortable Soft Pure Cotton with at least 1 year expiry	pack	120	110.0	0 13,200.00
	Mayo stand cover, green washable, polyester fabric, 80x140 cm	piece	20	275.0	5,500.00
170	Measuring/Medication Cup, 50ml (Plastic)	piece	30	55.0	0 1,650.00
172	Medicine Cup 30mL (Glass) Mucus Extractor • Clear and transparent container • at least 25ml with clear markings • Tubings are made from soft, kink-resistant material. • With Extra lid and Universal connectors , with at least 1 year expiry	piece	240 30	66.0	
	Nasal dressing, disposable, medical hemostatic PVF Sponge Nose Bleeding Hemostatic	piece	15	194.7	0 2,920.50
174	Nasoparyngeal Airway size 12, with at least 1 year expiry	piece	18	544.5	9,801.00
175	Nasoparyngeal Airway size 14, with at least 1 year expiry	piece	18	544.5	9,801.00
176	Nasoparyngeal Airway size 24, with at least 1 year expiry	piece	18	544.5	9,801.00

177	Nasoparyngeal Airway size 28, with at least 1 year expiry	piece	18	544.50	9,801.00
178	Nasoparyngeal Airway size 32, with at least 1 year expiry	piece	18	544.50	9,801.00
179	Nebulizing Kit, adult Nebulizer Kit Set 1 Mask 1 Medication chamber cup 1 Oxygen tube , with at least 1 year expiry	set	576	39.05	22,492.80
180	Nebulizing Kit,with mask, pedia Nebulizer Kit Set 1 Mask 1 Medication chamber cup 1 Oxygen tube ≥ 2 years expiration	set	390	66.00	25,740.00
181	Needle Disposable Hypodermic 100'S, gauge 21 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3	363.00	1,089.00
182	Needle Disposable Hypodermic 100'S, gauge 23 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3	363.00	1,089.00
183	Needle Disposable Hypodermic 100'S, gauge 25 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3	363.00	1,089.00
184	Needle Disposable Hypodermic 100'S, gauge 27 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3	363.00	1,089.00
185	Needle Holder, 7", stainless	piece	7	550.00	3,850.00

186	Needle, Reverse Cutting 27mm, sterile, 1/2 Circle x 12's, with at least 1 year expiry	box	6	770.00	4,620.00
187	Needle, Reverse Cutting, 73mm, sterile, 1/2 Circle x 12's, with at least 1 year expiry	box	6	770.00	4,620.00
188	Needle, Spinal, G23 x 3.5" (Sharp, Well- polished, Well-fitted plunger and barrel, Not easily detached, Sterile), with at least 1 year expiry	piece	180	679.80	122,364.00
189	Nelaton Catheter Fr 12, with at least 1 year expiry	piece	152	26.15	3,974.80
190	Neurological Hammer Set (5'S Kinds) Pinwheel /Geer Wheel Hammer T-shape Hammer / Triple-cornered Hammer Taylor Buck Hammer Babinski Hammer /Metal Rod Hammer Plastic Rod Hammer (provide samples each hammer)	set	1	880.00	880.00
191	Opener Type: for ampoule (handy) size range 7.15 mm to 9.75 mm volume compatibility: 1-15 mL Material: made from durable, high-quality materials such as medical-grade plastic (e.g., polycarbonate or ABS)	piece	7	935.00	6,545.00
192	Oxygen Regulator	piece	50	1,930.50	96,525.00
193	Pads for AED, adult, compatible with Radian Heart Guardian HR-501, with at least 1 year expiry	piece	8	6,710.00	
194	Pajama pants for newborn infant (6's white)	pack	18	330.00	5,940.00
195	Patient Chart Aluminum, Portrait Matte-finished anodized aluminum with rounded corners and edges Back cover thumb-notch Full length aluminum hinge Sturdy, three coil, steel spring mechanism Complete with two rubber bumpers and name plate Dimension: 36cm x 25.5cm x 35.5cm	piece	10	440.00	4,400.00
196	Penlight/Otoscope Penlight with Pupil Gauge, Chrome Plated finish, LED lamp Chrome Plated Diagnostic Penlight with Pupil Gauge. with batteries Size: 13×2 inches	piece	3	880.00	2,640.00

197	Pipette Tips, Yellow, 1000's	pack	6	660.00	3,960.00
198	Plaster Adhesive, Tape cloth 1.25cm x 5m tan-coloured zinc oxide tape for securing dressings, and is both waterproof and dirt repellent Can be worn for extended periods without irritating normal skin. Easy to tear and is permeable to both air and water vapour to prevent maceration. , with at least 1 year expiry	roll	6	220.00	1,320.00
100	Plaster Adhesive, Tape cloth 2.5cm x 5m tan-coloured zinc oxide tape for securing dressings, and is both waterproof and dirt repellent Can be worn for extended periods without irritating normal skin. Easy to tear and is permeable to both air and water vapour to prevent maceration. , with at least 1 year expiry	roll	97	385.00	37,345.00
200	Plaster Of Paris (POP), 4", with at least 1 year expiry	roll	30	99.00	2,970.00
201	Plaster Of Paris (POP), 6", with at least 1 year expiry	roll	20	110.00	2,200.00
202	Plaster, Adhesive, Paper Tape, 1" x 10yd x 12s, with at least 1 year expiry	box	83	544.50	45,193.50
203	Plaster, Adhesive, Paper Tape, 1/2" x 10yd x 24's, with at least 1 year expiry	box	24	660.00	15,840.00
204	Plaster, Adhesive, Paper Tape, 2" x 10yd x 6's, with at least 1 year expiry	box	102	731.50	74,613.00
205	Plaster, Adhesive, Transparent Tape, 1" x 10yd x 12's, with at least 1 year expiry	box	18	825.00	14,850.00
206	Portable pill tablet cutter splitter PPE TYPE B (Personal Protective	piece	4	206.55	826.20
207	Equipment) 1. Disposable gloves; 2. disposable shoe cover; 3. disposable surgical gloves; 4. gown (any color); 5. N95 face mask; 6. disposable head cap garterized; 7. surgical face mask	set	20	110.00	2,200.00
	Pressure Infusion (400psig) Extension Set with Microclave Clear Needle-Free Connector, slide clamp,Rotating Male Luer lock, with at least 1 year expiry	piece	45	220.00	9,900.00
209	Pulse Oximeter 5's rapid reading, OLED Display with lanyard	piece	112	583.00	65,296.00

210	 Pulse Oximeter Pedia Accurate Measurement 1. Dual color LED displays 2. Low power consumption; battery-low indicator; 3. Level 1-10 adjustable brightness, 6 display modes; 4. Optional multi-color silicon rubber boot and carrying case; Included Accessories: 2 x AAA 1.5V Alkaline Battery Sling strap 	set	12	1,650.00	19,800.00
211	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 1 (1.20mmx64mm) x 12's, with at least 1 year expiry	box	6	770.00	4,620.00
212	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 4 (.90mmx43mm) x 12's, with at least 1 year expiry	box	6	770.00	4,620.00
213	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 7 (.61mmx27mm) x 12's, with at least 1 year expiry	box	6	770.00	4,620.00
214	Safety box and inceneration container for used needles and syringes, 5 liters	piece	86	165.00	14,190.00
215	Scissors, Iris (Straight) 4 1/2", stainless	pair	7	275.00	1,925.00
216	Scissors, Iris, (Curved) 4 1/2", stainless	pair	7	220.00	1,540.00
217	Scissors, Mayo (curved), stainless, 7 1/4"	pair	8	495.00	3,960.00
218	Scissors, Mayo (Straight), stainless, 7 1/4"	pair	8	495.00	3,960.00
219	Scissors, Metzenbaum (Straight), stainless, 7"	pair	6	495.00	2,970.00
220	Scissors, Metzenbaum (Curved), stainless, 7"	pair	6	495.00	2,970.00
221	Scissors, Metzenbaum Curved, 8"	pair	3	550.00	1,650.00
222	Scissors, Surgical (Straight) 7 1/4", stainless	pair	4	495.00	1,980.00
223	Scissors, Trauma Shears 7 1/4" Emergency Scissors	pair	2	1,650.00	3,300.00
224	Shoe cover, Disposable, non-woven, blue	pair	3,180	3.47	11,034.60
225	Sling Type: Arm Size: Large Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	106	57.75	6,121.50

226	Sling Type: Arm Size: Medium Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	91	57.75	5,255.25
227	Sling Type: Arm Size: Small Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	58	57.75	3,349.50
228	SMS Wrap Blue 120cmx120cm (200s) 100% Polypropylene material • Non-woven fabric manufactured by the combination of spunbond (S) and meltblown technologies. SMS (Spunbond+Meltblown+Spunbond) • Lightweight, durable and breathable • Water and blood resistant • Provides outstanding hydrostatic head properties and superb protection against fluids and particles. • Wrap is drapeable and soft • Weight: 60gsm • Dimension: 120cmX120cm • Standard and Test Method: EN1149, EN13795, anti-bacterial test • Medical Repellence (Alcohol +Oil+Blood repellent) and Anti-static • Sterilization Method: Suitable for Steam, ETO, formaldehyde in low temperature sterilization and Plasma sterilization	pack	12	7,018.00	84,216.00

229	 SMS Wrap blue, 60cm x 60cm (500 pcs./pack) for sterilization 100% Polypropylene material Non-woven fabric manufactured by the combination of spunbond (S) and meltblown technologies. SMS (Spunbond+Meltblown+Spunbond) Lightweight, durable and breathable Water and blood resistant Provides outstanding hydrostatic head properties and superb protection against fluids and particles. Wrap is drapeable and soft Weight: 60gsm Dimension: 120cmX120cm Standard and Test Method: EN1149, EN13795, anti-bacterial test Medical Repellence (Alcohol +Oil+Blood repellent) and Anti-static Sterilization Method: Suitable for Steam, ETO, formaldehyde in low temperature sterilization and Plasma sterilization 	pack	1	7,590.00	7,590.00
230	Soap, Sulfur, 135 grams, with at least 1 year expiry	piece	172	66.00	11,352.00
231	Sphygmomanometer, BP Aneroid Child BP Cuff with Inflation Pedia BP Bulb Genuine brass gauge 1 x Handy zipper case 1 x Durable adult inflation system 1 x Authentic luminous dial face 1 x Long lasting thicker rubber bladder	set	4	2,200.00	8,800.00
232	Sphygmomanometer, BP Aneroid With Wheels Blood Pressure Aneroid Sphygmomanometer BP Cuff Assembly Adult BP Bulb Spiral tubing Stand with wheels Manual Dimension: 58cm x 50cm x 21cm Complete with Latex inflation system feature an adjustable calibrated black nylon cuff, 8 ft coiled tubing with connector, large circular basket, mobile stand assembly, wall- mounted bracket. 100% MERCURY FREE	set	10	12,100.00	121,000.00

233	Sphygmomanometer, BP Aneroid, Desktype Manual 1 BP Desktype 1 BP Cuff with inflation (Standard Adult) 1 BP Bulb 1 Spiral	set	9	9,900.00	89,100.00
234	Sphygmomanometer, desk type, clock model, square shaped. 14cm diameter dial, 300 mm aneroid meter	unit	19	1,232.00	23,408.00
235	Splint, adult, large	piece	40	88.00	3,520.00
236	Splint, adult, medium	piece	354	88.00	31,152.00
237	Splint, adult, small	piece	44	88.00	3,872.00
238	Splint, neonate, medium	piece	400	77.00	30,800.00
239	Splint, neonate, small	piece	50	99.00	4,950.00
240	Splint, pedia, large	piece	24	77.00	1,848.00
	Splint, pedia, medium	piece	340	77.00	26,180.00
242	Splint, pedia, small	piece	40	77.00	3,080.00
243	Stethoscope Deluxe, for adult Finest Craft Finish Multi Patents 28 inch tube Patented Snap Tight Soft-Sealing Eartips Durable, latex-free Patented floating diaphragm with non-chill rim Non-chill rim and diaphragm Anatomically designed headset	piece	3	12,265.00	36,795.00
244	Stethoscope, Double Sided, single tube	piece	28	341.00	9,548.00
245	 Stethoscope, dual diaphragm Features: Dual Diaphragm Chest Piece Single-Piece Diaphragm Frequency Adjustment Adjustable Ear Tubes Comfortable Ear Tips Stainless Steel Finish for chest piece and stem Tubing Length: 69 cm (27.2 inches) Chest Piece Finish: Stainless Steel Package Includes: Dual Diaphragm Stethoscope Non-Chill Rim for Pediatric Side Comfortable Snap-Tight Ear Tips 	piece	9	9,020.00	81,180.00
246	STRIP, STEAM INDICATOR (CHEMICAL INDICATOR THAT PROVIDES DISTINCT COLOR CHANGE WHEN EXPOSED TO THE STERILIZATION PROCESS) x 100's, with at least 1 year expiry	box	240	715.00	171,600.00

247	Strips, Butterfly 1/2 inch x 4inch x 50's Nonwoven rayon backed material reinforced with filaments for strength, with at least 1 year expiry	box	2	3,	300.00	6,600.00
248	Strips, Plaster (100'S) 100 strips / box Non stick wound pad protects and cushions the wound For all types of small wounds Flexible and durable Strong adhesion with at least 1 year expiry	box	3		110.00	330.00
249	Suction Type: set, poole drain Material: plastic Color: transparent , clear with at least 1 year expiry	piece	60		258.50	15,510.00
250	Surgical Gown, green washable, polyester fabric, 130x150 cm	piece	20		660.00	13,200.00
251	Surgical OR Towel, 17x27" Size 45cmx61cm Color: Blue	piece	70		159.50	11,165.00
252	Suture, 2.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	55		165.00	9,075.00
253	Suture, 3.0 Chromic Gut, C-6 Needle 18.7 mm, 3/8 Cutting x 12's, with at least 1 year expiry	box	2		495.00	990.00
254	Suture, 3.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	55		290.40	15,972.00
255	Suture, 4.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	40		132.00	5,280.00
256	Suture, 0 Taper/Round Needle 1/2 Circle 36mm, Polyglactin/Polyglycolic, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60		528.00	31,680.00
257	Suture, 0 Taper/Round Needle, Polyglactin, 1/2 Circle 36mm, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60		528.00	31,680.00
258	Suture, 1.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	40		266.20	10,648.00
259	Suture, 1.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	4		418.00	1,672.00
260	Suture, 2,0, silk, sterile, non-absorbable, braided natural, at least 30 inches (approximately 75cm) in length, with 24mm 3/8 circle, reverse cutting needle, x 12's, with at least 1 year expiry	box	60		119.90	7,194.00
261	Suture, 2.0 , Nylon, Cutting, Suture, x 12's, with at least 1 year expiry	box	114		385.00	43,890.00

					-
262	Suture, 2.0 Taper/Round Needle 1/2 Circle 36mm, Polyglactin/Polyglycolic, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60	528	00 31,680.00
263	Suture, 2.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	10	418	00 4,180.00
264	Suture, 2.0, Cutting, Polyglactin/Polyglycolic x 12's, with at least 1 year expiry	box	60	638	00 38,280.00
265	Suture, 2.0, Plain Surgical Gut Suture w/ 30mm Round 3/8 Curve Needle 75cm length, Sterile, with at least 1 year expiry	piece	60	275	00 16,500.00
266	Suture, 2.0, silk, non absorbable suture sterile Tudor Curve Cutting x 12's, with at least 1 year expiry	box	10	352	00 3,520.00
267	Suture, 2.0, silksterile, non-absorbable, braided natural, at least 24 inches (approximately 60cm) in length,x 12's, with at least 1 year expiry	box	60	117	70 7,062.00
268	Suture, 3.0 With Taper/Round Needle 26mm, Sterile, Polyglactin/Polyglycolic x 12's, with at least 1 year expiry	box	60	660	00 39,600.00
269	Suture, 3.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	7	418	00 2,926.00
270	Suture, 3.0, Nylon, with Needle 3/8 curve reverse cutting edge 26mm, Stainless Steel Needle, Sharp, Well-polished, Sterile, x 12's, with at least 1 year expiry	box	110	231	00 25,410.00
271	Suture, 3.0, silk, non absorbable suture sterile Tudor Curve Cutting x 12's, with at least 1 year expiry	box	10	352	00 3,520.00
272	Suture, 3.0, silk, sterile, non-absorbable, braided natural, at least 24 inches (approximately 60cm) in length,x 12's, with at least 1 year expiry	box	60	93	50 5,610.00
273	Suture, 4.0 , Polyglactin,Reverse Cutting 19mm 3/8 Circle, 27" (70cm), Sterile, x 12's, with at least 1 year expiry	box	60	528	00 31,680.00
274	Suture, 4.0 Taper/Round Needle 22mm,Polyglactin/Polyglycolic, Sterile, x 12's, with at least 1 year expiry	box	60	592	52 35,551.20
275	Suture, 4.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	7	418	00 2,926.00
276	Suture, 4.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	423	50 46,585.00
277	Suture, 4.0, silk, non absorbable suture sterile, Curve Cutting x 12's, with at least 1 year expiry	box	10	352	00 3,520.00

278	Suture, 5.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1	box	7	418.00	2,926.00
279	year expiry Suture, 5.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	462.00	50,820.00
280	Suture, 5.0, silk, non absorbable suture sterile, Curve Cutting x 12's, with at least 1 year expiry	box	10	352.00	3,520.00
281	Suture, 6.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	330.00	36,300.00
282	Suture, 9.0, silk, sterile, surgical, black, monofilament polyamide, at least 5 inches (approximately 13cm) in length, with 5mm 3/8 circle taper point needle, x 12's, with at least 1 year expiry	box	60	692.08	41,524.80
283	Suturing thread, 2.0, (Silk), 1/2 circle curved, cutting 26mm, sterile, with at least 1 year expiry	piece	24	36.30	871.20
284	Suturing thread, 3.0, (Silk), 1/2 circle curved, cutting 26mm, sterile, with at least 1 year expiry	piece	24	36.30	871.20
285	Suturing thread, (Chromic) 2.0 1/2 round bodied 40mm, sterile, with at least 1 year expiry	piece	40	42.35	1,694.00
286	Suturing thread, 2.0, (Nylon) 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	42.35	847.00
287	Suturing thread, 3.0, (Nylon), 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	42.35	847.00
288	Suturing thread, 5.0 , (Nylon), 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	42.35	847.00
289	Syringe, 10cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	335	495.00	165,825.00
290	Syringe, 1cc, Disposable, g25 x 100's (slip tip syringes with lock, double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	343	351.33	120,506.19
291	Syringe, 20cc, W/O Needle (Luer Lock) x 50's Without needles All syringes sealed and sterile , with at least 1 year expiry	box	2	1,039.50	2,079.00
292	Syringe, 3cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	450	512.96	230,832.00

293	Syringe, 50cc, W/O Needle (Luer Lock) x 20's Without needles All syringes sealed and sterile , with at least 1 year expiry	box	8	1,039.50	8,316.00
294	Syringe, 5cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	433	434.71	188,229.43
295	Syringe, asepto, adult, with at least 1 year expiry	piece	194	55.00	10,670.00
296	Syringe, insulin, disposable, 1/2cc, u-100, g29,x100's (slip tip edge), with at least 1 year expiry	box	324	676.50	219,186.00
297	TAPE, STEAM AUTOCLAVE STERILIZATION INDICATOR, 1" with at least 1 year expiry	roll	7	385.00	2,695.00
298	Test Tube, Blue Top, glass, 2ml x 100's; with at least 1 year expiry	tray	2	701.55	1,403.10
299	Test Tube, Lavender Top, 0.5 ml x 100's; with at least 1 year expiry	tray	90	726.00	65,340.00
300	Test Tube, Lavender Top, glass, 2ml x 100's; with at least 1 year expiry	tray	2	665.50	1,331.00
301	Test Tube, Lavender Top, glass, 5ml x 100's; with at least 1 year expiry	tray	1	665.50	665.50
302	Test Tube, Red Top, glass, 5ml x 100's; with at least 1 year expiry	tray	100	597.74	59,774.00
303	Thermal Paper for Defirillator (Reanibex 700) 50mmx30mm	roll	35	165.00	5,775.00
304	Thermometer, Digital Armpit 60 sec Response Time LCD Display Auto Shut Off Function Memory For Last Reading Display in both Celsius and Fahrenhiet Water Resistant MEASUREMENT Measurement Accuracy Measurement Range $89.6 - 107.6^{\circ}$ F Measurement Accuracy Measurement Variance $\pm 0.2^{\circ}$ F POWER REQUIREMENTS Power Source Battery	piece	28	330.00	9,240.00

	Thermometer, Digital, (Rectal) Color: white LATEX FREE: Yes MEASUREMENT TYPE: Dual Scale REUSABLE OR DISPOSABLE: Reusable SHEATH INCLUDED:Yes TEMPERATURE LOCATION:Rectal TEMPERATURE RANGE: 90.0-109.9 F 32.0- 42.9 C THERMOMETER TYPE: Digital UNSPSC:42182201 USE: Reusable WATERPROOF: Yes	piece	28	220.00	6,160.00
306	Thermometer, Ear Infrared Gentle temperature measurement for infants and young children. The Ear thermometer provides quick 1 second readings, with professional accuracy. Gentle temperature measurement for both adults &, infants/young children Product Features – 9 Sets memory – 1 Second Quick Measurement – Fever Alarm with Beeper (for body temperature 37.5°,C (99.5°,F) – Selectable °,C / °,F mode – Ergonomic Design for easy handling	piece	45	3,025.00	136,125.00
307	Thermometer, Non-contact Infrared 1 Second Measurement °C/°F Switchable 50 Memory Red Backlight Fever Alert Infrared Technology With clear, backlit LCD display, HTD8813 can accurately record body surface and forehead temperatures of infants and adults, without contacting the body. with at least 1 year expiry	piece	23	660.00	15,180.00
308	Thermometer, Refrigerator/Freezer (Round Type) 2.5" dial design Accurate from 20-degree f-80-degree f Deluxe 2-way bracket hangs or stands Durable Stainless Steel Safe temperature zone indicators	piece	1	275.00	275.00
309	Tongue Depressor Wooden (Sterile) 100'S, with at least 1 year expiry	box	16	165.00	2,640.00
310	Tourniquet Rubber Flat 1x12"	piece	78	44.00	3,432.00

311	Trauma Pelvic Orthotic Devices Features: Immediate Pelvic Fracture Treatment: Effective for stabilizing fractures right at the scene. Ease of Application: Can be applied by a single EMS professional in the field with minimal effort. Symmetrical Compression: Delivers uniform, circumferential compression for optimal stabilization and control. Pulley System: Includes a pulley system style for precise tightening without needing removal for imaging procedures such as MRI, X-Ray, or CT scans. Universal Fit: Designed to fit both adults and children, accommodating a wide range of body sizes. Compact and Visible Packaging: Packaged in a compact, highly visible, and quick- opening package with clear instructions for use. Specifications: Dimensions (Packaged): 8.2 inches (Height) x 9.1 inches (Width) x 0.8 inches (Depth) Weight: 12 oz Closure: Pull tab fastening closure Material: Non-metal fabric belt	piece	1	16,500.00	16,500.00
312	Tray, instrument Type: With Cover (Ordinary) Material: medical grade stainless steel Size: 12x10x2.5"	piece	4	1,650.00	6,600.00
313	Tray, instrument Type: With Cover (Ordinary) Material: medical grade stainless steel Size: 8x3x1.5"	piece	4	550.00	2,200.00
314	Tray, Stainless steel, rectangular tray with cover, 31cmx21cmx5cm	piece	1	2,131.55	2,131.55
315	Triangular bandage clothe white, with at least 1 year expiry	piece	5	55.00	275.00
316	Tube, Endotracheal 2.0 fr.8, with at least 1 year expiry	piece	60	88.00	5,280.00
317	Tube, Endotracheal 2.5 fr.10, with at least 1 year expiry	piece	59	48.40	2,855.60
318	Tube, Endotracheal 3.0 fr.12, with at least 1 year expiry	piece	59	88.00	5,192.00
319	Tube, Endotracheal 3.5 fr.14, with at least 1 year expiry	piece	14	 88.00	1,232.00
320	Tube, Endotracheal 4.0 fr.16, with at least 1 year expiry	piece	33	 48.40	1,597.20
321	Tube, Endotracheal 4.5 fr.18, with at least 1 year expiry	piece	29	 48.40	1,403.60
322	Tube, Endotracheal 5.0 fr.20, with at least 1 year expiry	piece	5	48.40	242.00

323	Tube, Endotracheal 5.5 fr.22, with at least 1 year expiry	piece	3	48.40	145.20
324	Tube, Endotracheal 6.0 fr.24, with at least 1 year expiry	piece	45	48.40	2,178.00
325	Tube, Endotracheal 6.5 fr.26, with at least 1 year expiry	piece	95	88.00	8,360.00
326	Tube, Endotracheal 7.0 fr.28, with at least 1 year expiry	piece	135	88.00	11,880.00
327	Tube, Endotracheal 7.5 fr.30, with at least 1 year expiry	piece	135	88.00	11,880.00
328	Tube, Endotracheal 8 fr.33, with at least 1 year expiry	piece	74	110.00	8,140.00
329	Tube, Nasogastric, Pediatirc fr.5, silicon with tip cover, with at least 1 year expiry	piece	338	181.50	61,347.00
330	Tube, Nasogastric, ADULT fr.16, silicon with tip cover, with at least 1 year expiry	piece	1,542	261.55	403,310.10
331	Tubing Type: Penrose, Size: 1 Material: Latex with at least 1 year expiry (Provide samples)	piece	10	82.50	825.00
332	Tubing Type: Penrose, Size: 1/2 Material: Latex with at least 1 year expiry (Provide samples)	piece	14	82.50	1,155.00
333	Tubing Type: Penrose, Size: 1/4 Material: Latex with at least 1 year expiry (Provide samples)	piece	10	82.50	825.00
334	Tubing Type: Penrose, Size: 3/4 Material: Latex with at least 1 year expiry (Provide samples)	piece	14	88.00	1,232.00
335	Ultrasound thermal paper UPP-100s 110mm x 20m	roll	30	 555.00	16,650.00
336	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Large Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	24	275.00	6,600.00

	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Medium Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	74	198.00	14,652.00
	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Small Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	28	198.00	5,544.00
339	URINAL, PLASTIC MALE, 1000ml/32oz	piece	25	96.80	2,420.00
340	Urine Bag, 2000ml capacity, with at least 1 year expiry	piece	196	38.50	,
341	Urine Collector, pedia Features: comfort Foam Padding Hypoallergenic Adhesive Graduated Plastic Bag Latex-Free Capacity: Each urine collector includes a plastic bag with a 100ml capacity Quantity: 100 units per pack	piece	120	223.30	26,796.00
342	Urine/Stool Collection Cup; Sterile, Individually Wrapped, Transparent, Screw cap; 60ml; with at least 1 year expiry	piece	1,000	16.50	16,500.00
343	Uterine curette 10 1/2" Size: 0 6.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
344	Uterine curette 10 1/2" Size: 0 6.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
	Uterine curette 10 1/2" Size: 00 5.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
346	Uterine curette 10 1/2" Size: 00, 5.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00

347	Uterine curette 10 1/2" Size: 000 4.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
348	Uterine curette 10 1/2" Size: 000 4.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
349	Uterine curette 10 1/2" Size: 1 7.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
350	Uterine curette 10 1/2" Size: 1 7.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
351	Uterine curette 10 1/2" Size: 10 20.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel uterine currete blunt 10 1/2" #	piece	1	1,144.00	1,144.00
352	Uterine curette 10 1/2" Size: 10 20.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	1,144.00
353	Uterine curette 10 1/2" Size: 11 21.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	1,144.00
354	Uterine curette 10 1/2" Size: 11 21.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	1,144.00	1,144.00
355	Uterine curette 10 1/2" Size: 2 8.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
356	Uterine curette 10 1/2" Size: 3 9.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
357	Uterine curette 10 1/2" Size: 3 9.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00
358	Uterine curette 10 1/2" Size: 4 11.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1	770.00	770.00

		_		-		
359	Uterine curette 10 1/2" Size: 4 11.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		770.00	770.00
360	Uterine curette 10 1/2" Size: 5 12.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		770.00	770.00
361	Uterine curette 10 1/2" Size: 5 12.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		770.00	770.00
362	Uterine curette 10 1/2" Size: 6 14.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		770.00	770.00
363	Uterine curette 10 1/2" Size: 6 14.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		770.00	770.00
364	Uterine curette 10 1/2" Size: 7 15.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		1,144.00	1,144.00
365	Uterine curette 10 1/2" Size: 7 15.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		1,144.00	1,144.00
366	Uterine curette 10 1/2" Size: 8 16.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		1,144.00	1,144.00
367	Uterine curette 10 1/2" Size: 8 16.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		1,144.00	1,144.00
368	Uterine curette 10 1/2" Size: 9 19.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		1,144.00	1,144.00
369	Uterine curette 10 1/2" Size: 9 19.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		1,144.00	1,144.00
370	Uterine curette 10 1/2" Size:2 8.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		770.00	770.00
371	Vinegar, Red Cane, 985ml	bottle	8		550.00	4,400.00

372	Volumetric, 150cc calibrated burette chamber, float valve, micro drip, 60 drops, needle free injection port, 200-210cm tubing, Y-connector, with at least 1 year expiry	piece	860	193.60	166,496.00
373	Wadding Sheet, 4" x 5 yards, with at least 1 year expiry	roll	183	77.00	14,091.00
374	Wadding Sheet, 6" x 5 yards, with at least 1 year expiry	roll	179	88.00	15,752.00
375	Water, Distilled, 6 Liters, with at least 1 year expiry	bottle	96	109.73	10,534.08
376	Weighing Scale with height measurement, dial type Max. Weighing:160kg Min. Value Per Division:0.5kg Height Range To Be Measured:81-210cm Min. Value Of Height Per Division:0.5cm Load Platform Area (L×W):375×275mm Measurement (L×W×H):695×286×930mm Net Weight:15kg Gross Weight:17kg Please include callibration certificate if available	unit	3	4,561.70	13,685.10
	Weighing scale, infant -Capacity: 20kg -Grad: 100g -Product Dimension: 54.5×34.5×13.5cm -Product Weight: 3.2kg -Country of Origin: China -Packing Size:55.2x33x15cm -Packing Weight: 4kgs -Includes: instant tray spring mechanism Please include callibration certificate if available	set	1	3,118.50	3,118.50
378	Wheelchair heavy duty (Double Cross bar), stainless, maximum weight limit: 700lbs	unit	8	6,600.00	52,800.00
	Wheelchair, foldable, heavy duty, lighweight travel, manual with break and IV stand, maximum weight limit: 700lbs	unit	2	9,075.00	18,150.00
380	Wound Irrigation Solution, 350mL, with at least 1 year expiry	piece	36	1,045.00	37,620.00
381	Wound Irrigation Solution, 40mL, with at least 1 year expiry	piece	30	275.00	8,250.00
				Grand Total	10,854,085.22

MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL Mariveles, Bataan

Name of Bidder/Distributor

Address:

MEDICAL SUPPLIES AND DEVICES for bid for the Procurement 2024

No.	ITEMS	UNIT	QTY.	BRAND	UNIT COST	AMOUNT
1	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 0 (60 mm.) with at least 1 year expiry	piece	30			
2	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 00 (50mm) with at least 1 year expiry	piece	50			
3	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 1 (70mm) with at least 1 year expiry	piece	72			
4	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 2 (80mm) with at least 1 year expiry	piece	78			
5	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 3 (90mm) with at least 1 year expiry	piece	92			
6	Adjuncts. Type: Oropharyngeal Airway (OPA) Material: Medical-Grade Plastic, latex free, rigid yet flexible, sterile and disposable. Size: 4 (100mm) with at least 1 year expiry	piece	50			

7	Air Purifier with True HEPA Filter (for 20- 30sqm)	unit	1		
8	Antiseptic spray for ultrasound probe size: 1 liter with free 200ml spray bottle	set	2		
9	Applicator Sticks, wooden, 6 inches, (1000s)/box	box	5		
10	Bag Valve Mask (BVM) Set Type: Adult Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry	set	28		
11	Bag Valve Mask (BVM) Set Type: New Born Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry"	set	28		
12	Bag Valve Mask (BVM) Set Type: Pedia Components: mask, bag, oxygen reservoir, and tubing Material: medical-grade silicone with at least 1 year expiry"	set	28		
13	Bandage Size: 2 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	88		
14	Bandage Size: 3 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	182		
15	Bandage Size: 4 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry	roll	242		

	Bandage Size: 6 inches wide x 5 yards long Material: Elastic Closure: Velcro end-to-end for secure fastening Features: Stretchable, provides compression and support with at least 1 year expiry Bandage, Cohesive, 2" x 5 yards, with at	roll	240	
17	least 1 year expiry	roll	160	
18	Battery Type:for AED. Compatibility: Radian Heart Guardian HR- 501 with at least 1 year expiry	piece	4	
19	Bed Pan, plastic (36 x 26 x 10 cm)	piece	49	
20	Blade Type: Surgical, sterile, disposable Size: #10 Blade design: large, curved cutting edge. (Cutting edge: 1.5 inches) with broader body. Pre-sharpened with precision honing. Material: Medical-grade stainless steel. Size: Length: 2.25 inches weight: typically, under 1 gram Quantity: 100 blades per box Expiry: at least 1 year expiration.	box	11	
21	Blade Type: Surgical, sterile, disposable. Size: #11 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre- sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	12	

22	Blade Type: Surgical, sterile, disposable. Size: #11 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre- sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	9		
23	Blade Type: Surgical, sterile, disposable. Size: #12 Blade design: triangular with a sharp, straight cutting edge and a pointed tip. Tip is extremely sharp and elongated. Pre- sharpened with precision honing. Material: Medical-grade stainless steel. Length: 1.5–2 inches (3.8–5 cm) weight: typically, under 1 gram Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	2		
24	Blade Type: Surgical, sterile, disposable. Size: #20 Blade Design: large, curved cutting edge with a broad body. Pre-sharpened. Material: Medical-grade stainless steel. length: 2.5–3 inches (6.4–7.6 cm) Quantity: 100 blades per box Expiry: with at least 1 year expiration.	box	10		
25	Blanket, Newborn Receiving Pranela 29x29 (White)	piece	18		
26	Blood Lancet; sterile; gauge 21-23; for universal lancing device; 200's/box; with at least 1 year expiry	box	21		
27	Blood Transfusion Set, sterile, 180cm, 20macroset, with at least 1 year expiry	piece	210		
28	BP Cuff W/ Inflation Bag, adult, Size: Cuff - 25cm-40cm	piece	12		
29	BP Cuff W/ Inflation Bag, infant Size: Cuff - 14cm-19.5cm	piece	12		
30	BP Cuff With Inflation Pedia Size : Cuff – 4"x 15" Tubing :19.5"	piece	16		

					1
31	Brush, Sterile Surgical Scrub Brush, plain Features: -soft bristles -Easy-to-open packaging for wet or dry hands	piece	3		
32	Buck's Foam traction/Foam Traction, Large	piece	13		
33	Buck's Foam traction/Foam Traction, Medium	piece	13		
34	Buck's Foam traction/Foam Traction, Small	piece	13		
35	Burn Sheet, disposable 40x90 inches, with at least 1 year expiry	piece	3		
36	Cannula, IV, Gauge 18 , with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	1,652		
37	Cannula, IV, Gauge 20, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	2,097		
38	Cannula, IV, Gauge 22, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	2,512		
39	Cannula, IV, Gauge 24, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	1,892		
40	Cannula, IV, Gauge 26, with safety features, automatically covers the sharp bevel, self activating safety mechanism, tapered, silicon , with at least 1 year expiry	piece	1,460		
41	Cannula, Nasal, Adult • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	1,160		
42	Cannula, Nasal, Neonate • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	200		

43	Cannula, Nasal, Pedia • Made from Non Toxic PVC compound • 1.8 meters of non-kink star lumen PVC tubing • Nasal prongs made of soft PVC with at least 1 year expiry	piece	510		
44	Catheter Umbilical, French 3.5, with at least 1 year expiry	piece	70		
45	Catheter Umbilical, French 5, with at least 1 year expiry	piece	70		
46	Catheter, Foley, fr 12, with at least 1 year expiry	piece	329		
47	Catheter, Foley, fr 14, with at least 1 year expiry	piece	484		
48	Catheter, Foley, fr 16, with at least 1 year expiry	piece	292		
49	Catheter, Foley, fr 18, with at least 1 year expiry	piece	110		
50	Catheter, Red Rubber, size: 14, with at least 1 year expiry	piece	10		
51	Catheter, Suction, size 12, with at least 1 year expiry	piece	441		
52	Catheter, Suction, size 14, with at least 1 year expiry	piece	530		
53	Catheter, Suction, size 16, with at least 1 year expiry	piece	636		
54	Catheter,Red Rubber, size: 12, with at least 1 year expiry	piece	20		
55	Cervical Collar, large, with at least 1 year expiry	piece	10		
56	Cervical Collar, medium, with at least 1 year expiry	piece	10		
57	Cervical Collar, small, with at least 1 year expiry	piece	9		

58	Cervical Collar,Adjustable, Support Neck Brace • Product Name: Neck Collar Brace • Material: plastic • Color: Blue and Yellow • Height:12.5-17.5cm/4.9"-6.8" • Length:55-59cm/21.6"-23.2" • 4 Geared Height Adjustment • 4 Geared Height Adjustment Feature: Pre-formed collar with tracheotomy opening for extraction and rehabilitation 4 geared height adjustment mechanism for maximum support of upper cervical spine X-ray, MRI, CT penetratable Polyethylene soft foam lining for easy application and comfort Large tracheal aperture provides access for airway management and other procedures One size fits all	piece	1		
59	Clip Type: for bib Material: Plastic elastic cord with alligator clips at both end, reusable. Size: length: 12-24 inches.	piece	60		
60	Cloth Diaper Birdseye Lampin for Newborn (12's) XL	pack	18		
61	Cord Clamp Umbilical (100's)	box	5		
62	Cotton Applicator Sterile (200'S) Cotton Applicator with single cotton tip (small) Sterile Size: 6 inches, with at least 1 year expiry	box	13		
63	COTTON CANISTER Stainless steel With Cover 10cmx10cm	piece	6		
64	Cotton, 400gms Absorbent cotton for wound treatment or absorption. High absorbent 100% bleach cotton, soft, compact and uniform in size and weight. Absorbent cotton clean safety and comportable and convinient to use	roll	237		
65	Cover Slips 22 x 22mm, (200 piece/pack), Pure White Glass, clear, Thickness: 0.13- 0.16mm); Vacuum sealed	pack	50		
66	Dental self-sealing autoclave sterilization pouch, 135mm x 290mm, 200pcs/box	box	8		
67	Dental self-sealing autoclave sterilization pouch, 190mm x 360mm, 200pcs/box	box	8		

	Diaper, disposable, adult, absorbent, Large,			
68	x10's, with at least 1 year expiry	pack	468	3
69	Diaper, disposable, adult, absorbent, Medium x10's, with at least 1 year expiry	pack	588	3
70	Diaper, New Born 20's, absorbent, disposable, with at least 1 year expiry	pack	18	3
71	DISINFECTANT, Instrument Non- Gluteraldehyde, Alkyl Triamine, 14 days (cold sterilant solution for instrument) 1000ml, with at least 1 year expiry	bottle	18	3
72	Disinfection fluid for endoscope and medical instruments, High level disinfection for reprocessing Instruments, with at least 1 year expiry	gallon	12	2
73	Disposable ECG Electrodes Adult, 50pieces/ pack, with at least 1 year expiry	pack	21	
74	Disposable OR cap x 100's, non-woven	pack	7	
75	Draw Sheet, sliding, reusable, 26" x 53", medical polymer material	piece	20	
76	Dressing Type: Parafin , Antiseptic Active Ingredient: 0.5% Chlorhexidine Acetate Size: 10 cm x 10 cm Packaging: 10 dressings per box Features: Soft, sterile with at least 1 year expiry	box	12	
77	ECG electrodes pads, pedia x 50's, with at least 1 year expiry	piece	2	2
78	ECG Thermal Paper 80mmx20mm	roll	138	3
79	ECG Thermal Print Paper, 210mm x 295mm, compatible with Mindray Beneheart R12 (200's)	pack	37	,
80	Electro surgical Pencil Disposable - 1pc/pouch, Standby mode 220V 60Hz, 2,9 Nonshield, Climate Condition 22c, Relative Humidity 55%	piece	75	5
81	Electrode pads Cardiac monitor compatible for EDAN X12 x 50's, with at least 1 year expiry	pack	10	
	Electrodes Type: for ecg and 2d-echo, disposable, gel type adhesive Size: for adult Packaging: 50 per pack Expiry: with at least 1 year expiration.	pack	40	
83	Endotracheal Guide Wire Fr.6, with at least 1 year expiry	piece	12	
84	Endotracheal Guide wire, Adult fr 14, with at least 1 year expiry	piece	24	

85	Endotracheal Guide wire, neonate fr 10, with at least 1 year expiry	piece	17		
86	Endotracheal Guide wire, pedia fr 12, with at least 1 year expiry	piece	17		
87	Enzymatic Cleaner, (Protolytic Enzyme- based Biological Cleaner for Medical Equipment and Endoscopes), with at least 1 year expiry	liter	60		
88	Eye Sheet Drape (Sterile, disposable) 40x40cm with hole 10cmx10's, with at least 1 year expiry	box	166	6	
89	Face Shield, clear, acrylic, reusable	piece	10		
90	Face Shield, Disposable	piece	120)	
91	Fiberglass orthopedic casting tape, 2" x 4 yards, with at least 1 year expiry	roll	70		
92	Fiberglass orthopedic casting tape, 4" x 4 yards, with at least 1 year expiry	roll	180		
93	Film Dressing with Non-adherent pad 4x10', with at least 1 year expiry	piece	18	3	
94	Film Dressing, transparent, 2x2", with at least 1 year expiry	piece	45	5	
95	Film Dressing, transparent, 4x10", with at least 1 year expiry	piece	110		
96	Film Dressing, transparent, 4x4", with at least 1 year expiry	piece	30		
97	Forcep, Adson Dressing, W/ Teeth 4 3/4", stainless	piece	6	3	
98	Forcep, Adson Dressing, Without Teeth 4 3/4", stainless	piece	6	6	
99	Forcep, Mosquito Forceps (curved), stainless, 7"	piece	7	7	
100	Forcep, Mosquito Forceps (Straight), stainless, 7"	piece	7	,	
101	Forcep, Thumb forcep, stainless 7"	piece	7	7	
102	Forcep, Tissue Forceps, stainless 7"	piece	7		
103	Forceps, Allis Tissue, 7.0" Material: Stainless steel Profile: Serrated Jaw with Teeth Specialty: General Surgery	piece	6		
104	Formalin, 10% solution (ready to use) , 4 liters, with at least 1 year expiry	gallon	8	3	
105	Gauze Pad 4x4x8 Ply, (100'S) Anti-leak core absorbs fluids in 1 second with at least 1 year expiry Sterile, individually wrapped.	box	50		
106	Gauze, absorbent, 28x24 mesh, 36" x 2kgs- 2ply, cotton fabric, with at least 1 year expiry	roll	54		

107	Glass Slide x 72's, unground edges; clear; moist-free	box	100		
108	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (large) x 100's, with at least 1 year expiry	box	595		
109	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (medium) x 100's, with at least 1 year expiry	box	975		
110	Gloves, disposable, latex, powder free, ambidextrous, non-sterile (small) x 100's, with at least 1 year expiry	box	504		
111	Gloves, Nitrile, Powder free, Large, 100's/Box	box	2		
112	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 6.5, 40 pairs per box,, with at least 1 year expiry	box	6		
113	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 7, 40 pairs per box, with at least 1 year expiry	box	6		
114	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 7.5, 40 pairs per box, with at least 1 year expiry	box	6		
115	Gloves, Sterile Gynaecological gloves, elbow length powder free, 480mm, size 8.0,40 pairs per box, with at least 1 year expiry		3		
116	Gloves, Sterile, 6.5, with at least 1 year expiry	pair	650		
117	Gloves, Sterile, 7.0, with at least 1 year expiry	pair	1,118		
118	Gloves, Sterile, 7.5, with at least 1 year expiry	pair	1,012		
119	Glutaraldehyde Solution, 1 gallon, with at least 1 year expiry	gallon	26		
120	Gooseneck Lamp / Droplight With Cover (W/ 5 Wheels) Stainless Stand	unit	2		
121	Gown, Patient, Large Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Large Colors: Green	pieces	110		

102	Gown, Patient, Medium Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Medium Colors: Green Gown, Patient, polyester fabric (Size:3XL, 78" Sweep, 55" Length, 2.5" Sleeve)	piece	100		
	Gown, Patient, Small Multi-Purpose Patient Gown Century Cloth Fabric Scoop Neck Double Color-Coded Tape Ties at Neck Available Options: I.V. Sleeves, I.V. Sleeves with Telemetry Pocket 55% Cotton/45% Polyester Size: Small Colors: Green Gown, PPE, Type B, reusable, free size, any	piece	100		
125	color Half sheet/table cover, green washable, polyester fabric, 150x220cm	piece piece	20		
127	Hand Cleansing Wash Lotion Key Features: -pH 5.5 -Mild Surfactants -Size: 1 liter bottle -Usage: One pump per 10 liters of water Formulation: Aqua Sodium Laureth Sulfate Sodium Chloride PEG-7 Glyceryl Cocoate Cocamidopropyl Betaine Glycerin Disodium Laureth Sulfosuccinate Sodium Benzoate PEG-120 Methyl Glucose Dioleate Sodium Citrate Expiry: At least 1 year Quantity: 1 liter bottle	bottle	20		
	Quantity: 1 liter bottle				

128	Handle/Holder Type: Blade/Scalpel Material: medical grade Stainless Steel Compatibility: designed to fit blades #10, 11, 12, 15	piece	7	7	
129	Heparin cap, (In-stopper), for adult, with at least 1 year expiry	piece	80	D	
130	Hospital Bed Linen/ Bed Sheet Singles 270cm x 170 cm Blue Cotton or Poly- Cotton Blend	piece	40	0	
131	Hospital Bed Linen/ Pillow Case 90cm x 60cm Blue Cotton or Poly- Cotton Blend	piece	40	0	
132	Hot water bag, medium, rubber 850ml capacity	piece	16	6	
133	Hydrocolloid dressing (Control Gel Formula Dressing) 4"x4", with at least 1 year expiry	piece	30	0	
134	Hydrocolloid dressing (Extra Thin Wound Dressing) 4"x4", with at least 1 year expiry	piece	30	0	
135	Ice Bag, size 6	piece	20		_
	ID Bracelet Write-On Adult (100'S), white	box	124		_
137	ID Bracelet Write-On pedia (100'S), blue	box	64		
138	ID Bracelet Write-On pedia (100'S), pink	box	64	4	
139	Incise Drape Antimicrobial, Sterile 20x26cm, with at least 1 year expiry	piece	30	0	
140	Infusion Set, Y-Connector for needles injection site, luer lock fitting needle adaptor, sharp spike, dripping port for constant precision, 200-210cm soft tubing, macrodrip:20 drops, pyrogen free, with at least 1 year expiry	piece	2,081	1	
141	Infusion Set, Y-Connector for needles injection site, luer lock fitting needle adaptor, sharp spike, dripping port for constant precision, 200-210cm soft tubing, microdrip:60 drops, pyrogen free, with at least 1 year expiry	piece	1,746	6	
142	Isolation Gown, individually packed, disposable, Nonsterile, Woven, With elastic cuffs, With neck and waist tie- closures, Freesize, any color	piece	27,200	0	
143	Isopropanol, Benzalkonium Chloride,1000ml (Skin wound & operative disinfectant),(to provide 1 spray in every 10L) FORMULATION: Each 100g of solution contains Isopropanol 63g , with at least 1 year expiry Benzalkonium Chloride025g Purified Water 36.97g	bottle	14	4	

144	Isopropanol, N-Propanol, Mecetronium Ethylsulfate, 1000ml, with at least 1 year expiry	bottle	20	
145	IV Stand, 4 Hooks, stainless , well balance, easy rolling, height range 52.5"-94", twist locks, 5 wheels	unit	11	
146	Kick Bucket, Stainless, With Pail Stand: tubular frame: stainless steel 18/10 height: ± 90 cm 4 or 5 antistatic castors with rubber bumper (± 5 cm diameter) Pail: stainless steel 18/10 capacity: at least 5 litres diameter: at least 30 to 40 cm	set	2	
147	Kidney Basin Stainless, 20.5 cm, 8" x 9.0cm, 1/2x4.0cm, 1 1/2"	piece	4	
148	Knee Immobilizer/Splint, Large, with at least 1 year expiry	piece	8	
149	Knee Immobilizer/Splint, Medium, with at least 1 year expiry	piece	8	
150	Knee Immobilizer/Splint, Small, with at least 1 year expiry	piece	8	
151	Knee Immobilizer/Splint, XL, with at least 1 year expiry	piece	8	
152	Laparotomy pack, Disposable Sterile Contents: 1 Back Table, 2 mayo stand cover, 5 standard surgical gowns, 10 hand towels, 1 laparotomy drape, 4 adhesive utility drapes, with at least 1 year expiry	pack	25	
153	Laparotomy Sheet/Drape, polyester fabric, 240/210x320cm, with at least 1 year expiry	piece	20	
154	LAPAROTOMY SPONGE, STERILE 8"X12" X 12PLY, 28X24 MESH, with at least 1 year expiry	pack	50	
155	Laryngoscope 4 Blades Fiber Optic, #1, #2, #3, #4	unit	1	
156	Linen Hamper (Size: L: 20" x W: 20" x H: 36"), stationary	piece	2	
157	Lubricant, Gel, 150g, with at least 1 year expiry	tube	30	
158	Manual Resucitator Infant Neonate	piece	1	
159	Mask, KF94 Respiratory Protective Face Mask, 50pcs per pack, with at least 1 year expiry	pack	99	

	Mask, KN95, protective mask, with adjustable nose clip, elastic ear loops, no exhalation valves x50s, with at least 1 year expiry	box	317	
161	Mask, N88, Surgical x 50's, with at least 1 year expiry	box	4,949	
162	Mask, N95, Disposable, Fluid Resistant, with at least 1 year expiry	piece	1,200	
162	Mask, Non-Rebreather, Adult, with at least 1 year expiry	piece	20	
164	Mask, Oxygen, Pedia Non-ToxicNon-pyrogenic Comes with tubing , with at least 1 year expiry Dimension: 24cm x 3.6cm x 15cm	pieces	480	
	Mask, Oxygen, for Adult Non-Toxic Non-pyrogenic Comes with tubing , with at least 1 year expiry	piece	503	
	Mask, Oxygen, for Neonate Non-Toxic Non-pyrogenic Comes with tubing , with at least 1 year expiry	pieces	380	
167	Mask,(Duck type) N95, with at least 1 year expiry	piece	180	
108	Maternity Pads 8'S Comfortable Soft Pure Cotton with at least 1 year expiry	pack	120	
1 1 0 0	Mayo stand cover, green washable, polyester fabric, 80x140 cm	piece	20	
170	Measuring/Medication Cup, 50ml (Plastic)	piece	30	
171	Medicine Cup 30mL (Glass)	piece	240	
172	 Mucus Extractor Clear and transparent container at least 25ml with clear markings Tubings are made from soft, kink-resistant material. With Extra lid and Universal connectors , with at least 1 year expiry 	piece	30	
173	Nasal dressing, disposable, medical hemostatic PVF Sponge Nose Bleeding Hemostatic	piece	15	
174	Nasoparyngeal Airway size 12, with at least 1 year expiry	piece	18	
175	Nasoparyngeal Airway size 14, with at least 1 year expiry	piece	18	
176	Nasoparyngeal Airway size 24, with at least 1 year expiry	piece	18	

177	Nasoparyngeal Airway size 28, with at least	piece	18		
	1 year expiry Nasoparyngeal Airway size 32, with at least	piece	18		
	1 year expiry Nebulizing Kit, adult Nebulizer Kit Set 1 Mask 1 Medication chamber cup 1 Oxygen tube , with at least 1 year expiry	set	576		
180	Nebulizing Kit,with mask, pedia Nebulizer Kit Set 1 Mask 1 Medication chamber cup 1 Oxygen tube ≥ 2 years expiration	set	390		
181	Needle Disposable Hypodermic 100'S, gauge 21 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3		
182	Needle Disposable Hypodermic 100'S, gauge 23 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3		
183	Needle Disposable Hypodermic 100'S, gauge 25 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3		
	Needle Disposable Hypodermic 100'S, gauge 27 Sharp lancet point Silicone coating Thin walled needles Short bevel options ≥ 2 years expiration (provide samples)	box	3		
182	Needle Holder, 7", stainless	piece	7		

186	Needle, Reverse Cutting 27mm, sterile, 1/2 Circle x 12's, with at least 1 year expiry	box	6		
187	Needle, Reverse Cutting, 73mm, sterile, 1/2 Circle x 12's, with at least 1 year expiry	box	6		
188	Needle, Spinal, G23 x 3.5" (Sharp, Well- polished, Well-fitted plunger and barrel, Not easily detached, Sterile), with at least 1 year expiry	piece	180		
189	Nelaton Catheter Fr 12, with at least 1 year expiry	piece	152		
190	Neurological Hammer Set (5'S Kinds) Pinwheel /Geer Wheel Hammer T-shape Hammer / Triple-cornered Hammer Taylor Buck Hammer Babinski Hammer /Metal Rod Hammer Plastic Rod Hammer (provide samples each hammer)	set	1		
191	Opener Type: for ampoule (handy) size range 7.15 mm to 9.75 mm volume compatibility: 1-15 mL Material: made from durable, high-quality materials such as medical-grade plastic (e.g., polycarbonate or ABS)	piece	7		
192	Oxygen Regulator	piece	50		
	Pads for AED, adult, compatible with Radian Heart Guardian HR-501, with at least 1 year expiry	piece	8		
194	Pajama pants for newborn infant (6's white)	pack	18		
195	Patient Chart Aluminum, Portrait Matte-finished anodized aluminum with rounded corners and edges Back cover thumb-notch Full length aluminum hinge Sturdy, three coil, steel spring mechanism Complete with two rubber bumpers and name plate Dimension: 36cm x 25.5cm x 35.5cm	piece	10		
196	Penlight/Otoscope Penlight with Pupil Gauge, Chrome Plated finish, LED lamp Chrome Plated Diagnostic Penlight with Pupil Gauge. with batteries Size: 13×2 inches	piece	3		

197	Pipette Tips, Yellow, 1000's	pack	6		
198	Plaster Adhesive, Tape cloth 1.25cm x 5m tan-coloured zinc oxide tape for securing dressings, and is both waterproof and dirt repellent Can be worn for extended periods without irritating normal skin. Easy to tear and is permeable to both air and water vapour to prevent maceration. , with at least 1 year expiry	roll	6		
199	Plaster Adhesive, Tape cloth 2.5cm x 5m tan-coloured zinc oxide tape for securing dressings, and is both waterproof and dirt repellent Can be worn for extended periods without irritating normal skin. Easy to tear and is permeable to both air and water vapour to prevent maceration. , with at least 1 year expiry	roll	97		
200	Plaster Of Paris (POP), 4", with at least 1 year expiry	roll	30		
201	Plaster Of Paris (POP), 6", with at least 1 year expiry	roll	20		
202	Plaster, Adhesive, Paper Tape, 1" x 10yd x 12s, with at least 1 year expiry	box	83		
203	Plaster, Adhesive, Paper Tape, 1/2" x 10yd x 24's, with at least 1 year expiry	box	24		
204	Plaster, Adhesive, Paper Tape, 2" x 10yd x 6's, with at least 1 year expiry	box	102		
205	Plaster, Adhesive, Transparent Tape, 1" x 10yd x 12's, with at least 1 year expiry	box	18		
	Portable pill tablet cutter splitter	piece	4		
207	 PPE TYPE B (Personal Protective Equipment) 1. Disposable gloves; 2. disposable shoe cover; 3. disposable surgical gloves; 4. gown (any color); 5. N95 face mask; 6. disposable head cap garterized; 7. surgical face mask 	set	20		
208	Pressure Infusion (400psig) Extension Set with Microclave Clear Needle-Free Connector, slide clamp,Rotating Male Luer lock, with at least 1 year expiry	piece	45		
209	Pulse Oximeter 5's rapid reading, OLED Display with lanyard	piece	112		

210	 Pulse Oximeter Pedia Accurate Measurement 1. Dual color LED displays 2. Low power consumption; battery-low indicator; 3. Level 1-10 adjustable brightness, 6 display modes; 4. Optional multi-color silicon rubber boot and carrying case; Included Accessories: 2 x AAA 1.5V Alkaline Battery Sling strap 	set	12		
211	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 1 (1.20mmx64mm) x 12's, with at least 1 year expiry	box	6		
212	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 4 (.90mmx43mm) x 12's, with at least 1 year expiry	box	6		
213	Regular surgeon needle 1/2 circle Taper point , non-sterile, stainless, size 7 (.61mmx27mm) x 12's, with at least 1 year expiry	box	6		
214	Safety box and inceneration container for used needles and syringes, 5 liters	piece	86		
215	Scissors, Iris (Straight) 4 1/2", stainless	pair	7		
216	Scissors, Iris, (Curved) 4 1/2", stainless	pair	7		
217	Scissors, Mayo (curved), stainless, 7 1/4"	pair	8		
218	Scissors, Mayo (Straight), stainless, 7 1/4"	pair	8		
219	Scissors, Metzenbaum (Straight), stainless, 7"	pair	6		
220	Scissors, Metzenbaum (Curved), stainless, 7"	pair	6		
221	Scissors, Metzenbaum Curved, 8"	pair	3		
222	Scissors, Surgical (Straight) 7 1/4", stainless	pair	4		
223	Scissors, Trauma Shears 7 1/4" Emergency Scissors	pair	2		
224	Shoe cover, Disposable, non-woven, blue	pair	3,180		
225	Sling Type: Arm Size: Large Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	106		

226	Sling Type: Arm Size: Medium Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	91		
227	Sling Type: Arm Size: Small Material: cotton Adjustable Color: any color Design: ergonomic fit	piece	58		
228	SMS Wrap Blue 120cmx120cm (200s) 100% Polypropylene material • Non-woven fabric manufactured by the combination of spunbond (S) and meltblown technologies. SMS (Spunbond+Meltblown+Spunbond) • Lightweight, durable and breathable • Water and blood resistant • Provides outstanding hydrostatic head properties and superb protection against fluids and particles. • Wrap is drapeable and soft • Weight: 60gsm • Dimension: 120cmX120cm • Standard and Test Method: EN1149, EN13795, anti-bacterial test • Medical Repellence (Alcohol +Oil+Blood repellent) and Anti-static • Sterilization Method: Suitable for Steam, ETO, formaldehyde in low temperature sterilization and Plasma sterilization	pack	12		

229	 SMS Wrap blue, 60cm x 60cm (500 pcs./pack) for sterilization 100% Polypropylene material Non-woven fabric manufactured by the combination of spunbond (S) and meltblown technologies. SMS (Spunbond+Meltblown+Spunbond) Lightweight, durable and breathable Water and blood resistant Provides outstanding hydrostatic head properties and superb protection against fluids and particles. Wrap is drapeable and soft Weight: 60gsm Dimension: 120cmX120cm Standard and Test Method: EN1149, EN13795, anti-bacterial test Medical Repellence (Alcohol +Oil+Blood repellent) and Anti-static Sterilization Method: Suitable for Steam, ETO, formaldehyde in low temperature sterilization and Plasma sterilization 	pack	1		
230	Soap, Sulfur, 135 grams, with at least 1 year expiry	piece	172		
231	Sphygmomanometer, BP Aneroid Child BP Cuff with Inflation Pedia BP Bulb Genuine brass gauge 1 x Handy zipper case 1 x Durable adult inflation system 1 x Authentic luminous dial face 1 x Long lasting thicker rubber bladder	set	4		
232	Sphygmomanometer, BP Aneroid With Wheels Blood Pressure Aneroid Sphygmomanometer BP Cuff Assembly Adult BP Bulb Spiral tubing Stand with wheels Manual Dimension: 58cm x 50cm x 21cm Complete with Latex inflation system feature an adjustable calibrated black nylon cuff, 8 ft coiled tubing with connector, large circular basket, mobile stand assembly, wall- mounted bracket. 100% MERCURY FREE	set	10		

233	Sphygmomanometer, BP Aneroid, Desktype Manual 1 BP Desktype 1 BP Cuff with inflation (Standard Adult) 1 BP Bulb 1 Spiral	set	9		
234	Sphygmomanometer, desk type, clock model, square shaped. 14cm diameter dial, 300 mm aneroid meter	unit	19		
235	Splint, adult, large	piece	40		
	Splint, adult, medium	piece	354		
	Splint, adult, small	piece	44		
	Splint, neonate, medium	piece	400		
	Splint, neonate, small	piece	50		
	Splint, pedia, large	piece	24		
	Splint, pedia, medium	piece	340		
242	Splint, pedia, small	piece	40		ļ
243	Stethoscope Deluxe, for adult Finest Craft Finish Multi Patents 28 inch tube Patented Snap Tight Soft-Sealing Eartips Durable, latex-free Patented floating diaphragm with non-chill rim Non-chill rim and diaphragm Anatomically designed headset	piece	3		
244	Stethoscope, Double Sided, single tube	piece	28		
245	Stethoscope, dual diaphragm Features: 1. Dual Diaphragm Chest Piece 2. Single-Piece Diaphragm 3. Frequency Adjustment 4. Adjustable Ear Tubes 5. Comfortable Ear Tips 6. Stainless Steel Finish for chest piece and stem Tubing Length: 69 cm (27.2 inches) Chest Piece Finish: Stainless Steel Package Includes: 1 Dual Diaphragm Stethoscope 1 Non-Chill Rim for Pediatric Side Comfortable Snap-Tight Ear Tips	piece	9		
246	STRIP, STEAM INDICATOR (CHEMICAL INDICATOR THAT PROVIDES DISTINCT COLOR CHANGE WHEN EXPOSED TO THE STERILIZATION PROCESS) x 100's, with at least 1 year expiry	box	240		

247	Strips, Butterfly 1/2 inch x 4inch x 50's Nonwoven rayon backed material reinforced with filaments for strength, with at least 1 year expiry	box	2	
248	Strips, Plaster (100'S) 100 strips / box Non stick wound pad protects and cushions the wound For all types of small wounds Flexible and durable Strong adhesion with at least 1 year expiry	box	3	
249	Suction Type: set, poole drain Material: plastic Color: transparent , clear with at least 1 year expiry	piece	60	
250	Surgical Gown, green washable, polyester fabric, 130x150 cm	piece	20	
251	Surgical OR Towel, 17x27" Size 45cmx61cm Color: Blue	piece	70	
252	Suture, 2.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	55	
253	Suture, 3.0 Chromic Gut, C-6 Needle 18.7 mm, 3/8 Cutting x 12's, with at least 1 year expiry	box	2	
254	Suture, 3.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	55	
255	Suture, 4.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	40	
256	Suture, 0 Taper/Round Needle 1/2 Circle 36mm, Polyglactin/Polyglycolic, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60	
257	Suture, 0 Taper/Round Needle, Polyglactin, 1/2 Circle 36mm, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60	
258	Suture, 1.0 Chromic RB/Taper Needle, x 12's, with at least 1 year expiry	box	40	
259	Suture, 1.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	4	
260	Suture, 2,0, silk, sterile, non-absorbable, braided natural, at least 30 inches (approximately 75cm) in length, with 24mm 3/8 circle, reverse cutting needle, x 12's, with at least 1 year expiry	box	60	
261	Suture, 2.0 , Nylon, Cutting, Suture, x 12's, with at least 1 year expiry	box	114	

-				
262	Suture, 2.0 Taper/Round Needle 1/2 Circle 36mm, Polyglactin/Polyglycolic, Sharp Sterile Needle, x 12's, with at least 1 year expiry	box	60	
263	Suture, 2.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	10)
264	Suture, 2.0, Cutting, Polyglactin/Polyglycolic x 12's, with at least 1 year expiry	box	60	
265	Suture, 2.0, Plain Surgical Gut Suture w/ 30mm Round 3/8 Curve Needle 75cm length, Sterile, with at least 1 year expiry	piece	60	
266	Suture, 2.0, silk, non absorbable suture sterile Tudor Curve Cutting x 12's, with at least 1 year expiry	box	10	
267	Suture, 2.0, silksterile, non-absorbable, braided natural, at least 24 inches (approximately 60cm) in length,x 12's, with at least 1 year expiry	box	60	
268	Suture, 3.0 With Taper/Round Needle 26mm, Sterile, Polyglactin/Polyglycolic x 12's, with at least 1 year expiry	box	60	
269	Suture, 3.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	7	7
270	Suture, 3.0, Nylon, with Needle 3/8 curve reverse cutting edge 26mm, Stainless Steel Needle, Sharp, Well-polished, Sterile, x 12's, with at least 1 year expiry	box	110	
271	Suture, 3.0, silk, non absorbable suture sterile Tudor Curve Cutting x 12's, with at least 1 year expiry	box	10	
272	Suture, 3.0, silk, sterile, non-absorbable, braided natural, at least 24 inches (approximately 60cm) in length,x 12's, with at least 1 year expiry	box	60)
273	Suture, 4.0 , Polyglactin,Reverse Cutting 19mm 3/8 Circle, 27" (70cm), Sterile, x 12's, with at least 1 year expiry	box	60	
274	Suture, 4.0 Taper/Round Needle 22mm,Polyglactin/Polyglycolic, Sterile, x 12's, with at least 1 year expiry	box	60	
275	Suture, 4.0, Chromic Catgut brown, (3 Metric) Curve Cutting x 12's, with at least 1 year expiry	box	7	7
276	Suture, 4.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	
277	Suture, 4.0, silk, non absorbable suture sterile, Curve Cutting x 12's, with at least 1 year expiry	box	10	

	Suture, 5.0, Chromic Catgut brown, (3			
278	Metric) Curve Cutting x 12's, with at least 1 year expiry	box	7	
279	Suture, 5.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	
280	Suture, 5.0, silk, non absorbable suture sterile, Curve Cutting x 12's, with at least 1 year expiry	box	10	
281	Suture, 6.0, Nylon, Needle Cutting, Sterile, x 12's, with at least 1 year expiry	box	110	
282	Suture, 9.0, silk, sterile, surgical, black, monofilament polyamide, at least 5 inches (approximately 13cm) in length, with 5mm 3/8 circle taper point needle, x 12's, with at least 1 year expiry	box	60	
283	Suturing thread, 2.0, (Silk), 1/2 circle curved, cutting 26mm, sterile, with at least 1 year expiry	piece	24	
284	Suturing thread, 3.0, (Silk), 1/2 circle curved, cutting 26mm, sterile, with at least 1 year expiry	piece	24	
285	Suturing thread, (Chromic) 2.0 1/2 round bodied 40mm, sterile, with at least 1 year expiry	piece	40	
286	Suturing thread, 2.0, (Nylon) 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	
287	Suturing thread, 3.0, (Nylon), 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	
288	Suturing thread, 5.0 , (Nylon), 1/2 reverse cutting 26mm, sterile, with at least 1 year expiry	piece	20	
289	Syringe, 10cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	335	
290	Syringe, 1cc, Disposable, g25 x 100's (slip tip syringes with lock, double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	343	
291	Syringe, 20cc, W/O Needle (Luer Lock) x 50's Without needles All syringes sealed and sterile , with at least 1 year expiry	box	2	
292	Syringe, 3cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	450	

293	Syringe, 50cc, W/O Needle (Luer Lock) x 20's Without needles All syringes sealed and sterile , with at least 1 year expiry	box	8	
294	Syringe, 5cc, Disposable, g23 x 100's (Luer Lock tip syringes with double bevel ultra-thin wall and ultra sharp needles), with at least 1 year expiry	box	433	
295	Syringe, asepto, adult, with at least 1 year expiry	piece	194	
296	Syringe, insulin, disposable, 1/2cc, u-100, g29,x100's (slip tip edge), with at least 1 year expiry	box	324	
297	TAPE, STEAM AUTOCLAVE STERILIZATION INDICATOR, 1" with at least 1 year expiry	roll	7	
298	Test Tube, Blue Top, glass, 2ml x 100's; with at least 1 year expiry	tray	2	
299	Test Tube, Lavender Top, 0.5 ml x 100's; with at least 1 year expiry	tray	90	
300	Test Tube, Lavender Top, glass, 2ml x 100's; with at least 1 year expiry	tray	2	
301	Test Tube, Lavender Top, glass, 5ml x 100's; with at least 1 year expiry	tray	1	
302	Test Tube, Red Top, glass, 5ml x 100's; with at least 1 year expiry	tray	100	
303	Thermal Paper for Defirillator (Reanibex 700) 50mmx30mm	roll	35	
304	Thermometer, Digital Armpit 60 sec Response Time LCD Display Auto Shut Off Function Memory For Last Reading Display in both Celsius and Fahrenhiet Water Resistant MEASUREMENT Measurement Accuracy Measurement Range 89.6 – 107.6° F Measurement Accuracy Measurement Variance ±0.2°F POWER REQUIREMENTS Power Source Battery	piece	28	

305	Thermometer, Digital, (Rectal) Color: white LATEX FREE: Yes MEASUREMENT TYPE: Dual Scale REUSABLE OR DISPOSABLE: Reusable SHEATH INCLUDED:Yes TEMPERATURE LOCATION:Rectal TEMPERATURE RANGE: 90.0-109.9 F 32.0- 42.9 C THERMOMETER TYPE: Digital UNSPSC:42182201 USE: Reusable WATERPROOF: Yes	piece	28		
306	Thermometer, Ear Infrared Gentle temperature measurement for infants and young children. The Ear thermometer provides quick 1 second readings, with professional accuracy. Gentle temperature measurement for both adults &, infants/young children Product Features – 9 Sets memory – 1 Second Quick Measurement – Fever Alarm with Beeper (for body temperature 37.5°,C (99.5°,F) – Selectable °,C / °,F mode – Ergonomic Design for easy handling	piece	45		
307	Thermometer, Non-contact Infrared 1 Second Measurement °C/°F Switchable 50 Memory Red Backlight Fever Alert Infrared Technology With clear, backlit LCD display, HTD8813 can accurately record body surface and forehead temperatures of infants and adults, without contacting the body. with at least 1 year expiry	piece	23		
308	Thermometer, Refrigerator/Freezer (Round Type) 2.5" dial design Accurate from 20-degree f-80-degree f Deluxe 2-way bracket hangs or stands Durable Stainless Steel	piece	1		
	Safe temperature zone indicators				
309	Safe temperature zone indicators Tongue Depressor Wooden (Sterile) 100'S, with at least 1 year expiry	box	16		

				I	· · · · · · · · · · · · · · · · · · ·
311	Trauma Pelvic Orthotic Devices Features: Immediate Pelvic Fracture Treatment: Effective for stabilizing fractures right at the scene. Ease of Application: Can be applied by a single EMS professional in the field with minimal effort. Symmetrical Compression: Delivers uniform, circumferential compression for optimal stabilization and control. Pulley System: Includes a pulley system style for precise tightening without needing removal for imaging procedures such as MRI, X-Ray, or CT scans. Universal Fit: Designed to fit both adults and children, accommodating a wide range of body sizes. Compact and Visible Packaging: Packaged in a compact, highly visible, and quick- opening package with clear instructions for use. Specifications: Dimensions (Packaged): 8.2 inches (Height) x 9.1 inches (Width) x 0.8 inches (Depth) Weight: 12 oz Closure: Pull tab fastening closure Material: Non-metal fabric belt Circu One size fite meet Tray, instrument	piece	1		
312	Type: With Cover (Ordinary) Material: medical grade stainless steel Size: 12x10x2.5"	piece	4		
313	Tray, instrument Type: With Cover (Ordinary) Material: medical grade stainless steel Size: 8x3x1.5"	piece	4		
314	Tray, Stainless steel, rectangular tray with cover, 31cmx21cmx5cm	piece	1		
315	Triangular bandage clothe white, with at least 1 year expiry	piece	5		
316	Tube, Endotracheal 2.0 fr.8, with at least 1 year expiry	piece	60		
317	Tube, Endotracheal 2.5 fr.10, with at least 1 year expiry	piece	59		
318	Tube, Endotracheal 3.0 fr.12, with at least 1 year expiry	piece	59		
319	Tube, Endotracheal 3.5 fr.14, with at least 1 year expiry	piece	14		
320	Tube, Endotracheal 4.0 fr.16, with at least 1 year expiry	piece	33		
321	Tube, Endotracheal 4.5 fr.18, with at least 1 year expiry	piece	29		
322	Tube, Endotracheal 5.0 fr.20, with at least 1 year expiry	piece	5		

323	Tube, Endotracheal 5.5 fr.22, with at least 1 year expiry	piece	3		
324	Tube, Endotracheal 6.0 fr.24, with at least 1 year expiry	piece	45		
325	Tube, Endotracheal 6.5 fr.26, with at least 1 year expiry	piece	95		
326	Tube, Endotracheal 7.0 fr.28, with at least 1 year expiry	piece	135		
327	Tube, Endotracheal 7.5 fr.30, with at least 1 year expiry	piece	135		
328	Tube, Endotracheal 8 fr.33, with at least 1 year expiry	piece	74		
329	Tube, Nasogastric, Pediatirc fr.5, silicon with tip cover, with at least 1 year expiry	piece	338		
330	Tube, Nasogastric, ADULT fr.16, silicon with tip cover, with at least 1 year expiry	piece	1,542		
331	Tubing Type: Penrose, Size: 1 Material: Latex with at least 1 year expiry (Provide samples)	piece	10		
332	Tubing Type: Penrose, Size: 1/2 Material: Latex with at least 1 year expiry (Provide samples)	piece	14		
333	Tubing Type: Penrose, Size: 1/4 Material: Latex with at least 1 year expiry (Provide samples)	piece	10		
334	Tubing Type: Penrose, Size: 3/4 Material: Latex with at least 1 year expiry (Provide samples)	piece	14		
335	Ultrasound thermal paper UPP-100s 110mm x 20m	roll	30		
	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Large Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	24		

	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Medium Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	74		
338	Underpads, Blue Disposable Underpads Packaging: 10's / pack Size: Small Absorbent, soft fluff fill Waterproof Sealed on all four sides to prevent leakage Non-skid blue backing , with at least 1 year expiry	pack	28		
339	URINAL, PLASTIC MALE, 1000ml/32oz	piece	25		
340	Urine Bag, 2000ml capacity, with at least 1 year expiry	piece	196		
341	Urine Collector, pedia Features: comfort Foam Padding Hypoallergenic Adhesive Graduated Plastic Bag Latex-Free Capacity: Each urine collector includes a plastic bag with a 100ml capacity Quantity: 100 units per pack	piece	120		
342	Urine/Stool Collection Cup; Sterile, Individually Wrapped, Transparent, Screw cap; 60ml; with at least 1 year expiry	piece	1,000		
343	Uterine curette 10 1/2" Size: 0 6.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
344	Uterine curette 10 1/2" Size: 0 6.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
	Uterine curette 10 1/2" Size: 00 5.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
346	Uterine curette 10 1/2" Size: 00, 5.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		

		<u> </u>		 	<u> </u>
347	Uterine curette 10 1/2" Size: 000 4.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
348	Uterine curette 10 1/2" Size: 000 4.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
349	Uterine curette 10 1/2" Size: 1 7.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
350	Uterine curette 10 1/2" Size: 1 7.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
351	Uterine curette 10 1/2" Size: 10 20.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel uterine currete blunt 10 1/2" #	piece	1		
352	Uterine curette 10 1/2" Size: 10 20.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
353	Uterine curette 10 1/2" Size: 11 21.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
354	Uterine curette 10 1/2" Size: 11 21.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
355	Uterine curette 10 1/2" Size: 2 8.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
356	Uterine curette 10 1/2" Size: 3 9.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
357	Uterine curette 10 1/2" Size: 3 9.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
358	Uterine curette 10 1/2" Size: 4 11.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		

r					
359	Uterine curette 10 1/2" Size: 4 11.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
360	Uterine curette 10 1/2" Size: 5 12.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
361	Uterine curette 10 1/2" Size: 5 12.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
362	Uterine curette 10 1/2" Size: 6 14.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
363	Uterine curette 10 1/2" Size: 6 14.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
364	Uterine curette 10 1/2" Size: 7 15.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
365	Uterine curette 10 1/2" Size: 7 15.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
366	Uterine curette 10 1/2" Size: 8 16.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
367	Uterine curette 10 1/2" Size: 8 16.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
368	Uterine curette 10 1/2" Size: 9 19.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
369	Uterine curette 10 1/2" Size: 9 19.0mm Loop Type: Sharp, malleable shaft Material: medical grade stainless steel	piece	1		
370	Uterine curette 10 1/2" Size:2 8.0mm Loop Type: Blunt, malleable shaft Material: medical grade stainless steel	piece	1		
371	Vinegar, Red Cane, 985ml	bottle	8		

372	Volumetric, 150cc calibrated burette chamber, float valve, micro drip, 60 drops, needle free injection port, 200-210cm tubing, Y-connector, with at least 1 year expiry	piece	860		
373	Wadding Sheet, 4" x 5 yards, with at least 1 year expiry	roll	183	3	
374	Wadding Sheet, 6" x 5 yards, with at least 1 year expiry	roll	179		
375	Water, Distilled, 6 Liters, with at least 1 year expiry	bottle	96	6	
376	Weighing Scale with height measurement, dial type Max. Weighing:160kg Min. Value Per Division:0.5kg Height Range To Be Measured:81-210cm Min. Value Of Height Per Division:0.5cm Load Platform Area (L×W):375×275mm Measurement (L×W×H):695×286×930mm Net Weight:15kg Gross Weight:17kg Please include callibration certificate if available	unit	3	3	
377	Weighing scale, infant -Capacity: 20kg -Grad: 100g -Product Dimension: 54.5×34.5×13.5cm -Product Weight: 3.2kg -Country of Origin: China -Packing Size:55.2x33x15cm -Packing Weight: 4kgs -Includes: instant tray spring mechanism Please include callibration certificate if available	set	1		
378	Wheelchair heavy duty (Double Cross bar), stainless, maximum weight limit: 700lbs	unit	8	3	
379	Wheelchair, foldable, heavy duty, lighweight travel, manual with break and IV stand, maximum weight limit: 700lbs	unit	2		
380	Wound Irrigation Solution, 350mL, with at least 1 year expiry	piece	36	6	
381	Wound Irrigation Solution, 40mL, with at least 1 year expiry	piece	30		
				Grand Total	0.00

REPUBLIC OF THE PHILIPPINES) CITY/MUNICIPALITY OF _____) S.S.

AFFIDAVIT

I, [Name of Affiant], of legal age, [Civil Status], [Nationality], and residing at [Address of Affiant], after having been duly sworn in accordance with law, do hereby depose and state that:

1. [Select one, delete the other:]

[*If a sole proprietorship:*] I am the sole proprietor or authorized representative of [Name of Bidder] with office address at [address of Bidder];

[If a partnership, corporation, cooperative, or joint venture:] I am the duly authorized and designated representative of [Name of Bidder] with office address at [address of Bidder];

2. [Select one, delete the other:]

[If a sole proprietorship:] As the owner and sole proprietor, or authorized representative of [Name of Bidder], I have full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached duly notarized Special Power of Attorney;

[If a partnership, corporation, cooperative, or joint venture:] I am granted full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached [state title of attached document showing proof of authorization (e.g., duly notarized Secretary's Certificate, Board/Partnership Resolution, or Special Power of Attorney, whichever is applicable;)];

- 3. [Name of Bidder] is not "blacklisted" or barred from bidding by the Government of the Philippines or any of its agencies, offices, corporations, or Local Government Units, foreign government/foreign or international financing institution whose blacklisting rules have been recognized by the Government Procurement Policy Board, <u>by itself or by</u> <u>relation, membership, association, affiliation, or controlling interest with another blacklisted person or entity as defined and provided for in the Uniform Guidelines on Blacklisting;</u>
- 4. Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct;
- 5. [Name of Bidder] is authorizing the Head of the Procuring Entity or its duly authorized representative(s) to verify all the documents submitted;
- 6. [Select one, delete the rest:]

[If a sole proprietorship:] The owner or sole proprietor is not related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical

Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a partnership or cooperative:] None of the officers and members of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a corporation or joint venture:] None of the officers, directors, and controlling stockholders of *[Name of Bidder]* is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

- 7. [Name of Bidder] complies with existing labor laws and standards; and
- 8. [Name of Bidder] is aware of and has undertaken the responsibilities as a Bidder in compliance with the Philippine Bidding Documents, which includes:
 - a. Carefully examining all of the Bidding Documents;
 - b. Acknowledging all conditions, local or otherwise, affecting the implementation of the Contract;
 - c. Making an estimate of the facilities available and needed for the contract to be bid, if any; and
 - d. Inquiring or securing Supplemental/Bid Bulletin(s) issued for the [Name of the Project].
- 9. [Name of Bidder] did not give or pay directly or indirectly, any commission, amount, fee, or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.
- 10. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.

IN WITNESS WHEREOF, I have hereunto set my hand this ____ day of ____, 20___ at ____, Philippines.

[Insert NAME OF BIDDER OR ITS AUTHORIZED REPRESENTATIVE] [Insert signatory's legal capacity] Affiant

[Jurat] [Format shall be based on the latest Rules on Notarial Practice]

For Goods Offered From Abroad

Name of Bidder _____. Invitation to Bid¹ Number ____. Page _____ of

1	2	3	4	5	6	7	8	9
Item	Description	Country of origin	Quantity	Unit price CIF port of entry (specify port) or CIP named place (specify border point or place of destination)	Total CIF or CIP price per item (col. 4 x 5)	Unit Price Delivered Duty Unpaid (DDU)	Unit price Delivered Duty Paid (DDP)	Total Price delivered DDP (col 4 x 8)

[signature]

[in the capacity of]

Duly authorized to sign Bid for and on behalf of _____

¹ If ADB, JICA and WB funded projects, use IFB.

For Goods Offered From Within the Philippines

Name of Bidder _____. Invitation to Bid² Number _. Page of ____.

1	2	3	4	5	6	7	8	9	10
Item	Description	Country	Quantity	Unit price EXW	Transportation	Sales and	Cost of	Total Price,	Total Price
		of origin		per item	and Insurance	other taxes	Incidental	per unit	delivered Final
					and all other	payable if	Services, if	(col 5+6+7+8)	Destination
					costs	Contract is	applicable, per		(col 9) x (col 4)
					incidental to	awarded, per	item		
					delivery, per	item			
					item				

[signature]

[in the capacity of]

Duly authorized to sign Bid for and on behalf of _____

² If ADB, JICA and WB funded projects, use IFB.

Statement of all Ongoing Government & Private contracts including contracts awarded but not yet started

Business Name : ______Business Address : _____

						Amo	ount	End user's
Name of Contract/ Project Cost	Date of Contract	Contract Duration	Owner's Name and Address	Kinds of Goods	Date of Delivery	Contract	Value of Outstanding Contract	acceptance or official receipt(s) or sales invoice issued for the contract
<u>Government</u>								
Drivete								
Private								
	ototomori					Total Cast		
Note: This supported with		shall be				Total Cost		

1 Notice of Award , Contract, NTP, and other docs, if necessary

Submitted by : _____

(Printed Name & Signature)

:_____

Designation Date

Statement of all completed Government & private contracts which are similar in nature and complexity to the Contract to be Bid

Business Name : _____ Business Address : _____

Name of Contract/ Project Cost	Date of Contract	Contract Duration	Owner's Name and Address	Kinds of Goods	Date of Delivery	Contract Amount	End user's acceptance or official receipt(s) or sales invoice issued for the contract
Government							
<u>Private</u>							
Note: This sta support	atement sha rted with:						

supported with: 1 Notice of Award, Contract, NTP,

and other docs, if necessary

Submitted by : _____

(Printed Name & Signature)

:_____

:_____

Designation Date

Statement of Bidder's Single Largest Completed Contract (SLCC)

Business Name : _____ Business Address : _____

Name of Contract/ Project Cost	Date of Contract	Contract Duration	Owner's Name and Address	Kinds of Goods	Date of Delivery	Amount of completed contracts, adjusted by the Bidder	End user's acceptance or official receipt(s) <i>and</i> sales invoice issued for the contract
<u>Government</u>							
Private							
Note: This statement s	Total Cost						

1 Notice of Award, Contract, NTP, and other docs, if necessary

Submitted by	:	
		(Printed Name & Signature)
Designation	•	· _ ·
Date	:	

Date: _____ Invitation to Bid¹ N^o: _____

To: [name and address of Procuring Entity]

Gentlemen and/or Ladies:

Having examined the Bidding Documents including Bid Bulletin Numbers [insert numbers], the receipt of which is hereby duly acknowledged, we, the undersigned, offer to [supply/deliver/perform] [description of the Goods] in conformity with the said Bidding Documents for the sum of [total Bid amount in words and figures] or such other sums as may be ascertained in accordance with the Schedule of Prices attached herewith and made part of this Bid.

We undertake, if our Bid is accepted, to deliver the goods in accordance with the delivery schedule specified in the Schedule of Requirements.

If our Bid is accepted, we undertake to provide a performance security in the form, amounts, and within the times specified in the Bidding Documents.

We agree to abide by this Bid for the Bid Validity Period specified in <u>BDS</u> provision for **ITB** Clause **Error! Reference source not found.** and it shall remain binding upon us and may be accepted at any time before the expiration of that period.

Commissions or gratuities, if any, paid or to be paid by us to agents relating to this Bid, and to contract execution if we are awarded the contract, are listed below:²

Name and address of agent	Amount and Currency	Purpose of Commission or gratuity

(if none, state "None")

Until a formal Contract is prepared and executed, this Bid, together with your written acceptance thereof and your Notice of Award, shall be binding upon us.

We understand that you are not bound to accept the Lowest Calculated Bid or any Bid you may receive.

We certify/confirm that we comply with the eligibility requirements as per **ITB** Clause **Error! Reference source not found.** of the Bidding Documents.

We likewise certify/confirm that the undersigned, [for sole proprietorships, insert: as the owner and sole proprietor or authorized representative of <u>Name of Bidder</u>, has the full power and authority to participate, submit the bid, and to sign and execute the ensuing contract, on the latter's behalf for the <u>Name of Project</u> of the <u>Name of the Procuring Entity</u>] [for partnerships, corporations, cooperatives, or joint ventures, insert: is granted full power and authority by the

¹ If ADB, JICA and WB funded projects, use IFB.

² Applicable only if the Funding Source is the ADB, JICA or WB.

<u>Name of Bidder</u>, to participate, submit the bid, and to sign and execute the ensuing contract on the latter's behalf for <u>Name of Project</u> of the <u>Name of the Procuring Entity</u>].

We acknowledge that failure to sign each and every page of this Bid Form, including the attached Schedule of Prices, shall be a ground for the rejection of our bid.

Dated this _____ day of _____ 20____.

[signature]

[in the capacity of]

Duly authorized to sign Bid for and on behalf of _____